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��������	 ���� ��� ��� 	�#
��

�� 	�'�� Sr ���� ��� �	�����' *��� � ����	 '��� ���# ����� ���	' r �	' P (Sr = 0) = 1

��� r < 0? ��� ��8��	�� �� ��	'�# ������� {Sr|r ≥ 0} *��� Sr = [Sr, Sr−1, . . . , Sr−τq ]

���#� � '������� ��#� ������ ����	 @%���A� ��� ������ �� ��� %��� ��� ����	 
"

T  ������ {1, ..., n}T ? *���� n �� ��� ��6� �� ��� #�������� ����� �	' T = τq + 1� )���

���� {Sr|r ≥ 0} '��� 	�� ���# � %���? ��	�� ��� ���	�����	 ���
�
����" ���# Sr ��

Sr+1 '���	'� �	 ��� 	�#
�� �� �	�������� 	�'�� �	 ��� ����� Sr� !�	�� ���� 	�#
��

�� ����	 
" Sr −Sr−τq ? ��� ���	�����	 ���
�
����" �� 	�� �	'���	'�	� ���# ��� ������"

�� ������? ����? ��� ������ �������" �� �������'�

��� �	��"��� ���� ��� ���
�
����" p ���� � 	�'� �� �	�����' 
" � ���������� ���*��' 

�	� #������? �	' q = 1−p� ��� ���
�
����" p ��	 
� '����#�	�' 
" ��� ���
�
����" ��

����� � 	�'� �� ������ ��� � #������ �	' ��#� �
��������	� �	 ��� ��"����� �������"

�� ��� 	��*��� ���� �� ����#���' 
" �= ��	� ��#������	� �����*�	� B+,(-�D�
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&���#� ���� �	 ���	' r ��� 	�#
�� �� �	�����' 	�'�� �� i := Sr? ��� 	�#
�� ��

�	�������� 	�'�� �� k := Sr −Sr−τq ? �	' ��� 	�#
�� �� ��������
�� 	�'�� �� n− i� 7�

'�4	� � 
�	��" ��	'�# �����
�� Xl ��� ���� ��������
�� #�#
�� l? 1 ≤ l ≤ n − i�

7��� P (Xl = 0) = qk? �� �� ���" �� ��� ���� Sr+1 − Sr =
∑n−i

l=1 Xl �����*� � 
�	�#���

'�����
����	� ����? �� ���'�

P (Sr+1 = j|Sr = i, Sr − Sr−τq = k)

=

{ (
n−i
j−i

)
(1 − qk)j−iqk(n−j) j ≥ i

0 j < i

@
�/A

<��	� ,8�����	 
�/? ��� ���
�� 
���	�� �8�����	 �� ��� %��� ��� � ����� sr+1 =

[j, i0, i1, . . . , iτq−1] �	' ��
�����" ������ sr = [i0, i1, . . . , iτq ] *��� 0 ≤ iτq ≤ iτq−1 �	'

i = i0 ��	 
� *�����	 ��

P (Sr+1 = sr+1) =

iτq−1∑
iτq =0

(
n − i

j − i

)(
1 − qi−iτq

)j−i
q(i−iτq )(n−j)P (Sr = sr). @
�:A

���� �8�����	 ��	 
� ���' �� '����� ��� #����	�� '�����
����	 �� Sr? ����? � ����#

������ vr *��� vr(i) = P (Sr = i) 
"

vr(i) =

i∑
i1=0

i1∑
i2=0

· · ·
iτq−1∑
iτq =0

P (Sr = sr) @
��A

<��	� ��� #����	�� '�����
����	 �� Sr ����� ��� 4	�� ���	' r = τa? ��� �%3 �� ���

�����
����" '����� Rds ��	 
� ��#����' 
"

Fn(x) =

�nx�∑
i=1

vτa(i). @
��A

��� 	��*��� ���' Nl ��	 
� ��#����' 
"

Nl = E[Sτa ] · F · τq · E[H ], @
��-A

*���� E[Sτa ] '�	���� ��� �1�����' 	�#
�� �� �	�����' 	�'�� ����� ���	' τa �	' E[H ]

�� ��� �1�����' '����	�� 
��*��	 �*� 	�'�� �	 ����? ����#���' ���# ��� ����������� 

���� �� ��� ��"����� 	��*��� B+,(-�D�

)��� ���� ��� �	��"��� �� .%0? ����	? ��	��'��� �	�" ��� '����#�	����	 �� � ��	���

'��� ���#� ��� �#���� �� ��� �����' �� #������� '��� ���#� �	 
�=��� *��� 4	���

�������" �� 	�� ��	��'���' �	 ��� �	��"���� 3������#���? �= ��	� ��#������	 �� ��8����'

��� '����#�	�	� #�'�� ����#������
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$	 ���� �������? *� �������' ��� ��	����	����" �� �
� �"���#� ��� ��� $	���	�� �	'

���	��' ��� ���� ��� ����� �� ��� ��� �"���#� ��	������ ������" 	��*���� ���� ��	����

�� ����������	 ��"�� ��		�����	�� <��	� ��� ������� 0	������ 4�� �����	� �"���# �� �	

�1�#���? *� ����������' ���� ������" 
���' �
� �"���#� �1��
�� ������ �������#�	��

*��	 '����"�' �	 �&),� 
" ��#��" ��		�	� ���# �	 ��� �� � �&),� �����	�

��������� ��� #��	 �����	� ��� ����� �������#�	�� ��� � #��#���� �� ��� ������"

�������" �	' ��� ��"����� �������" �� ��� �&),�? �� *��� �� � ���� �����	� ���� 

���' �� ���� *��� 	�'� #�
����" �	' �	���#����	� ��		�������"� !������	 ��	�����

��� �#���#�	��	� �
� �"���#� �	 �&),� ��	 
� ��
'���'�' �	�� ��� '�#��	� ��

�
� �"���#� ���	� ����� ��"�� �	���#����	 ���	���� �	' �
� �"���#� ���	� ���'�#��

�	���#����	 '����#�	����	�

7���� �
� �"���#� 
���' �	 ����� ��"�� �	���#����	 ���	���� ��� 
�"�	' ��� �����

�� ���� ������ �	'? ����? ���� 
��	 �	�" 
���N" �������'? *� '�������' ��� ��	'�#�	 

���� �� ���'�#�� �	���#����	 '����#�	����	 �	 #��� '������ 2���' �	 � '���������	 ��

��� ��	����	����" �� ���'�#�� ��������#� �	 ��� $	���	��? *� �����' ���� ���� ���� 

����#� ��		�� 
� '������" �#���"�' �	 �&),� '�� �� �#������� �	�*��'�� �� ���

#�#
��� �� ��� �"���# �	' �	���#����	� ��		�������" �#�	� ����� #�#
���� �����

��������������� �#��" ���� ��� ��	 ��� �� ��� ���'�#�� ��������# ������" '���	'� �	

��� �����	� ��"����� �������" �� ��� �&),��

7� '�������' ��������� ��� �"���#� ���� �#���#�	� ���'�#�� �	���#����	 '����# 

�	����	 �	 �&),�� ���������� ��� '��������	? *� #�'� ��� �����*�	� �
��������	�9

3����? #��� �"���#� ��� '����	�' �� ������� �	���#����	 '����#�	����	 �	�" ��� �

�����4� ����������	� !���	'? 	�	 �� ����� �"���#� �1�������" ��	��'��� ��� ��#���'

������
����" �� #�#��" ��������� �� #�
��� '������ 
" ��#���	� ��� ��6� �� ��� 
�=���

���' ��� �����	� '��� ���#� '���	� ��� '����#�	����	 �������� ����'? 	�	 �� ��� �"� 

��#� �	���������� #����	��# �� �����'� ������	�� �� ��� '����#�	���' �	���#����	�

& '��������	 �� ���������� ��� �	��"6�	� ��� ������#�	�� �	' �����
����" �� ,$% �"� 

��#� �������#��� �������' ���� ��� ���������� ������# �	�" ���	���	� �	��"���? '�

�	�" ��	��'�� ��� '����#�	����	 �� � ��	��� '��� ���# �	 ��������	? �	' ��	��� ���

�#���� �� 4	��� 
�=��� �	 ��� �"���# ������#�	��� 3������#���? #�	" ����������

��8���� �= ��	� ��#������	 �� '����#�	� #�'�� ����#������

$	 ��� ��#��	'�� �� ���� ������ *� @�A ������� � ��	���� ������� ���'�#�� �	���#� 

���	 '����#�	����	 �"���# ���� �������� #����	��# ��� #��	���	�	� ��� ��	�����	�"

�� �	���#����	? @
A ������� � ������� ������� �"���# ��� ��##�	�����	� �����	�� �	 

���#����	 �	 #�
��� �	���	� #������	� �"���#� �	' �	��"6� ������	�� �� �	���#����	
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���' ���������	 �� ����������	 �����4� �'�	��4��� '�	���' �� ���� �� �� 

��������	 �����4� '��� ���#� '�	���' �� ���&�� �� �	� �� ��� ��	'�#�	��� ���
��#�

�	 ��� '����	 �� '�����
���' ����������	�� $	 ��� $	���	�� ��� ���� �� ��" �� �����

������� �� ������#�' 
���' ������ �	 ��� ����	�H������ �� ��� ���� �� ���� ����'��#�

���� ������� �1������ ��� ���� �� �#���#�	��	� ��" �� ����� ������� �	 �&),�� $�

�����	�� � ��	���� ������� '�����
���' ������ ������� '�	���' �� !���
�� �
�	�
�&	��

����*
�� @!�� A� 2���'�� #����	��#� ��� ��" �� ����� ������� 
���' �	 '����#�	� 

���	 �� �	'�1 �	����� ���	� � 4	��� 
�=�� �� ���� 	�'�? �%$ �	���������� #����	��#�

��� ��	�����	�" #��	��	�	��� ��� ������#�	�� �� �%$ �� '�#�	������' ��� �������

#�
��� ����������	� �	 � ��#������	 ���'" ���	� ��� 	��*��� ��#������ 	� 
� 3�	���"?

�#���#�	�����	 �	' �������" ������ �� �%$ ��� '�������'� ��� 
���� ��	���� �� �%$

��� 
��	 �	���'���' �	 �	 ������� ��
�����' �	 ��� ������'�	�� �� ��� ���� '���8

�� !����	��!��� '���&	
�� @!"! ",," A B+7-
�D� ��� �%$ ��	�����	�" #����	��#�

���� 
��	 �����	��' �� ��� ��	8 �'� �������� �� ��	� ���
����
�� ��� �
������

��� ���
�� ������ @���
�� ",,- A �	' ��� �������' ��� ���	 ����� �
��� B+7-�D� &	

�1��	'�' ������	 �� ��� ����� �������	� � ��#����� '���������	 �� ��� �%$ ��������

��� 
��	 ��
�����' �	 � ������� ����� �� ��� �'� ��%�(9�$� ���
�� '���&	
��

��� '���&�
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�� #��
�
 @�'2#A �	 #�
��� '��� #�	���#�	� B+7-��D� !�#�

������� �� �#���"�	� �%$ ��� '����#�	���	� �����	�� �	���#����	 �	 � #�
��� �	 

���	� #������	� �"���# ���� 
��	 '�������' �	 � ��
�������	 �� ��� :;8 %� < �)%
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��� ��#����	� '������ ���� �� �����	�� %������ &������	�� @�%&�A? #�
��� ���	��?

�������? �	' �#
�''�' ��	��	� '������ ��� �"������" #�	���' ���	� ������� '�������"

��������� ���� �� ��� !������ +������	 �������� B0�5%��D� ��	" '�����
���' ����� 

�����	� ��		�	� �	 #�
��� '������ ��8���� � #��� ��	���� ���������	 �� ����������	 

�����4� ��"� �� ����������	 �����4� ������ ���	 M��� ������� '�������"? � ��	����	����"

�����'�' 
" � ����&� ����
��� $	 � �������� #�
��� 	��*���? ������� '�������" �	'

������ �������� ��	 
� �#���#�	��' ���	� � ��	�����6�' �	'�1 ������' �� � *��� 

�	�*	 	��*��� �''����� $	 �&),�? ��� ���� �� � 41�' �	������������? �� *��� ��

�	���#����	� ��		�������" '�� �� 	�'� #�
����" ��#���� ��� �#���"#�	� �� � ��	 

�����6�' �	'�1 ��� ������� �������	 �	' ������ ���������

2���'�	� �;���	� ������ �������� ��� ��� $	���	�� ��	�������� �	 ������ ���� ��

��������� .���	� ������ ��	��	����� �	 
���'�	� $	���	�� ����� '�����
���' ���� �� 


��� �� 
���'�	� 
���� �� �
� �"���#� �� '�����
�' �	 !�����	 
��? ����? B.3(+-�D?

B!�C+-�D� ������? 0���	����	? ��	�6? 2����'���	? C��#�	�? �	' ����'������ ��� 

����' ��� 5$& ��������? *���� �	�
��� �������	 �� ����������	 '��� ������ #�������

������� '�������" '�#��	�? ���	� � ���� ����	�6�	� ��������" B�0�+-�D� !�	 �	'

0����� ����	� ����	��" �	���'���' � ������� ������ �������? �1������	� ��� ���� ����

��� #�	" ����������	� �� �� ��;���	� �� ������� � ��" �� � ��
��� �� ��� #�����	� ������

B!0�-�D� ��� ����� '�������� ������� '����	 �����	������ ��� � ������� ������ �������

�	 ��� $	���	��� (�*����? 	�	� �� ����� ������ ��	��'�� '�����
���' ������ ��������

��� �&),�� $	 ��� ��#��	'�� �� ���� ������	? *� ���#���" ������" ��� ��	����	����"

�����'�' 
" � ��	���� ������� ������ ��������

&'����	� ��� ���#�	����" �	���'���' �	 B!0�-�D? � ��	���� ������� ������ ��� 

���� #��	���	� ��� ��� S = {(k,V(k))}? *���� k '�	���� � ��" �	' V(k) '�	���� �

��&��
�%� �1� place(k, {v1, . . . , vh})

 k = k′ ��� ��#� (k′,V(k′)) ∈ S �%
�

V(k′) ← V(k′) ∪ {v1, . . . , vh}

��


S ← S ∪ (k, {v1, . . . , vh})
��&��
�%� �1� lookup(k)


 k = k′ ��� ��#� (k′,V(k′)) ∈ S �%
�

�����	 V ⊂ V(k)


��


�����	 ∅
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��� �� ������ #�����' 
" ��" k� ��� ��� S �� '�	���' �� 
���* ���� �� �#���#�	��'

�	 � '�����
���' ������	� ��� ���� (k, v) �� � ��" k �	' � #�����	� ����� v ∈ V(k) ��

'�	���' �� 
���* ��	��� )��� ���� �	 ��	���� ����� �1���� � �����	������ ��	��
��


��*��	 ��"� �	' ������� ���� ��? � ��" k #�" #���� #������� ������? ����? ��� ���

���'�	����" �� ��� ��� V(k) ���'� |V(k)| ≥ 1? �	' � ����� #���� 
� #�����' 
" #�� 

����� ��"� k? l? ���� ��? �� #�" ���' V(k)∩V(l) �= ∅ ��� ��"� k �= l� & ��	���� �������

������ ������� �����' ������� ��� 
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(a) The mobile phone broadcasts a QUERY message for key k, 
which matches value v based in the local index of the notebook.  
 

(k1,v1)

...

...

...

...

...

...

...

(k,v)...

...

...

...

Query(k)Query(k)

 

(b) The notebook broadcasts a RESPONSE message for (k,v). 
All devices located in the transmission range receive the 
message and store (k,v) in their index caches. 
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...

(k,v)
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(k,v)

...

(k,v)

...

(k,v)

Response(k,v)Response(k,v)

(k,v)

 
(c) After changing its position, the second mobile phone receives a 

QUERY message for key k broadcasted by the PDA. 
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...
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(k,v)...

(k,v)

...
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(k,v)
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(k,v)

Query(k)Query(k)

 

(d) The second mobile phone generates a RESPONSE message 
for (k,v) from the index cache on behalf of the notebook. 
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(k,v)
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(k,v)

Response(k,v)Response(k,v)
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(a)  The mobile phone sends a QUERY message 
for key k and TTLquery > 0. 
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(b)  The notebook relays the QUERY 
message. 
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(c) The notebook generates a 
RESPONSE message for (k,v1) from 
the index cache. 
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(d) The second mobile phone generates a RESPONSE message for 

(k,v1,v2) from the index cache. 
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(e) The notebook selectively forwards the (unknown) 
information (k,v2). 
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(a) The notebook withdraws (k,v) from the local index and 
broadcasts an INVALIDATION message for value v. 
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(b) The mobile phone relays the INVALIDATION message and 
stores value v in the lazy invalidation cache. 
 

(k1,v1)

...

(k1,v1)

...

(k1,v1)

...

...

(k,v)

...

(k,v)

... ...

...

...

...

...

...

...

Invalidate(v)

v

...

 
(c) After changing its position, the mobile phone receives a 

RESPONSE message for the stale value v broadcasted by the 
PDA. 
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(d) The mobile phone sends an INVALIDATION message from 
the lazy invalidation cache on behalf of the notebook. The 
PDA invalidates (k,v). 
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" ��� ���� ��� ��#���'

���# ��� �"���#? �	' ��� ��������	'�	� ������ �1�����

3�� '�4	�	� ��� *������' ��	����	� ��� �
� 4�� �����	�? *� ����#� ���� 
��� K
�	' V ��� 4	��� �	 �	 �
��������	 �����' �� 4	��� ��	��� T � ��	�����	� *��� !�����	


�
? *� ����#� ���� ��� 8���" ��	����	 wP2P
query ��� � �
� 4�� �����	� �"���# ��	 
�

�����1�#���' 
" � R��� ���� '�����
����	 *��� ����#����� α� ����? ��� 8���" ��	����	

��� �
� 4�� �����	� wP2P
query �� ����	 
"9

wP2P
query(k) =

1∑
j∈K j−α

k−α @���A

3�� ��� '�4	����	 �� ��� ��������	 ��	����	? *� ��� ��� �
��������	 ���# BO0�-�D

���� ��� ���
�
����" ���� � 8���" k #������ � ����� v ��	 
� #�'���' 
" �	 �1�� 

	�	���� '�����
����	 �	 �	 ���	)������ �
� 4�� �����	� �"���#� ����? ��� ��������	



'�'� ,��#���� ������ ��� ������ �%%��
������ D6

��	����	 ��� �
� 4�� �����	� wP2P
select �� ����	 
"9

wP2P
select(k, v) = βe−βk @��
A

)��� ���� �����*�	� BO0�-�D? ��� ��������	 ��	����	 �� �	'���	'�	� �� ��� ����� v�

3�� '�4	�	� ��� ����� ��	����	? *� ����#� ���� ��� �	������� 
��*��	 �*� ��� 

������� 8������ 
" � 	�'� ��� �1��	�	���� '�����
���' *��� ����#���� λ� ����? ���

t > 0 ��� ����� ��	����	 ��� �
� 4�� �����	� wP2P
pause �� ����	 
"9

wP2P
pause(t) = λe−λt @���A

3�� '�4	����	 �� ��� �1�������	 ��	����	? *� ����#� ���� ���� ����� �1����� �1 

����" �	�� �	 �	 �
��������	 �����' �� ��	��� T � ����? ��� 0 ≤ t ≤ T ��� �1�������	

��	����	 ��� �
� 4�� �����	� wP2P
expire �� ����	 
"9

wP2P
expire(t) =

1

T
@���A

3�� ��� ��#� �
��������	 �����' T �� ���' ��� ��� '�4	����	 �� ��� �1�������	

��	����	? *� ����#� ���� �	 ������� dNm #�
��� 	�'�� '����� ���# ��� �"���# *���

0 ≤ d ≤ 1� !�
��8��	��"? *� ����#� ���� ��� ������� ��	����	 wP2P
arrival �� ����	 
" �	

�1��	�	���� '�����
����	 *��� ����#���� dNm

T
� ���	? ��� 	�#
�� �� �������� �	 ���

�
��������	 �����' T �� ������	 '�����
���' *��� ����#���� T dNm

T
= dNm �	' #��	

dNm? #�����	� ��� ����#����	� ���� �� ��� 0 ≤ t ≤ T ��� ������� ��	����	 ��� �
�

4�� �����	� wP2P
arrival �� ����	 
"9

wP2P
arrival(t) =

dNm

T
e
−
dNm

T
t

@���A

&�� *������' ����#����� ��� ��� �
� ����������	 ��� ���*	 �	 ��
�� ���

��������� '�
��

NM �� � ���

NF �

K ���

V 16 · Nm

α ��(

β �)���

λ �)���

d ��*

#�'�� $�	� (������� ���������� ��� ��� ��� �����������
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����� -
���� ������� -����#��#

$	���	� #������	� ��� ��	� 
��	 �	� �� ��� $	���	��P� �����" ������� ��	��#�� �� 

��������	�? ���	�� �� ��� ��#
�	����	 �� ���� ��#� ��##�	������	? ��� �
����" �� �	�*

�	 �'��	�� �� ������ ��� ������
�� �� ����? �	' ��� ���� �� ���� & 
���� �	���	� #�� 

����	� @$�A �"���# ��	����� �� ����� ��#��	�	��9 @�A �	 �����	�������	 ������? *����

'����#�	�� �� ����	�� ��"�	� �� �	��� ��� �"���# ��� ���#����' �� '� ��? @
A � �����	��

������? *���� �'�	��4�� *���� ��	����� ��� ������
�� ��� #������	�? �	' @�A � #������

������? *���� ��	'��� ��� ��##�	������	 �������� �����	�� ����	����" ��	�������� �	

�	������ ���� �� �	 $� �"���#? ��	�� �� ���� ����� '����#�	� �� ����� ��	����� ��� �	��	�?

���	�' �	�� ��� $� ����������	�? �	' ���'" �� ��##�	������ �����	�� ����	����" ��

���' �	 � 	�#
�� �� ����������	� ����� ���	 ��������� $� �"���#�? ����? �	 	�#�����

��#����� ��������' ����������� *��� ����������	�� $	 ����? ��� 
--� ������� �� �� 

�������P� �;�� ��	�������� �	� �� ��� #��� ���#�	�	� �1�#���� �� � �����	�� �	�
��'

����������	� )��� ���� �� �� �����
�� �� ��8���� �����	�� �	���#����	 �	 '�#�	' �	

� �������� ������	� (�*����? ��� ����� �� ��� ��� $� �"���#� '�����" �����	�� �	��� 

#����	 ����������"� ��� �������� '����	 ��� '����#�	���	� �����	�� �	���#����	 �	

��� $	���	�� ��� 
��	 #�����' �	' ����	�6����	� ���� �� ��� $,�3 �	' ��� G�

��

����*��� ���	'����	 ���� '�������' ��� �������� ��������� !$��+, B%.!--D �	'

I��� B!&-�
D? B!&-��D� (�*����? '�� �� ��� ���� �� 41�' �	������������? '"	�#��

	��*��� �������"? �	' �	���#����	� ��		�������" ��� '����#�	����	 �� �����	�� �	��� 

#����	 �	 �&),� ����� � ������	��	� �������� ���
��#� $	 ���� ������	 *� �����#�6�

��� ��	���� ������� �%$ �"���# �� '����#�	��� �����	�� �	���#����	 �	 � #�
��� $�

�"���#� & �"���# ���� �� �������' �� ��� '����#�	����	 �� �����	�� �	���#����	 ��

�����	��' �	 ������� ��

�%$ ��	 
� �=�������" �#���"�' �� '����#�	��� �����	�� �	���#����	 �	 � #�
���

$� �"���#T �''����	�� �������� �� $� �"���#� ���� �� #������ 
���' ��##�	������	

#�" 
� �#���#�	��' ���	�? ����? � ���	'��' �&),� �����	� ��������� )��� ���� ���	

�� � ��	���� ����'�� �	 �	����� 	��*��� ��������	 �	' ��##�	������	 ��� �&),�

�����	� �� 	�� �����
��? �� �� ����� 
�	�4���� �� �	�* ��� �����	� �����	�� ����� ��	��

�� #�" 
� ������
�� ��� ��##�	������	 ���	� �	 �����	����� 	��*��� ����	����"? ����?

� �������� '��� ��		�����	� $	 � #�
��� $� �"���# 
���' �	 �%$? ���� #�
��� ����

��	���
���� ��� �����	� �����	�� ����� �� ��� �"���# �� �	�" �����? *���� �� #�����'


" � ��" ����	 
" ��� ����� $� �'�	��4��� ��� $� �'�	��4�� �� � �	�8�� ��" ����

�� �����	�' �� � ���� *��	 ���������	� �� ��� $� �"���#� ����? *� ���� � �	� 

�� �	� #�����	� 
��*��	 ��"� �	' ������� <��	� �%$ �	 � #�
��� $� �
������"

��8����� �	����'����	 #����	��#�? ��	�� � ���� �������	���" ���	��� ��� �����	�� �����

�� '������ ���# ��� �"���#� ���� ��? ��� ����� ��	���
���' 
" ��� ���� �1����� �	' ��



'�'� ,��#���� ������ ��� ������ �%%��
������ DH

�������' 
" � 	�* ������ )��� ���� *��� ���� ��#�	��� �� ��"� �	' ������? 8������ ���

� ���� *��� ��* ��	����� *��� �����" ����� �	' ��� ����� ��� ���� ���� *��� 
� ��*� ����?

�	 �	 $� ����������	 ��� ������ �����	�� ������� �����' 
� �	�
��' �� '����#�	���

��� �����	�� ����� �� ���� ������

7� '�4	� � ��#��� #�'�� �� ��� *������' ��	�����' 
" � #�
��� $� ����������	

���� ���� �� ��;���	� �� �������� ��� ������#�	�� �� �%$ *��� ��� $� ����������	�

& #��� ������������' #�'�� �� �	 $� *������' �� ���' �	 ������� �� 7� '�4	� K =

{1, . . . , Nm}? ����? ��� ����P� $� �'�	��4��� ��� ����	 
" 	������ 	�#
��� ���� �����'�

��� ��"�� 3������#���? '�4	� V = {(u, s)} *��� 1 ≤ u ≤ NM �	' S = 1, 2, . . . �

7��	 ���� u ���	��� ��� �����	� �����	�� �����? �� ��	'� �	 ������������ #������

��� (u, s) �	' ��
��8��	��" ��	���
���� (u, s+1) �� ��� �"���#� 7� ����#� ���� ����

#�
��� ���� #��	���	� � ���� �� ��� �������� ��	������ ,��� ���� u �� �	 ��� ��	����

���� �� ���� ����� ���� *��� ���
�
����" Cu−1? *���� C �� � ��	���	�� $���? ��� ������

��	����� ��� '�����
�' 
" � R��� '�����
����	 BR����D� &	 $� ����	� �����'�����" �����

��� �����	�� ����� �� ���� ��	���� �	 � ����P� ��	���� ���� �	' '�����"� ��� �����	�

�����	�� ����� �� � ����� &���#� ���� ��� ��	���� ���� �� ���� n �� ����	 
" ���

������ c? *���� ��� '�#�	���	 �� c �� ��� ��	��� l(n) �� ��� ��	���� ���� �	' c(i) ���

0 ≤ i < l(n) �� ��� i �� ���� �	 ��� ��	���� ����� 2���' �	 ���� #�'��? ��� 8���"

��	����	 wIM
query ��� ��� 8���" q ��	' 
" ���� n �� ����	 
"9

wIM
query(k) =

{
1, k = c (q mod l(n))

0, else
@��/A

.����� ���� ���� ���� ��	���
���� ��� �����	�� ����� �� �	�" �����? *���� ��

#�����' 
" ��� ����P� $� �'�	��4��� ����? *� ���� � �	� �� �	� #�����	� 
��*��	

��"� �	' ������ �	' ��� ��������	 ��	����	 �� �������� 0���	 ���� ���� ��	���� �� �����'

�	�� *����	 � �����' Tp? ��� t > 0 ��� ����� ��	����	 wIM
pause �� ��� $� ����������	 ��

����	 
"9

wIM
pause(t) =

{
1, t = Tp

l(n)

0, else
@��:A

��������� '�
��

NM �� � ���

NF �

K Nm

V Nm

γ ��(

d ��*

#�'�� $��� (������� ���������� ��� ��� %� �����������



EI '� )%�����
 $������������ �� ����+ �����������

3�� ��� �1�������	 ��	����	? *� ����#� ���� ����� ���	�� �����	�� ����� �	 �1 

��	�	�����" '�����
���' �	������� *��� ����#���� γ� ����? ��� t > 0 ��� �1�������	

��	����	 wIM
expire ��� � #�
��� $� ����������	 �� ����	 
"9

wIM
expire(t) = γe−γt @���A

3������#���? ��� ��� ������� ��	����	 *� ����#� �1��	�	�����" '�����
���' ��������

��#���� �� ��� �
� 4�� �����	� ����������	� ����? ��� ������� ��	����	 wIM
arrival �� ����	


"9

wIM
arrival(t) =

dNm

T
e
−
dNm

T
t

@���A

&�� *������' ����#����� ��� ��� $� ����������	 ��� ���*	 �	 ��
�� ��
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��� '������ ��� ���8��	��" ���' �� �����'� ����� �''�' ��������? ���� �� ������

�� ���
�� 
������	
�� ���	��� @�!�A� &� �	 �1�#���? � ������	� #��� #���� �	�
��

�����#��� �� ������ ����� 
���' �	 8������ ��� ������	 ���'���� ���	� ����� #�
���

���	�� �� �%&�� $	 ���� ����������	? '��� �� �����'�' 
" ��#� 41�' �	��������	�

*��� ���� ������� �������" �	' ����� ��'�� �������� '�� �� @��������"A �	��#���'

�	���" ���������� $	 ��	����? � '�=���	� ��	������# �� ����� ������� ���� �	��������	�

����? ��� �	��������	� �����'� � '�=���	� '��� ��� �� ��� �"���#� $	 ��	����� �� ���

�	��������	�? #�
��� 	�'�� ��� �	�" �� ����	�� �	' '� 	�� �����'� �	" '��� �� ���

�"���#� �%$ ��	 �=�������" �#���#�	� ���� � #�
��� �	���#����	 ������� $	 ����

����������	? ��"� ��� ����	 
" ���'��� 	�#�� �� '���������� ��"*��'� *���� ������

��� ����	 
" 	�#�� �	' �������	� �� ������ )��� ���� �� �	 �
� 4�� �����	�? ����� �� �

#�	" �� #�	" #�����	� 
��*��	 ��"� �	' ������� <��	� �%$ �� �#���#�	� � #�
���

�	���#����	 ������ '��� 	�� ��8���� �	����'����	 #����	��#�? ��	�� ��� ������#�	� ��

� ���� ���	��� �	 �	������� #��� ��	��� ���	 ��� '������	 �� � ����� �� � ������	� #���

�	' #�
��� 	�'�� '� 	�� �����" '���? ���� ��? 	�'� '��������� '� 	�� �=��� �	'�1

��	�����	�"� $	����'? �%$ ����� ��� ���
��# ���� �����#��� �	�" ����� ��* 8������

'���	� � �����? ��#���	� ��� ���'�#�� '����#�	����	 �� �	���#����	� �� ���� *��� ����

���
��#? ��� �	��������	� #�" ��� ��� ������ �����	�� �������� )��� ���� ���	 �� ���

��'�� �������� �� ��� �	��������	� '��� 	�� ����� ��� ��#����� ���� �� ��� ������	�

#���? ��� �	���#����	 ������ �� ������
�� �	 #��� ������ '�� �� ��� �����
������	 ��

��� #�
��� 	�'���

�� '�4	� ��� *������' ��	����	� ��� ��� #�
��� �	���#����	 ������? ��	��'�� �

������	� #��� *��� V �����? ���� ���� �����'�	� �	 ������#�	� �� aNp ���'����?



'�'� ,��#���� ������ ��� ������ �%%��
������ E+

0 ≤ a ≤ 1? ��� �� � ��� �� Np ���'����� $	 ��	����? � ���'��� #�" 
� �	 ��� ������#�	�

�� #��� ���	 �	� ����� &���	? *� ����#� ��#� �������" �	 ��� ���'���� ��������' 
"

��� �����? ����? ��� 8���" ��	����	 wIP
query ��� ��� #�
��� �	���#����	 ������ �� ����	


" � R��� ���� '�����
����	 *��� ����#���� β9

wIP
query(k) =

1∑
j∈K j−α

k−α @���-A

3������#���? *� ����#� ���� ���� ���'��� �� �8����" �����" �� 
� �	 ��� ������ 

#�	� �� �	" ����� ����? ��� ��������	 ��	����	 ��� ��� #�
��� �	���#����	 ������

wIP
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�� ���#����" '����#�	�' 
" ��������� ���*��'�	�� �� ���������� ��� �#���� �� ���������

���*��'�	� �� ������ �	'�1 ����� ��6��? *� �	��������� ��� ������#�	�� �� '�=���	�

���*��'�	� �����	� ��� �	 �	'�1 ����� ��6� �� 
-�� �	'�1 �	����� �	' �	 �	������	�

	�#
�� �� ��	���
���' ������ �	 3����� ����� 7� 4	' ���� �����	� TTLquery = 2

�#������ ��� ���� 
" �-L? *���� �����	� TTLquery ≥ 4 �#������ ��� ���� 
" ���� ���	

�L ��#����' �� TTLquery = 2� 7� ��	���'� ���# 3������ ���- �	' ���� ���� �����

�	'�1 ������ �����' 
� �����'�' �	' ��������� ���*��'�	� �	�
��' �� ��	'�� �����

	�#
��� �� �������

$	 �	 �1����#�	� 	�� ���*	 ����? *� ���	' ���� ��� ��� �
� ����������	 �%$ ��

��#��� �	��	������ �� ��� ����� ����#���� �� ��� #�����	� ��	����	 λ? *���� '���� 

#�	�� ��� '�����
����	 �� ��� 	�#
�� �� ������ #�����' 
" � ��"� &� ��� �����	� 
���'

#����	��#�? �%$ ������#�	�� '���	'� �	 �������" �	 ��� 8���" �����#� .����� ����



F, '� )%�����
 $������������ �� ����+ �����������

 0

 0.2

 0.4

 0.6

 0.8

 1

 0  0.5  1  1.5  2

H
it

 R
at

e

Zipf Parameter

2048 Index Entries
512 Index Entries
128 Index Entries
32 Index Entries

������ $�	�� .����� ��� �������� ��� ��-����� ����0 ����� ��/��

��� ��� �
� ����������	 ��� ��������	 ��	����	 �� ����	 
" � R��� ���� '�����
����	 *���

����� ����#���� β� 3�� 0 < β ≤ 0.5? ��� �������" �	 ��� 8���" �����# �� ��*? *������

β > 1 �	'������ ���� �������"� ��� ��� ���� �� � ��	����	 �� ��� ����� ����#���� β ��

���*	 �	 3������ ���
 �	' ���� ��� '�=���	� �	'�1 ����� ��6�� �	' ���*��'�	� �����	�?

�����������"� 3����� ���
 ������� ���� �%$ �� �1���#��" ��	������ �� ��� �������" �	 ���

8���" �����# ��� �#��� ��6�� �� ��� �	'�1 ����� @����? �
 �	' �
� �	'�1 ����� �	�����A�

3�� ����� ����� ��6�� @����? ��
 �	' 
-�� �	�����A? �%$ ��	 ������� � ��� ���� �� #���

���	 -�:� '������ �� ��� �������"� 3����� ���� ���*� ���� �%$ �� #��� ��	������ �� ���

8���" �������" �� ��������� ���*��'�	� �� '���
��'� 7��� TTLquery ≥ 2? ��*����? �%$

��	 ��#
�	� ������� ���# ������� �	'�1 ������ �	' �=�������" ���� *��� ��* �������"�

7� ��	���'� ���# 3������ ���
 �	' ���� ���� ��;���	� �	'�1 ����� ��6� �����' 
�

�����'�' �	' 
 ��� ���*��'�	� �	�
��' �� ��� ����������	 ���	� �%$ �����'�� � ��*

'����� �������" �	 ��� 8���" �����#�

����� ��� �����
���
�3 ����
� 
� &
�������
� -�
%������

$	 ���� ������	? *� '����#�	� ��� �#���� �� ����� ��#����� �	' ��6" �	����'����	

������ �	 ��� ������#�	�� �� �%$ ��� ��� �
� ����������	� ����? ������' �� !�� 

���	 ����
 �	' �����? *� ���� �� ��	��'�� '���#�	� #�'�4�����	� �����'�	� �� ���

�1�������	 ��	����	 �� *��� �� 	�'� �������� �	' '���������� 7� ����#� ���� �	 �

'��������? � 	�'� '��� 	�� �	����'��� ��� ������ �� ��� �������' �� ��� �"���#? *����

��	�������� � *���� ���� ����#����	�

$	 � 4��� �1����#�	�? *� �	��������� ��� ������	�� �� ��� �	'�1 ������ #��	���	�'


" �%$ *��� �	' *������ ��� �	����'����	 #����	��#� �����	��' �	 !�����	 �� �����
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������#�	�� ������ ��� ���*	 �	 3������ ���� �	' ����� 3����� ���� ����� ��� ����� ��

� ��	����	 �� ��� 	�#
�� �� 	�'�� ��� '�=���	� ��6�� �� ��� �	'�1 ������ ��	�����	�

*��� 3������ ��� �	' ��� ��� ������� ������ ���� ��� ���� �	������� *��� � ���*�	�

	�#
�� �� 	�'�� 
������ �	 �	������	� 	�#
�� �� 	�'�� �	������ ��� '����#�	����	

�� �	���#����	� 3������#���? ��� �	������ ���*� '�*	 *��� �	 �	������	� 	�#
�� ��

	�'�� 
������ ��� ����� 	�#
�� �� ������ �	 ��� ������� �"���# �	�������� $	 �����

�����? ��� ��� ���� �� ������" ��#���' 
" ��� ������� �	'�1 ����� ��6�� )��� ���� �	 

������	� ��� �	'�1 ����� ��6� ���# ��
 �� 
-�� �	�����? ����? 
" ������ �? �	�" �	�������

��� ��� ���� �
��� �-L ��� �"���#� ��#�����	� #�	" 	�'���

��� ����� ��� ����� �� � ��	����	 �� ��� 	�#
�� �� 	�'�� �� ������' �	 3�����

����� 7� 4	' ���� *������ �	����'����	 ��� ����� ��� ���� �� �� #��� -��� 3�� �#�����

�	'�1 ����� ��6��? ��� ��� ����� ��� ���� '�������� *��� ��� 	�#
�� �� 	�'��� G��	��"
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��	��'���	� 3������ ���� �	' ���� ������� ���� ��� �	������	� 	�#
�� �� 	�'�� ���

����� ��� ���� '���� ����'�" �� ��� ���	� *���� ��� ���*�� �� ��� ��� ���� ���*� '�*	�

+����	� ������ �� ��� �	'�1 ������ �	 ����� ���	�����? *� 4	' ���� ��� ����� ��	��	�

�� �����" �����
��� ���������? ����� �	'�1 �	����� ��� ��#���' ���# ��� ������ ����"�

7� ��	���'� ���# 3����� ���� ���� ����� ������ "���' � ���� �#��	� �� ����� ����

*��	 	� �	����'����	 #����	��# �� ���'� $	 ��	�����? �#��� �	'�1 ������ 	�������"

��'��� ����� ����? *���� ���" ���� �� �����'� ���� ��� ������ ���� ���'�	��" �����������

��� 	��' ��� �	����'����	 #����	��#� �	 ��'�� �� ������� 
��� ���� ��� ����� �	' ��*

����� ��� ������

3�� ��� �����*�	� �1����#�	�? *� 41 ��� 	�#
�� �� 	�'�� �� N = 80 	�'��

�	' �	��������� ��� ������#�	�� �� �%$ *��� �	�
��' ����� ��#����� �� �#������

�	����'����	 #����	��#� 3����� ���/ ����� ��� ��� ����� ������ ��� ��#���� '������	

��� '�=���	� �	'�1 ����� ��6��� &� ����� ��#����� �	����'��� 
��� ����� �	' �� �� 

'��� �	'�1 �	�����? ��� ��� ���� �	������� *��� �	 �	������	� ��#���� '������	? ��	��

�	����'����	� ����� ���� ���8��	��"� <	�����	����"? �� 3����� ���: �������? ��� �����

��� ���� ���� �	�������� (�*����? ��#����	� 3������ ���/ �	' ���: ����������� ���� ���

����� ��� ���� ���*� ��#��� ��	��� *��� �	 �	������	� ��#���� '������	 *���� ��� ���

���� ���*� �	 � ��� ���� ������	� 2���' �	 ���� �
��������	? *� ������ � ��* ��#����

'������	 �	 ��'�� �� ��#�� ��� '������� �	 ��� ����� 3�� �1�#���? ����	 �	 �	'�1 �����

*��� 
-�� �	�����? � ��#���� �� �--- ����	'� '�������� ��� ��� ���� 
" �
��� -�-:?

*���� ��� ����� ��� ���� �� '�������' ���# -�� �� -���� ���� �� �
��� :�L �#�����#�	�

��#����' �� ��� ��������	'�	� ���	���� *������ �	����'����	 �� ���*	 �	 3������ ����

�	' ����? �����������"� )��� ���� ��� ����#�� ��#���� '������	 ������" '���	'� �	

��� ���� �� �	���#����	 #�'�4�����	 �� *��� �� �	 ��� ������� �	' '�������� �����
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��� 	�'��� ����? � ��#���� �� 1000s #�" 	�� 
� ��� 
��� ������ ��� ��� ����������	

���	������ �� ���	 ������� �	��'� �	�� ��� 
������� �� ����� ��#�����? 3����� ���� �����

��� ������	�� �;���	�" ������ ��� ��#���� '������	� 7� 4	' ���� ��� ������	��

�;���	�" ����'�" '���� *��� �	������	� ��#���� '������	 '�� �� #��� �	���8��	��"

�������	� �	����'����	�� !�������	��"? *� 4	' ���� ����� ��#����� ��� ���� �;���	� ���

�#��� ����� ��6�� ���	 ��� ����� �	��� &���	? ���� �� � ��	4�#����	 ���� �#��� ������

	�������" ��'��� ���� ��� ����� �	'�1 �	����� 
" ���8��	� �������#�	��? �����	� �� ���

���# ��� �#�����#�	�� 
" � ��#���� 
���' �	����'����	 #����	��#� 7� ��	���'�

���# 3������ ���/ �� ���� ���� ����� ��#����� �����'� �	 �;���	� #����	��# ���

�#���#�	��	� �#������ �	����'����	? ���������" ��� ����� �	'�1 �������

$	 ��� �����*�	� �1����#�	�? *� �	��������� ��� ������#�	�� �� ��6" �	����'����	

������ �� �1������ �	����'����	 #����	��#�� &� �
���? ��� 	�#
�� �� 	�'�� �� ����
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��������

41�' �� �- 	�'��� 3����� ���� ����� ��� ������	�� �;���	�" �������' 
" ���� �����'� 

��� N��'�	� �� �	����'����	 #������� *������ ���	� �	����'����	 ������ ������ �� ��	�

��#�? ����? ��� �	������ 
��*��	 �*� ���������� ���	�#�����	� �� �	 �	����'����	 #�� 

����� ��	4�#�	� ��� ����# ���# !�����	 ��
��? *� 4	' ���� �	'���	'�	� �� ��� �� ��	�

��#� ��� ������	�� �;���	�" �� 
���* -�� �����'���� �� ��� �	'�1 ����� ��6�� )���

���� '�� �� *��� ��		�������"? N��'�	� �� �	����'����	 #������� ��		�� ���#�	���

��� ����� �	'�1 �	������ !�
��8��	��"? ��� ���'�#�� '����#�	����	 �� ��#��	�	� �	'�1

�	����� ���'� �� � ��'�����
����	 �� ����� ������� ����? �� ����������' 
" 3����� ����?

�����'�� N��'�	� �� �	����'����	 #������� ����� �� �#���#�	� �1������ �	����'����	��

)�1�? *� �	��������� ��� ������#�	�� �� ��� ���'�#�� '����#�	����	 �� �	����'� 

���	 #������� ���	� �	����'����	 ������� $	 ������� �1����#�	�� 	�� ���*	 ����? *�
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������ $��5� %����������� ������6 ������ ��� ����0 ����� ��/�

�	���������' ��� ��	�������" �� ��� ������#�	�� #������� �� ��� TTLinv� 7� ���	'

���� ������#�	�� '��� 	�� ���	�4��	��" �	������ ��� TTLinv > 2 ����� ����? *� ���

TTLinv = 2 ���� �	 ��� ��
��8��	� �1����#�	��� 3����� ��
- ����������� ���� ��6"

�	����'����	 ������ �����'���� �� ����� ��6� '� 	�� �=��� ��� ��� ����? ��	�� ������'

�� ����� ��#����� �1������ �	����'����	 #������� �	�" �	����'��� ����� �	'�1 �	������

(�*����? ��6" �	����'����	 ������ ���	�4��	��" ��'��� ��� ����� ��� ����? ���������"

��� ����� �	'�1 ����� ��6��? �� ���*	 �	 3����� ��
�� 7� 4	' ���� ��� ����� ������ ���

����� ��� ���� �� ��'���' 
" #��� ���	 �-L ��#����' �� 3����� ����� )��� ���� �� ���

�	����'����	 ����� ��6� �	������� 
�"�	' 
-L �� ��� �	'�1 ����� ��6�? 	� ���	�4��	�

������� ��'�����	 �� ��� ����� ��� ���� ��	 
� �������'� 3�� ��������� ����������	�?

���� #��	� ���� ��� �	����'����	 ������ ��	 
� �#��� ��#����' �� ��� �	'�1 �������

���� �
��������	 �� ��	4�#�' 
" ��� ������� ��� ��� ������	�� �;���	�" ���*	 �	

3����� ��

� ������' �� ��� ������	�� �;���	�" �� ����� ��#�����? ��� ������	��
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disturb, away}� 2���'�� ��� �*	 �����	�� �����? � #�
��� 	�'� n ������ �	���#����	

�
��� ��� �����	�� ������ Rn,k(t) �� ��� ����� 	�'�� k? k �= n� �����	�� ������ Rn,k(t)

���� ������ �	 S ∪ {undefined}? *���� undefined '�	���� ���� ��� �����	�� �����

�� '����� k �� �	�	�*	 �� '����� n� �	� ��	 ���	� �� Rn,k(t) �� � ����� ��� �����	�

��#��� �	���#����	 ���� ��	 
� ���' 
" ��� ��##�	������	 ��������� )��� ���� ��

�	 �	���	�� �� ��#� t �� #�" ���' Rn,k(t) �= Sk(t)� �����	� �� ��������? �� �	" �	���	�

�� ��#� t? � #�
��� 	�'� n ��	 
� ��#������" '�����
�' 
" � ��� �� ��	'�# �����
���9

(Sn(t), Rn,1(t), Rn,2(t), . . . , Rn,n−1(t), Rn,n+1(t), . . . , Rn,N(t)) @��
A

!���� ���	��� �	 ��� �"���# #�'�� ��� ��������' 
" �	� �� ��� �����*�	� �����

�"��� �� ���	��9

!������� �	�	� ������9 & #�
��� 	�'� ���	��� ��� �����	�� ����� ����� ��#� '*���

��#� ��� ������'� & ����� ���	�� ���	� ���� ������ ��� 	�'� k �� �	 �	���	�� �� ��#�

t ���	��� ��� ����� �� ��� �"���# 
" ���	��	� Sk(t)� &''����	���"? �� #�" ������� �	�

�� #��� ��##�	������	 ���	�� ���� ��� '�����
�' 
���*�

������� )
��� 9 ��� �����	�� ��##�	������	 �������� �� �	 $� �"���# #�" ��� 

���# �����'�� ��##�	������	 ����� ��������' 
" ��#������ %���	'�	� �	 ��� ��# 

#�	������	 �����? ������� ��#����� *��� '�=���	� ����#����� #�" 
� ������ ��	��� 

��	��"� $	 ��	����? ��� �������	�� �� � ��#���� '��� 	�� ���	�� ��� ����� �� ��� �"���#

'������"? 
�� �������� �	� �� #��� ��##�	������	 ���	���
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 $������������ �� ������
� �����������

'���&�
��	
��9 ,��� ��##�	������	 ��������	 ���' 
" ��� $� �"���# �� '� 

��#����' �	�� �	� �� #��� ��##�	������	 ���	��? �����'���� �� �� �� �	� �� �	� ��

�	� �� #�	" ��##�	������	� & ��##�	������	 ���	� ��	�������� ��� �	���#����	

�1���	�� 
��*��	 �*� 	�'��� & ��##�	������	 ���	� ���� ������ 
��*��	 	�'�� n

�	' k �� ��#� t ���	��� ��� ����� �� ��� �"���# 
" ���	��	� ������ Rn,k(t) �� Rk,n(t)�

7������ � ��##�	������	 ���	� 
��*��	 	�'�� n �	' k ������ �� '����#�	�' 
"


��� ��� �����	�� ��##�	������	 �������� �� ��� $� �"���# �	' ��� '����	�� #� 

���1 Dn,k(t)�

�����	�� ����� ���	�� ���	�� ��	������� ���������� ���	��� 3�� ��� #�
��� 	�'��?

��� '*��� ��#�� �	 � �����	�� ����� ��� '��*	 �����'�	� �� ��� ��#� ���
�
����"

'�����
����	 *��� 4	��� #��	 �	' �����	��� ,�����' ��#�� ���	�� ����� �1����" �����

� ������	 �����' �� ��#� ��� ������'� ����? ��� ��#� �	��� ��� �������	�� �� � ��#����

���	� �� �����	 �����'�	� �� � '����#�	����� '�����
����	� !�	�� ��##�	������	 �����

����� �	 ��� ��#������ �� #��������	'� *���� �����	�� ����� ���	��� ���� ����� �	

��� ��#������ �� #�	����? *� ��	��'�� ��##�	������	 ���	�� �� �##�'���� ���	��

�������	� �	 6��� ��#��

7� '�	��� ��� �	���	��� �� ��#� �� *���� �����	�� ����� ���	��� �� Sk(t) ����

����� 
" Tk(1), Tk(2), . . . � ���� ��? Tk(i) ��	�������� ��� �	���	� �� ��#� �� ��� i ��

����� ���	�� �� ��� �����	�� ����� �� #�
��� 	�'� k� & �����	�� ����� ���	�� �� 	�'�

k �������	� �� ��#� Tk(i) #�" 
� ��������' �� � 	�'� n '�� �� ��##�	������	 ���	���

!�
��8��	��"? Rn,k(t) #���� ��� i �� ����� ���	�� �� ��� �����	�� ������ 7� '�	���

��� �	���	�� �� ��#� �� *���� ��� i �� �����	�� ����� ���	�� �� 	�'� k �� ��������' ��

	�'� n �� T̂n,k(i)� 7��� �	 ����#�� ��##�	������	 ��������? *� ���� T̂n,k(i) = Tk(i)�

���� ��? 	�'� n ��� � ������	� ���* �� ��� �����	�� ����� �� 	�'� k� (�*����? �	 �

�����" ��������	�' �&),� �"������" ���'� T̂n,k(i) > Tk(i) �� ���	 T̂n,k(i) > Tn,k(i+1)

�� ��� i �� �����	�� ����� ���	�� �� k �� 	���� ��������' 
" ��� 	�'� n� 3�� ��	��	��	��

�	 ��� 	������	 �� ,8�����	� ��� �	' ��/? *� ��� T̂n,k(i) := Tk(i + 1) �	 ���� �����

$	 �	 $� �"���#? ��� �����	� ����� �� 	�'� n �� '�����"�' �	�" �� � ��
��� ��

��� ����� 	�'�� '�	���' �� ��� ��	����� �� 	�'� n� (�	��? ���� #�
��� 	�'� n ���

�����	�' � 	�#
�� �� ��	����� cn '��*	 ���# ��#� ���
�
����" '�����
����	� 0���	

cn? ��� ��� �� ��	����� Cn ⊆ {1, 2, . . . , n − 1, n + 1, . . . , N} �� '����#�	�' �����'�	�

�� ��#� ���
�
����" '�����
����	 *��� |Cn| = cn� 3�� ���� �� �1�������	? *� ����#�

���� ��� ���� 	�'� ��� ��� �� ��	����� '��� 	�� ���	�� ���� ��#�� �
������"? ��� ����

�� � ��##�	������	 �������� ��� '����#�	���	� �����	�� �	���#����	 �	 �&),�

��	�������� ��� #��	��	�	�� �� � ������	� ���* �� ��� �����	�� ����� �� � 	�'� n ��

��� ��� ��	����� k ∈ Cn� �� �������� ��� �=������	��� �� � ���������� ��##�	������	

��������? *� '�4	� ��� ������	�' ��	�����	�" ��� � 	�'� n *��� ������� �� ��	���� k?



���� � �������
� ����	�� ��� .��/	����� ����&��& ����������� G6

'�	���' 
" C(n, k)? �� ��� �������	 �� ��#� ���� ��� �����	�� �	���#����	 �� ������	�

�� ��	���� k� 7� '����#�	� ���� �������	 �� ��#� 
" ��##�	� �� ��� ��#� ��� 
��*��	

��������	� ��� i �� �����	�� ����� ���	�� �� ��	���� k �	' ��� 	�1� �����	�� �����

���	�� �� 	�'� n 	��#���6�' �� ��� '*��� ��#� �� 	�'� n �	 ��� �����	� ����� �����

��� i �� ����� ���	��9

C(n, k) =
∞∑
i=1

Tn(i + 1) − T̂k,n(i)

Tn(i + 1) − Tn(i)
@���A

��� ������	�' ��	�����	�" �� 	�'� n? '�	���' 
" C(n)? �� '����#�	�' �� ��� ������	�'

��	�����	�" *��� ������� �� �	 �	'���'��� ��	���� k ����	 �	 ,8�����	 ��� �������'

���� ��� ��	������ ����? *� ����9

C(n) =

∑
k∈Cn

C(n, k)

|Cn| @���A

)��� ���� ������	�' ��	�����	�" �� 	�'� n �� �	�" '����#�	�' 
" ��� ��#��� �����

�	���#����	 Rk,n(i) �	' �����' �� ��	����� k ∈ Cn� !�	�� �� �� #��� �#�����	� ��

#�1�#�6� ������	�' ��	�����	�" ��� 	�'�� *��� #�	" ��	�����? *� '�4	� �	 ,8�����	

��� ��� ������� ������	�' ��	�����	�"? '�	���' 
" CSystem? �� ��� ��# �� ��� ������	�'

��	�����	�" ��� ���� 	�'�? C(n)? *������' 
" ��� 	�#
�� �� ��	����� �� 	�'� n� ����

��9

CSystem =

∑N
n=1 |Cn|C(n)∑N

n=1 |Cn|
@���A

$	 ��� �	4	��� ��#� ����6�	? � #�
��� 	�'� n ���	��� ��� �����	�� ����� �	4	������"

����	T $���? ��� ��	'�# �����
�� Sn(t) #���� �	 �	4	��� 	�#
�� �� ����� ���	�����	��

$	 ��� ��#��	'�� �� ���� �������? *� *��� '����#�	� ������	�' ��	�����	�" ��� �������

��##�	������	 ���������� ���	� 4	��� ��#� ����6�	 ��#������	� ����? *� ��	��'�� �

4	��� �
��������	 �	������ (0, T ]� +�� ��� ���	��	� ������� Kn(t) '�	��� ��� 	�#
��

�� �����	�� ����� ���	��� �� #�
��� 	�'� n '���	� ��� ��#� �	������ (0, t]� $	 ���

�
��������	 �	������ (0, T ]? � #�
��� 	�'� n #���� Kn(T ) �����	�� ����� ���	����

7� ��#���� ������	�' ��	�����	�" �	 ��� �
��������	 �	������ (0, T ] ��� � 	�'� n

*��� ������� �� ��	���� k? '�	���' 
" C(n, k, T )? 
" ��##�	� �� ���� i? 1 ≤ i ≤
Kn(T ) − 1 �	 ,8�����	 ���� &	������� �� ,8�����	� ��� �	' ���? *� ��	 ��#����

������� ������	�' ��	�����	�" �	 ��#� T '�	���' �� CSystem(T ) 
" �������	� C(n, k, T )

���� ��� ��	����� �	' 	�'��? �����������"� ���� "���'�9

CSystem(T ) =
N∑

n=1

∑
k∈Cn

∑Kn(T )−1
i=1 Tn(i + 1) − T̂k,n(i)

(Tn (Kn(T )) − Tn(1))
∑N

m=1 |Cm|
@��/A
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���	�
 1
�	��

����� -
�����# ��������
��

��� ���� �� ���� ������	 �� �� '����� ����� 
��	'� ��� ������	�' ��	�����	�" �	' ��*��


��	'� ��� ��8����' ��	���� ���;� *��� ������� �� '�=���	� ���������� ��� ��##�	� 

����	� �����	�� �	���#����	 �	 �����" ��������	�' �&),�� �� ������� ���� ����? *�

��	'��� � '������� ���	� ��#������	 ���'" 
���' �	 ��� ���� ����� ���������� #�'�� ��

��� $� �"���# �����	��' �	 !�����	 ��
� )��� ���� ��� �'����6�' ���	�#�����	 ��#�	 

���� �#�������" ���' �� ����� 
��	'� ��� ������	�' ��	�����	�"? ��	�� ��� ���	�#�����	�

��� ���������� �	' 	� �	���#����	 �� ����� 3�� ��� ��#� �����	? ��� ���	�#�����	

��#�	���� ���' �� � ��*�� 
��	' ��� ��	���� ���;�? ��	�� �� ���	�#�����	� ��� 	��

��8����'�

3�� ��� ���� ����� ��#������	 ���'"? *� ���� �� '�4	� � *������' #�'�� 
" ���� 

��"�	� ��� '�����
����	 �� ��	�����? ��� '�����
����	 �� '*��� ��#�� �	 ��� �	'���'���

������? �	' ��� #�
����" #�'�� �� ��� #�
��� 	�'��� 7� *��� ��� � #��� ������������'

*������' #�'�� ���	 ��� �	� �����	��' ��� ��� ���������	 �� �%$ �������� *��� ���

$� ����������	 �	 !�����	 ������ )��� ���� ��� ��� ��#�������	 �� ��� ������	�' ��	 

�����	�"? �� �� 	�� ��8����' �� '�4	� ��� �1��� �����	�� �����? 
�� �	�" ��� �	���	���

�� ��#� �	 *���� �����	�� ����� ���	��� ������ ����? *������ ���� �� ��	������" *�

��	 ����#� ���� ��� ��� ��� S �� �����	�� ������ ���'� S = IN0? ��� �	����� �����	�

����� ��� ���� 	�'� �� 0? �	' ���� �����	�� ����� ���	�� �	���#�	�� ��� �����	��

����� 
" �	��

�� ��� 
��� �� ��� �	�*��'��? 	� *������' ���'" ��� $� �"���#� ��� 
��	 ��
 

�����' �	 ��� ���'�#�� ����������� ����? *� ���� �� ���" �	 �	������� ����#����	� ���


��� ��� '�����
����	� �� ��� 	�#
�� �	' ��� ���������" �� ��	����� �� *��� �� ���

��� '*��� ��#��� 7� ����#� � 	�#
�� �� #�
��� 	�'�� N = 100� 3�� ��� ��	����

'�����
����	? *� �����	 � ���������" �� p(n) = c/n �� ���� 	�'� n *��� ��#� ��	���	�

c� ���� ��? ��� ���������" �� ����	 
" � R��� '�����
����	 BR����D� )�'� n �	����� ��#�

����� 	�'� k �	�� Cn *��� ���
�
����" p(k)� )��� ���� ��	���� �������	� �	 #��� $�

�"���#� ��� 
� '�������	��� ���� ��? n �� �	 ��� ��	���� ���� �� k �	' ���� ����� ��

������ n ��� �����	 k �� k ��� �����	 n �� � ��	����� ��� ���
�
����" ��� � ��	����

�������	 
��*��	 n �	' k �� 1− (1− p(n))(1− p(k))� !�	�� �� ���#� �� 
� �����	�
��

�� ���� �� #��� �- ��	����� �	 ������� �	 � ��##�	��" �� �-- ������? *� ��� ���

��	���	� c �� -��:� ���� "���'� � #��	 ���'�	����" �� ��: ��� ��� ��� Cn *��� � �����	��

�� ���� ��� '*��� ��#� �� #�
��� 	�'� n �	 �����	�� ����� i? ����? Tn(i + 1) − Tn(i)

�� '��*	 ���# � ���	��#�� '�����
����	� !�	�� �� ���#� �����	�
�� �� ���� �����	��

����� '*��� ��#�� 
��*��	 � �	' �- #�	����? *� ��� ��� ����� ����#���� σ = 0.6?



���� ���������
� 0�	��� GH

�	' ����� ����#���� μ = 6� 7��� ���� ����#���� �����	�? ��� '�����
����	 ��� � #��	

�� 483s? ����? 8.05min? �	' � ���	'��' '�������	 �� 14.4s�

��� 	�'� #�
����" �	 � ���	� �� ��6� 1000m× 1000m �� '����#�	�' 
" ��� .7�

#�
����" #�'��� $	 ����? *� ��� �	 �������� ��� ��� ������� ��#������	 �� ��� .7�

#�
����" #�'�� ���� ����'� 	�	 ������	��" 
������� �	 
��� ��� ������� 	�'� '����� 


����	 �	' ��� '�����
����	 �� 	�'� ����' �� ��� ����� �� ��� ��#������	 B25-�D� 2���

�	����� 	�'� �������	� �	' 	�'� ����' ��� �������' �����'�	� �� ��� ������	��" �������

�	' ����' '�����
����	�? �����������"� &� � 	�������" ��	'����	 �� ��� �1����	�� �� ��� 

���	��" ������� �	' ����' '�����
����	�? ���� �������� ��8����� v ∈ (0, vmax] ��� ���

	�'� ����' v� 3������#���? ��� �������� ������� ����� ��#�� �	����#�" �����	 ���#

[0, Thold]� $	 ��� �1����#�	��? *� ��� ��� ����#����� vmax = 2m/s �	' Thold = 120s�

3�� ��� ������#�	�� ������ �	 ��� ��#��	'�� �� ���� ������	? *� ��	'����' 4	���
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 �� � �����������*��' �������� ��� �#���#�	��	� �	� �� #�	" ��##�	������	

�	 � �&),� ���? ����? BG(�G-�D� &���������	� �� N��'�	� �	���'�? ���? ��� �������	

�� �����' '��� ���#� �	 � �&),� 
���' �����	� �"���# B30!-�D� .����� ���� *���

N��'�	�? #������� ��� ����"�' ���	� ����� 
���'���� ���	�#�����	�� & 	�'� ���� �� 

������ � N��'�' #������ ���# � 	���
" 	�'� ��� ��� 4��� ��#� ����"� �� �1����" �	���

!�
��8��	��"? � #������ ������� ��� 	�'�� k *��� Dn,k(t) < ∞ ��� � ������ 	�'� n�

3���'�	� #�" ��	����� ��'�	'�	� #������ ���	�#�����	� �� � 	�'� ����"� � #������

���� ��� �����'" 
��	 �������' 
" ��� 	�'�� �	 ��� ���	�#�����	 ��	��� !������ �� 

�������� ��� ��'���	� ��� 	�#
�� �� ��'�	'�	� ���	�#�����	� ���� 
��	 �������'?
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�� ���	� ��� ���� !�,,% �����	��' �	 !�����	 ��� �	����������
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��	��'�� �	� ��#� N��'�	� �� ��� 	�* �����	�� ����� �	 ���� �����	� ����� ���	���



HI �� )%�����
 $������������ �� ������
� �����������

3�� �	 ��������#�� '���������	 �� ��� ����� ���	�����	� �	'���' �	 ��� '������� ���	�

�"���# 
" � ���������� ��������? *� '�	��� ��� �����	� �����	�� ����� �� 	�'� k ��

sk �	' ��� ��#��� �	���#����	 �����' �
��� ��� ����� �� 	�'� k �� 	�'� n �� rn,k�

3�� ���� �� �1�������	? *� '�4	� rn,n := sn� .����� ���� *� ����#� *������ ���� ��

��	������" ���� ���� �����	�� ����� ���	�� �� 	�'� k �	���#�	�� ��� �����	�� �����

sk 
" �	� ��� sk ∈ IN0� ����? ��� �������	 rn,k < rm,k �#����� ���� ��� ����� �� ���

�����' ��	���� k ∈ Cn ∩ Cm �� #��� ����	� �� 	�'� m ���	 �� 	�'� n� .����� ���� �

�����	�� ����� ���	�� ���	� #�" ������� �	� �� #��� 6��� ��#� ��##�	������	 ���	��

'���	'�	� �	 ��� '����	�� #����1 D� <��	� ��� �
��� '�4	����	�? ����� ���	�����	�

�� � �"���# ���	� �	� ��#� N��'�	� ��	 
� '�����
�' 
" &�������# ����

�
������"? ��� ��	'����	 Dk,n(t) < ∞ '��� ���8��	��" 	�� ���' �	 �����" ����� 

���	�' �&),�� 3�� �1�#���? 3����� ��� ����� � �&),� *��� N = 100 	�'�� *���

� ���	�#�����	 ��	�� �� R = 75m �	 � ���	� �� 1000m × 1000m� )�'�� ���� ���

������' �	 ��� ��#� 	��*��� ��������	 ��� '��*	 *��� �'�	����� �"#
���� +����	�

�� � ���������� 	�'� @#����' *��� � 
���� ������ �	 3����� ���A �	' ��� ��� ��	�����

@#����' *��� �8�����A? *� 4	' ���� ��� 	�'� ��	 �	�" ��##�	����� ��� �����	��

����� '������" �� � ��� �� 
- ��	������ &� � ������? ��#��� �	� ��#� N��'�	� "���'�

��* ������	�' �"���# ��	�����	�"� 3����� ��
 ����� ��� ����� 
��	' ��� ��� ������	�'

��	�����	�" �	���'���' 
" ,8�����	 ��/ ��� &������� F1 ������' �	 � �"���# *���

N = 100 	�'�� �	' '�=���	� ���	�#�����	 ��	���� &''����	���"? �� ����� ��� ��	����

���;� ����	 
" ��� 	�#
�� �� #������� ��	�����' 
" ��� ��##�	������	 ���������

��� 	�#
�� �� #������� ��	�����' 
" N��'�	� � #������ *��� ������ 	�'� k ��

����	 
" ��� ��6� �� ��� 	��*��� ��������	 k �� ������' �	� )��� ���� ���� ��	��������

� ��*�� 
��	' �	�" �	 ����� *���� 	� N��'�	� ����#�6����	 �� ���'� (�*����? ��	��

� N��'�	� ����#�6����	 ���� �=���� ������	�' ��	�����	�"? *� '� 	�� ��	��'�� ����

����#�6����	 ����� 3�� �	 ���������	 �� ��� �#���� �� N��'�	� ����#�6����	� �	 ���

������#�	�� �� � ���� �"���# *� ����� �� !�����	 ����

.����� ���� �����	�� ����� ���	��� ����� �	���8��	��" '�� �� ��� ����#�' '����� 


����	 �� '*��� ��#��� ����? 3����� ��
 ���*� ���� ��� ��	���� ���;� �� ��* ��� ���

��	��'���' ���	�#�����	 ��	���� 3������#���? ������	�' ��	�����	�" �� 
���* -�� ���

*����" ��		����' 	��*����? ����? 	��*���� *��� � ���	�#�����	 ��	�� 
���* 100m� 3��

� ������	�' ��	�����	�" �� -�� �	' #���? ���	�#�����	 ��	��� ������ ���	 130m ���

��&��
�%� "1� &������� F1 @�	� ��#� 3���'�	�A

0� ���� �����	�� ����� ���	�� ���	� ��� 	�'� k �� ��#� t ��

 �� ��� 	�'�� n �= Ck *��� Dk,n(t) < ∞ ��

!�� rn,k := sk
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" �����' 

�����" �������	� ��� N��'�	� ��������	 ����	� ���� 	�* ��	����� 
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(�	��? *� ��	��'�� � �����'�� N��'�	� ��������? �	 *���� � 	�'� ����'���� � ��#��

���	� *��� '����#�	����� ��#� TPush ������	� �� � �����	�� ����� ���	�� ���	�� 7��	

��� ��#�� ���	� ������? ��� 	�'� ������ ��� �����	� ����� �� ��� ��	����� ���	� � N��' 

�	� ��������	 ���� �������� ������� 6��� ��#� ��##�	������	 ���	��� !�
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������'���� ��� ��#�� ���	�� &�������# ��
 '�����
�� ��� ����� ���	�����	� �	 ���

'������� ���	� �"���# ���	� ��� �����'�� N��'�	� ���������

�� ���������� ��� ���'� �= 
��*��	 ������	�' ��	�����	�" �	' ��	���� ���;� ���

&������� F2? *� ���� ��� ����� 
��	' ��� ��� ������	�' ��	�����	�" ������ ���

��*�� 
��	' ��� ��� ��	���� ���;� ��� '�=���	� ������ �� TPush �	' '�=���	� ���	� 

#�����	 ��	��� �	 3����� ���� )��� ���� �	 ���� �"�� �� �����? � ������ ����� �	'������

���� ���	��	� ��� ����#���� TPush �� #��� 
�	�4���� ��� ��� ������#�	�� ��	�� �� �	 
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3����� ��� �� 3����� ��
 ���*� ���� �����'�� N��'�	� *��� TPush = 10s ��
���	�����"

�	������� ������	�' ��	�����	�"� ��� ���	 �� #��� ���	�4��	� ��� R = 75m? *����

������	�' ��	�����	�" �� �	������' 
" ��#��� ������ �� 3������#���? 3����� ��� ���*�

���� �	������	� ��� TPush ���# 10s �� 20s ��'���� ��	���� ���;� 
" #��� ���	 ��L

��� ��� ���	�#�����	 ��	���� &� ��� ��#� ��#�? ������	�' ��	�����	�" �� ��'���'? *���

� #�1�#�# ��'�����	 �� :L ��� � ���	�#�����	 ��	�� �� R = 75m� $	������	� TPush

������� "���'� ���� ���	�4��	� ���;� ��'�����	 *���� ������	�' ��	�����	�" �� #���

���	�4��	��" �=����'� !�����	�' ��	�����	�" ���*� ������� ��	�������" �� TPush ���

*����" ��		����' 	��*����? ��	�� �	 ���� 	��*���� #��� ��	����� ��� 	�� ������' 
"

�	� ��#� N��'�	� �� ����� �	���#����	 �� ���*	 �	 3����� ���� 7� ��	���'� ���# 3�� 

��� ��� ���� �����'�� N��'�	� �� ����� �	���#����	 ��	�������� �	 ����������� *�" ��

'����#�	��� ����� �	���#����	 �	 �&),�� )�����������? *� ���* �	 ��� 	�1� ������	

��* �� ������� �	������ ������	�' ��	�����	�"�

��&��
�%� "1� &������� F2 @�����'�� 3���'�	�A

0� ���� ��#�� ���	� ��� 	�'� k �� ��#� t ��

 �� ��� 	�'�� n �= Ck *��� Dk,n(t) < ∞ ��

!�� rn,k := sk

!���'��� � ��#�� ���	� �� ��#� t + TPush
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n ∈ Ck� .����� ���# !�����	 
�� ���� B0�-
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������	� ����������	�� &������� '����#�	����	 �� �����	�� �	���#����	 �� � �����"
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���� ��	���� �� ��� ���������� ��� ���'�#�� '����#�	����	 �� �����	�� �	��� 

#����	 �	��"6�' �	 ���� ������	? � 	�'� n ������ 	�* ����� �	���#����	 �� ��#� t

�� ��#� 	�'�� m *��� Dn,m(t) < ∞� !�
��8��	��" �� ��#� t′? � 	�'� n′ ����� ��#�

	�'�� m *��� Dn′,m(t′) < ∞ ��� �� �� '��� ����� �	���#����	 �
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k� �����	� �� ������#�' �����'�����" �	 �	������� TPoll� 2���' �	 ��� ��##�	������	

���	�� ���� ��� ��������' 
" �����	�� ����� ���	�� �	' ��#�� ���	��? *� '����	�����


��*��	 ����� �"��� �� ����������? *���� '�=�� �	 ��� ���� �� 	�'�� ���� ��� �	�����'

�	 ���� ��##�	������	 ��������	�
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� ���	��	� @E1A9 �	 � �����	�� ����� ���	�� ���	� �� ��#� t? � 	�'� n

������ 	�* ����� �	���#����	 �� ��� ��	����� k ∈ Cn *��� Dn,k(t) < ∞� 3������#���?

�	 � ��#�� ���	� �� ��#� t′? � 	�'� n ����� #��� �� �� '��� ����� �	���#����	 ���

��� ��	����� k ∈ Cn ���# ��� 	�'�� m *��� Dn,m(t′) < ∞? m = k �� k ∈ Cm� ����

�������� �#���#�	�� ���'�#�� �	���#����	 '����#�	����	 �	�" �#�	� 	�'�� *���
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��� 	�	 ��	�����? *���� �	 ��� ����	' ����� � 	�'�

�	�" ������� �	���#����	 �
��� ��� ��	������

��
���
�� �
� ��� ����� @E3A9 �	 � ��#�� ���	� �� ��#� t? � 	�'� n ���� �����	��

����� �	���#����	 ���� �� #��� �� �� '��� ���	 ��� ����� �	���#����	 ���# ��� 	�'��

m *��� Dn,m(t) < ∞� $	 ���� �������� ��� 	�'�� �1���	�� �	���#����	 �
��� ���

����� 	�'�� �����'���� �� ���" ���� � ��	���� �������	� ��� ��������#�� '���������	

�� &������� E2 �� ����	 �	 &�������# ����

&�������# ��� ��	 
� �����" #�'�4�' �� �������	� &������� E1 
" ��		�	� ���

��� ���� �	 ��	� 
 �	�" ��� 	�'�� m *��� n ∈ Cm? �	' �	��	���"�	� ��� ��	'����	 �	 ��	�

/ �� k ∈ (Cn ∩ Cm)∪ {m}� 3������#���? ��� ��������#�� '���������	 ��	 
� #�'�4�'

�� �������	� &������� E3 
" �#����	� ��	�� � �� � �	' ��		�	� ��� ��� ���� �	 ��	�

/ ��� k = 1, 2, . . . , n − 1, n + 1, . . . , N �

)��� ���� �	����� �����
�� �������� ���� �	 �	���������	� �����'���� �����	� ��

����� �	���#����	 �	 &��������� E1 �	' E2� (�*����? *� ���	' �	 �1����#�	�� 	��

���*	 ���� ���� �''����	�� ���� ��������	� ���� ������ �#���� �	 ������	�' ��	��� 

��	�" *���� ��
���	�����" �	������	� ��	���� ���;�� ����? �	 ��� ��#��	'�� �� ����

������� *� '� 	�� ��	��'�� ���� �����������

�� ��#���� ��� ������#�	�� �� ��� &��������� E1 �� E3 *��� ���� ����� �	'

*��� ��� �����'�� N��'�	� �������� F2? *� '����� ����� 
��	'� ��� ��� ������	�'

��	�����	�" ���� ��	 
� �������' 
" ���� ��������� �
������"? ����#�# ������	�'

��&��
�%� "1� &������� E2 @,��'�#��� ��� .�����
�� )�'��A

� 0� ���� �����	�� ����� ���	�� ���	� ��� 	�'� n �� ��#� t ��

�  �� ��� 	�'�� m = 1, . . . , N *��� Dn,m(t) < ∞ ��

* !�� rm,n := sn

� 0� ���� � ��#�� ���	� ��� 	�'� n �� ��#� � ��

�  �� ��� 	�'�� m *��� Dn,m(t) < ∞ ��

,  �� ��� 	�'�� k �= Cn ��

6 
 rn,k < rm,k �%
�

+ !�� rn,k := rm,k

( !���'��� � ��#�� �� ��#� t + TPoll
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��	�����	�" �� �������' *��� �	" �������� ��� �����	�� �	���#����	 '����#�	����	

�� ��##�	������	 
��*��	 �*� 	�'�� n �	' m ����� ����� �� ���	 �� � ��		�����	


��*��	 n �	' m �� ������
��? ����? �� ��#� t *��� Dn,m(t′) = ∞ ��� t′ < t �	'

Dn,m(t′) < ∞ ��� t′ > t� 7� ��	 �����" #�'��" ��� &��������� F2 �	' E1 �� E3

�� ����#����� ���� ��8����#�	� 
" �����	� TPush → 0 �	' TPoll → 0? �����������"�

7� ����� �� ����� ���������� �� F2opt �	' E1opt �� E3opt� ���� #�'�4�����	 "���'�

����#�# ������#�	�� *��� ������� �� ������	�' ��	�����	�"� (�*����? �	 � ���� �� 

��������	? ��� ��	���� ���;� ��	�����' 
" ���� #�'�4�����	 *���' 
� �	
��	'�'�

�� '����� � ��*�� 
��	' ��� ���;� ��8����#�	�� *��� ������� �� ���� ��������? *�

��#���� ��� ���;� ��� �	����� �����	� 	�* �����	�� ����� ����� � ����� ���	�� ���	�

��#���� �� !�����	 ��
�
� &''����	���"? *� ����#� ���� ��� ���;� ���' ��� � ������� 

��� �1���	�� �� ����� �	���#����	 �	 ��
��8��	� ���� �� ���� ��������	� �� �8��� ��

��� 	�#
�� �� ���� �	 ��� �������� ���� 
��*��	 ��� ��##�	�����	� 	�'��� ����

��? �� 	�'� n ���� rn,k �� rm,k �� ������ �� � ��##�	������	 ��������	 *��� 	�'�

m �� ��#� t? *� ���	� ���;� �� Dn,m(t) �������� $� *� ���� #��� ���	 �	� ����� 


�� �"	����	�6����	 ��������	 ����� � ��#�' ���	�? ��� ��������	� ��� ������#�' �	

����	'�	� ��'�� �� ��� '����	�� ����	 
" D(t)� 7� ���� ��� ����� 
��	'� ��� ���

������	�' ��	�����	�" �	' ��� ��*�� 
��	' ��� ��� ��	���� ���;� �� ��� '�=���	� �� 

��#�# ���������� �	 3����� ��� �	' ���? �����������"� 7� 4	' ���� ���	� �	'�����

��##�	������	 �	������� ������	�' ��	�����	�" 
" �� �� -�

 ��#����' �� '�����

��##�	������	� (���? E3 ������" ���������#� E1 �	' E2? *���� �	������ ������ 

#�	�� 
" �� �� -�-/ �	' -���? �����������"� +����	� �� ��� ��	���� ���;� ��	�����'


" ��� ���������� �	 3����� ���? *� 4	' ���� E1 �	' E2 ��	����� ��#��� �'�	�����

���;�� ���� �	'������ ���� E1 �	' E2 ������# ��#��� ��� ��#� 	�#
�� �� ��##� 

	������	 ��������	�� )�����������? '�� �� ��� ���� ���� �����	�� ����� �	���#����	 ��

	�� �	�" �����' 
" ��	�����? 
�� 
" ��� 	�'��? E2 '����#�	���� �����	�� ����� �	 

���#����	 ������ ���� E1� F2 ��	������ ��*�� ��	���� ���;� ���	 E1 �	' E2� ����

���'� �	 ���������� ��� #�'��# ��		����' 	��*����? *���� ���'�#�� '����#�	����	

�� ����� �	���#����	 ��	 
� ������#�' ���� ��	� '����	��� *��� E1 �	' E2� 3���

���'�#�� '����#�	����	 �� �#���"�' �	 &������� E3 ��	������ #��� ���;�? ��	�� �	 

���#����	 �� �1���	��' ���� #������� ���� �	 #�	" ������ 7� ��	���'� ���# 3������

��� �	' ��� ���� �	'����� ��##�	������	 ���	� ���'�#�� '����#�	����	 ��	 ���	�4 

��	��" �#����� ������#�	�� �	 ���#� �� ������	�' ��	�����	�"� (�*����? ��� ��	����

���;� ��	�����' 
" ��� E���'�#��F �"	����	�6����	 ��������	� #��� 
� ��	��'���'

*��	 �#���#�	��	� ����" ���'�#�� '����#�	����	� ��������' 
" 3������ ��� �	' ���?

*� ����� �	 &������� E2 �	 ��� ��#��	'�� �� ���� �������? ��	�� E2 ��	�������� �

�����	�
�� ���'� �= 
��*��	 ������	�' ��	�����	�" �	' ��	���� ���;��
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$	 ���� ������	? *� ������� �!���? ��� !"���# ��� �����	�� �	���#����	 ,1���	��


" ,��'�#�� %����#�	����	 �	 �&),� ���� ���� � ��#
�	����	 �� � ���� �	' � ����

�������� ��#���� �� �������� E2 '�����
�' �	 !�����	 ��
��� ���� �� � 	�'� ������ ���

	�* �����	�� ����� �	 � �����	�� ����� ���	�� �� 	���
" 	�'�� 
" N��'�	�� 3������ 

#���? ���� 	�'� n ���� ����� ��� �����	�� ������ �� ��� ��	����� k ∈ Cn �����'�����"


" N��'�	�� ������' �� !�����	 ��
��? N��'�	� �� 	�� ������#�' ��� ��� �	���� 	�� 

*��� ��������	? 
�� �	�" *��� � ��#���' ����� ����	 
" � #�1�#�# 	�#
�� �� �����
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3������#���? �	 ��� �� �����	�' �� ���� �	���#����	 �
��� ��� �����	�� ����� �� � �� 

#��� 	�'�� & 	�'� ����� ��� ����� �� � ��	���� �	�" �� ��� ��� ��� �1���'�' � ������	

��������'� & ��	���� ������ �� �	" 	�'� ����	� #��� �� �� '��� �����	�� �	���#� 

���	 �����	'� �� � ���� #������� &� ������� '�=���	�� �� !�����	 ��
�� ��������

#������� ��� 	�� ���	�#����' ���	� �	����� ��##�	������	? 
�� ���	�#����' 
" �	

�������� '�	���' �� �
���	�� B���
��� %������' N��'�	� ��	�������� � ��#���#���


��*��	 ���;� �;���	�" �	' ���'�#�� '����#�	����	� $	 ��	����� �� � ��	��	���	��

N��'�	� ��������	? *��� '������' N��'�	� � #������ �� �	�" �����	�#����' 
" ���

	�'�� m ���� ���� �������' �� ���# � 	�'� n *��� Dm,k(t) < Dn,k(t) ��� ��� �	8��� 

�	� 	�'� k� &�� �	���#�'���� 	�'�� �������� �������� #������� �	' �1����� 	�*

�����	�� �	���#����	� $	���#����	 ��� �����' �� �#���#�	� ���'�#�� '����#�	����	

�	' �� '������� ��	���� ���;� 
" ��	'�	� �������� #������� ���# 	���
" 	�'���

$	 ��� ��#��	'�� �� ���� ������	 *� '�����
� ��� #����	��#� �	 #��� '������

$	 �''����	 �� � ���� �� ��� �����	� ����� �� ��� ��	����� '�	���' �� ���	��	 �
�	? ����

	�'� n ��� � '��� ��������� cachen ���� ������ �	���#����	 �
��� ��� �����	�� �����

�� 	�'�� k �= Cn� )��� ���� cachen ��� �� #��� N − |Cn| �	������ 7� '� 	�� ��	��'��

����� �������#�	�? ��	�� ��8����' ����� ��6� �� �#���� ��	�����	� *��� !�����	 ��
?

*� '�	��� �����	�� �	���#����	 �� 	�'� k �����' �� 	�'� n 
" rn,k? �����'���� �� ��

�� �����' �	 ��� ��	���� ���� �� �	 ��� ������ )��� ���� �����' �	����� '� 	�� �=���

������	�' ��	�����	�"� �� '����#�	� ��* �� �� '��� � ����� �	���#����	 ��? *� �����	

�	 ��� '�	���' 
" an,k �� ��� rn,k� 3�� ��	��	��	�� an,n �� ��� �� -� )��� ���� an,k

��	�������� � ��#� '�=���	��� ����? an,k ��	 
� �����" ��#����' ���	� ��� ����� �����

�� � 	�'� �	' ����� �� 	� 	��' ��� �"	����	�6�	� �������

!�,,% ���� #������� �� �"��� ����? ����? �	' ��������� 2���'�� ��"���'?
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�
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�� ��� �����	 	�'� m �� ��� #������? ����? dn,m := Message.Hops� !�	�� '����	���

���	�� '�� �� 	�'� #�
����"? *� �����	 ���� '����	�� *��� � ��#���� �� 10s� ,1 

����#�	�� ���� ���*	 ���� ���� ��#���� �� ��;���	�? ��	�� ���� 	�'� ���� ��� ��

���*��' � �������� #������ ��� ���� �������' ��� ��������	'�	� ���� #������� $�

	�'� n ��� 	� �� �� '��� '����	�� �	���#����	 ��� 	�'� m? dn,m �� ��� �� ∞� )���

���� ���� 	�'� n �	�" ������ ��� ����#	 k �� ��� #������� rn,k? an,k �	' dn,k�

7��	 � 	�'� k ���	��� ��� �����	�� ����� �� ��#� Tk(i)? 1 ≤ i ≤ Kk(T )? ��

������ ��� 	�* ����� �� ��� 	�'�� *����	 � '����	�� �� �� #��� TTLPush ���	� �����'

N��'�	� 
���' �	 ��� 4��' �������8))$� ��� ���� #������ ��#������ � �����

(k, s)? *���� s = Sk(Tk(i)) ��	�������� ��� 	�* �����	�� ����� �� 	�'� k� ,��� 	�'�

n ���� �������� ��� #������ ���� rn,k := s �	' an,k := 0� �� �"	����	�6� ��	�����

��� ���� 	� �����	� ����� �	���#����	 ��� �������' 
" � ���� #������? ���� 	�'�

����� ��� ����� �� ��� ��	����� �����'�����" �	 ��#� �	������� TPoll� �� ��'��� ���

	�#
�� �� #�������? � ��	��� ���� #������ ��	 ��	���	 8������ ��� ��� ������ ��

#������� ��	������ & 	�'� ������� ���� ��� �	���#����	 �
��� ��� �����	�� �����

�� ��� ��	����� �� #��� �� �� '��� ���	 ��#� �	���#����	 �� �� '��� ��#���� TOiu�

& ��	���� �� �	�" �����'? �� ��� ����� �	���#����	 �	 ��� ��	���� ���� �� ��'�� ���	

TOiu� & ���� #������ ��	���	� �	����� ���� ��#����� � ����� (k, a)? *���� k �� �

��	���� �	' a ��� ��� �� ��� �	���#����	 �	 ��� ��	���� ����� ��� ��� �	���#����	

�	�
��� 	�'�� ���� ������� � ���� #������ �� '���'� �� ���" ���� #��� �� �� '���

����� �	���#����	� +��� � ���� #������? � ���� #������ �� N��'�' *��� �����

TTLPoll� )��� ���� �	 �����	����� '����	 �������� �� �� �#���#�	� �1��	'�	� ��	�

������ �� ���'? ����? ��� ��� ����#�6����	 �� ��� ����� '�������" ������� �	 &�%5

B�.%-�D� ���� ��? �� �����������" N��' ��� ���� #������ *��� �	������	� ����� ttl?

1 ≤ ttl ≤ TTLPoll? �	��� �������� #������� ��� ��� ��	����� �	 ��� ���� #������

��� �������'� (�*����? *� ���	' ���� ���� �������� '��� 	�� �#����� ������#�	��

��	�� ��� �������	 �� ���� #������� ���� ������� �������� #������� ��� ��� ��	�����

�� ��* ��� �#��� TTLPoll� &	 ��������#�� '���������	 �� ��8�����	� ��� �����	�� ������

�� ��� ��	����� �� ����	 
" &�������# ����

��&��
�%� "1" )�'� n ����� ��� ��	�����
Poll := ∅

 �� ��� 	�'�� k ∈ Cn ��


 an,k > TOiu �%
�

&'' (k, an,k) �� Poll


 Poll �= ∅ �%
�

3���' Poll *��� TTLPoll



��'� � ������ ��� $�����������& ������
� ����������� HH

$� � 	�'� �������� � ���� #������ �	' ��� #��� �� �� '��� ����� �	���#����	

������ �	 ��� ��	���� ���� �� �	 cachen ��� �	� �� #��� ��	����� �	 ��� ���� #������?

�� ��	������ � �������� #������� ,	����� �� � �������� #������ ��#����� � ������

(k, a, s) �� ��� ��	���� k? ��� ��� �� ��� �	���#����	 a �	' ��� ��	����� �����	�� �����

s� $� ��� ����� ����� �	���#����	 ��� � ��	���� �� ��;���	� ����	�? ����? ��� ��� �� ����

�	���#����	 �� ��*�� ���	 ��� ��#���� TOiu? ��� ��	���� �� ��#���' ���# ��� ����

#������? ��	�� �� �� 	�� 	�������" ���� ����� 	�'�� ��	' �������� #������� ��� ����

��	����� ���� ������� �	 ���������� *��	 ��� ��	���� ������ �����	'�� & 	�	 �#��"

���� #������ �� ���*��'�'? �� TTL > 0 �� �#���#�	� N��'�	�� ��� #������ �� 	��

�##�'�����" ���*��'�'? 
�� �	�����' �	�� � ���*��' 8���� �������� *��� � ��	'�#

����� '�	���' �� Δ� &	 ��������#�� '���������	 �� ��� �����	� ���	 �������	� � ����

#������ �� ����	 
" &�������# ����

.����� ���� �������� #������� ��� �����	�' �� ��� �	8����	� 	�'� ���	� '������'

N��'�	�� �� �#���#�	� '������' N��'�	�? � 	�'� r 
���'����� � �������� #������?

*���� TTL �� ��� �� ��� '����	�� �� ��� �	8����	� 	�'�� & 	�'� n ����"� ��� #������

�� �� �� ������ �� �	8����	� 	�'� q ���	 �����	'�� r? ����? dn,q < dr,q� )��� ���� 	�'�

n ��	 '����#�	� dr,q 
" ��##�	� �� ��� 	�#
�� �� ���� �	' ��#��	�	� ))$ ��

��� �������� #������� & 	�'� n *����	 ��� ���	�#�����	 ��	�� �� � �����	'�	�

��&��
�%� "1$ )�'� n �������� � ���� #������
Response := ∅

 �� ���� �	��" (k, a) ∈ Poll ��


 k = n �%
�

&'' (k, 0, sn) �� Response

.�#��� �	��" (k, a) ���# Poll


 k ∈ Cn �� k ∈ Cachen �%
�


 an,k < a �%
�

&'' �	��" (k, an,k, rn,k) �� Response


 an,k < TOiu �%
�

.�#��� �	��" (k, a) ���# Poll


 Response �= ∅ �%
�

Response.TTL := dn,Poll.Inquirer

Δ := uniformrandom(0, 1]

Response → ForwardQueue *��� Δ


 Poll �= ∅ �	' Poll.TTL > 0 �%
�

Δ := uniformrandom(0, 1]

Poll → ForwardQueue *��� Δ



+II �� )%�����
 $������������ �� ������
� �����������

�� ����"�	� 	�'� ��������� ��� #������ �	' �1������ 	�* �	���#����	 �
��� 	�'��

k ��	���	�' �	 ��� �������� #������� 3�� ���� �	��" (k, a, s) �	 ��� ��������

#������? 	�'� n �������� ��� k �	 ��� ��	���� ���� �	' �	 cachen? �����������"� $� k

�� 	�� ���	' �� ��� �����	�� �	���#����	 s �	 ��� �������� #������ �� #��� �� 

�� '��� ���	 ��� ����� �	���#����	? ����? a < an,k? ��� ����� ����� �	���#����	 rn,k

�� ��'���'� �����*���? ��� �	��" (k, a, s) �� ���#�	���' ���# �������� #������?

��	�� ��� 	�'� n ������ ��� �����'" �����	'�' *��� �� ����� �� �� �� '��� �	���#����	

*��� ���� ���
�
����"� ����? *� ����' ���*��'�	� ����� �� ��'�	'�	� �	���#����	�

3������#���? �� �� ���'� dn,q > dr,q? !�,,% ���#�	���� ��� �	�����? *���� ��� 	�� #���

�� �� '��� ���	 �	���#����	 �	 ��� �������' �������� #������ ���# ��������

#������� ��	'�	� �	 ��� ���*��' 8����? ��	�� � 	�'� ������ �� ��� �	8����� ��� �����'"

�����	'�'� &	 ��������#�� '���������	 �� ��� �����	� ���	 �������	� � ��������

#������ �� ����	 
" &�������# ��/ �	 ���� ��-�

&� � '���'��	���� �� N��'�	�? ��'�	'�	� ���	�#�����	� �� ���� �	' ���� #�� 

����� #�" ������ ���� ��? � 	�'� �������� ��� ��#� #������ ���# #������� ��������

7� ���	' ��� ���� #��� ���	 �-L �� ��� ���� #������� ��� ��'�	'�	� *��� ���

�������� '�����
�' �� ���� �� ���#�	��� ��'�	'�	� ���	�#�����	� *� ��� � ���	���


���' N��'�	� �������� B�)!-�D�

!��� �������� ���
�
����������" ��'���� ��� 	�#
�� �� ���*��'�	� 	�'�� *����

�����	� ��� 	�#
�� �� ������' 	�'�� ��#��� ��	���	�� 2����� ���*��'�	� � #������?

!�,,% �''� � ��	'�# '���" δ ∈ (0, 1]s? *���� �� �����	 �����'�	� �� � �	����#

'�����
����	� ��� #������ �� �����' �	 ��� ���*��' 8���� �	��� ��� '���" δ ��� ������'�

$� ��� 	�'� n �������� �	 �'�	����� #������ ���# Tr �� #��� 	����
��� ��� � ��������'

Tr? 
����� ��� �	' �� ��� '���"? 	�'� n '�����'� ��� #������? 
������ *��� ����

���
�
����" ��� 	����
��� �� 	�'� n ���� �����'" �������' ���� #������� 7� ���	'

��� ���� �	 ����#�� ����� �� ��� ��������' Tr '���	'� �	 ��� #������ �"��� ����? *�

��� � ��������' TrPush �������#������� �	' TrPoll �������#�������? �����������"�

�� ���������� ��� �#���� �� 4�����	� �	' '������' N��'�	� �� �������� #�� 

�����? 3����� ��/ ����������� ���*��'�	� �� � �������� #������ ��� N = 100 �	'

R = 125m� ��� 	�'� ���� ��� ��	�����' � �������� #������ �� #����' *��� �


���� ������� 3������#���? 	�'�� ���� ���*��' �������� #������� ��� #����' *���


�1�� �	' ����� ���	�#�����	 ��	��� ��� '��*	 �� �������� ��� �����	 	�'� �� ����

�������� #������ �� #����' *��� � '��
�� 
�1� $'�	����� '����' ��	�� #��� 	�'��

���� ���*��' ��� ��#� �������� #�������� ��� �#���� �� '������' N��'�	� �� *���

����������' 
" ��� #������ '��*	 *��� #�'��# '����' ��	��� ��� #������ ����������

���# ��� �����	'�	� 	�'� �� ��� �����	� 	�'�� 3������#���? 4�����	� �� ��������

#������� �� ����������' 
" 
��� �������� #������� '��*	 *��� '����' ��	��� �����
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7� ��	���'� ���# 3����� ��/ ���� 4�����	� �	' '������' N��'�	� �� �������� #�� 

����� ��	�������� � �����	�
�� #����	��# ��� �����	�� ���*��'�	� ���� �	����� ��*

��	���� ���;��

 � �
��
���	�
 #����
�

����� ��������
� -��%
�
�
#�

������' �� ��� ���� ����� ���������� ��#������	 ������#�' ��� ��#�������	 �� ������ 

#�	�� 
��	'�? *� �����'� �	 ���������	 �� !�,,% �	 � ��������� ����� �	 ���� ������	�

3�� ���������	 �������? *� ��� ��� 	��*��� ��#������ 	� 
 �	����' �� ��� ���� �����

'������� ���	� ��#������ ���' �	 !�����	 ��
� 	� 
 ��	��'��� ��##�	������	 '���"�?

������ ��������	�? �	' �	�������	��� 7� �#���#�	��' !�,,% �� '�����
�' �	 !�����	

��� �� �	 	� 
 ����������	� ��� ����������	 ���� ��� <%�H$� �������� ����� �� *���

�� ��� $,,, �-
��� �&� �	' ��"����� ��"�� ��		�	� �	 �' ��� #�'�� ��� ��"���'

��� ���� �	��" �	 � ����? ���� �� �������� #������ ��� � ��6� �� 
- 2"���� ��	 



+I, �� )%�����
 $������������ �� ������
� �����������

�����	� *��� !�����	 ��
? *� �	��"6� ���	����� *��� N = 100 #�
��� 	�'�� �	 � ���	�

�� 1000m×1000m �	' ��� '�=���	� ���	�#�����	 ��	��� �� �����	� ��� '�=���	� 	�'�

'�	���"� ��	�����? ����� '*��� ��#�� �	' 	�'� #�
����" ��� �����	 �����'�	� �� ���

���
�
������� #�'��� �����	��' �	 !�����	 ��
��� $	 ����? *� ��� ��� ��#� �	��� '���

��� �'�	����� ���	����� �� ������ ���� ��� ������� �� ���� ������	 ��� ��#����
�� ��

!�����	 ��
� ����? *� ������#�' 4	��� ��#� ����6�	 ��#������	� �� ��	��� 7200s ���

��� ���	�� �	 ��� ������#�	�� ������� ��� ������ ���* ��� #��	 ������ '�����' ���#


- �	'���	'�	� ����������� 7� ���������' ��L ��	4'�	�� �	������� ��� ��� ���	�� �	

��� ������#�	�� ������� 3�� ���'�
����"? *� '�' 	�� �	���'� ��� ��	4'�	�� �	�������

�	 #��� �� ��� ������� (�*����? *� ����� ���� ��� ��	4'�	�� �	������� ��� �����? ����?

< 10L �� ��� #��	 ������

����� ����
� 
� ������ ��	�����	� 
� ��������� &
�������
�

��� &
��	
� )	�4


�� '����#�	� �	 ����#�� ����#���� �����	�? *� ��	'����' �1������� ��#������	� ���

�1�����	� ��� �	���� '����	 ������ 0��� �� ��� ��#������	 *�� �� 4	' � ����#����

�����	� ���� ��	�������� � �����	�
�� ���'� �= 
��*��	 ������	�' ��	�����	�" �	'

��	���� ���;�� 7� �#�� ��� ������� �� ��� ��#������	 ���'��� �	' ���* ��� �������	�

����#���� �����	� �	 ��
�� ��
� $	 ��� ��#��	'�� �� ���� ������	? *� ���� ��� 
�� �	�

����#���� 41�' �� ��� �����	� �	 ��
�� ��
? �	' ���	�� ��� ��#��	�	� ����#���� ��

���������� ��� �#���� �	 ��� �"���# ������#�	���

$	 3����� ��:? *� ���� ������	�' ��	�����	�" ��� ��	���� ���;� ��� �����	� �	�������

TPoll ∈ [10s, 600s]� 7� 4	' ���� ���;� �� �����" ��	������ �� ��� �����	� �	������� ���

��	�������" �� #��� ���	�4��	� ��� � ���	�#�����	 ��	�� �� 75m� &� ���� ���	�#�����	

��	�� ��� ������	�' ��	�����	�" �� ��'���' #���? ����? 
" �
L� 3������ ��'�����	 ��

��� �����	� �	������ "���'� � ���� ���	�4��	� ��'�����	 �� ���;� *��� � ������ ��'�����	

�� ������	�' ��	�����	�" �	 ���� ����� 7� ��	���'� ���# 3����� ��: ���� ��'���	� ���

�����	� �	������ 
�"�	' 60s �� 	�� ������������

������	�� �����

TPoll 60s

TTLPush 10
TTLPoll 6
TrPush 3
TrPoll 1
TOiu 100s

#�'�� )��� &������ �������� �� ������ ����������
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������ )�3� *���������� �� ����� �� ���� ��������

3����� ��� ����� ������	�' ��	�����	�" ��� ��	���� ���;� ��� '�=���	� ������ ��

�����	� 	�* �����	�� ����� �	���#����	? TTLPush ∈ [1, 21]� 7� 4	' ���� ��� ��� 

���	�' ��	�����	�" �� �����" ��	������ �� TTLPush� (�*����? ��� ���	��� 
���' N��' 

�	� �������� ��� ���� #������� ������ ��� ���;� �� �	������ ���������" *��� TTLPush�

���� ��? ��� ������	�' ��	�����	�" ��	 
� �	������' 
" �/L �� 
�L 
" �	������	�

TTLPush ���# � �� ��� &� ��� ��#� ��#�? ��� ���;� �	������� 
" �� #��� �
L� 7�

��	���'� ���# 3����� ��� ���� ���	� � ����� ����� ��� �����	� 	�* �����	�� �	��� 

#����	 �� �	 ����������� ���� ��� �	������	� ������	�' ��	�����	�" *��� ��* ��	����

���;��

3����� ��� ����� ������	�' ��	�����	�" ��� ��	���� ���;� ��� '�=���	� ������ ��

���� #������� TTLPoll ∈ [1, 21]� .����� ���� �����	� ����� �	���#����	 �� � #���

���8��	� ��������	 ���	 �����	� ����� �	���#����	� ����? ���;� �� #��� ��	������ ��



+ID �� )%�����
 $������������ �� ������
� �����������

 0

 0.2

 0.4

 0.6

 0.8

 1

 0  50  100  150  200  250

Su
st

ai
ne

d 
C

on
si

st
en

cy

Traffic (MB)

TTLPoll=1
TTLPoll=2

TTLPoll=11
TTLPoll=21

TTLPoll=1

TTLPoll=2

TTLPoll=5
TTLPoll=11

TTLPoll=21TTLPoll=1
TTLPoll=2

TTLPoll=5

TTLPoll=21

R = 125m
R = 100m
R = 75m

������ )�4� *���������� �� ����� �� �	�� ��������

TTLPoll '������ �� ��� ���	��� 
���' �������� ��� N��'�	� ���� #�������� )�� 

���������? �	������	� TTLPoll ���# � �� / "���'� � ���	�4��	� �	������ �� ������	�'

��	�����	�" ��� ��* �	' #�'��# ���	�#�����	 ��	��� 3������ �	������	� TTLPoll '���

	�� ���	�4��	��" �	������ ������	�' ��	�����	�"? 
�� �	������� ���;� 
" �� �� ��L�

7� ��	���'� ���# 3����� ��� ���� TTLPoll = 6 "���'� �����	�
�� ������	�' ��	��� 

��	�" �� #�'����� ���;��

$	 ��� 	�1� �1����#�	��? *� �	��"6� ��� �#���� �� ��� ��������'� TrPush �	'

TrPoll ��� ��� ���	��� 
���' N��'�	� ���������� ��� ���� �	' ���� #�������� !�� 

���	�' ��	�����	�" ��� ��	���� ���;� ��� ������ TrPush, T rPoll ∈ [1, 10] ��� ���*	

�	 3������ ���- �	' ����? �����������"� 3����� ���- �	'������ � ��* ��	�������" �� ���

���;� �� TrPush '�� �� ��� ��* ���8��	�" �� ���� ��������	�� )�����������? �� �� �� 

��	���� �� ��� TrPush �� � ����� �� �? ��	�� ����� ������ �	������ ������	�' ��	�����	�"


" �� �� �L ��#����' �� TrPush = 1 *���� �	������	� ��	���� ���;� 
" �� #���

�L ��� ���� ���	�#�����	 ��	���� +����� ������ �� TrPush "���' ������ ��	���� ���;�

*������ ���	�4��	��" �	������	� ������	�' ��	�����	�"� 3����� ���� ���*� ���� ���

���	��� 
���' N��'�	� �������� ��� ���� #������� ��'���� ���;� 
" �� �� �/L�

3�� ���� 	�'� '�	���" @R = 125mA TrPoll = 1 �� ����#��? ��	�� ������	�' ��	�����	�"

�� ��#��� ��	���	�� 3�� R = 75m �	������	� TrPoll ���# � �� 
 ���'� �� � ���	 ��

������	�' ��	�����	�" 
" �L? 
�� ��� �''����	�� ���;� �� #��� ��� ���� @
�LA� 7�

��	���'� ���# 3����� ���- �	' ���� ���� ��� ����#�� ��������'� ��� TrPush = 3 �	'

TrPoll = 1? �����������"�

��� ���� �1����#�	� ���*	 �	 3����� ���
 ����� ������	�' ��	�����	�" ��� ��	����

���;� ��� �	���#����	 �� �� '��� ��#����� TOiu ∈ [0, 1500]s� ���� 4���� ���*� ����

�����	� TOiu �� 100s ���	�4��	��" ��'���� ��	���� ���;� *��� �	�" � ������ �#����
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����� ������!� ����
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� ��	�����	�

��#����	� 3����� ��:? ���? �	' ���
 �� 3������ ���? ���-? �	' ���� �	'������ ����

��� ������ �� ��� ���� �	������ TPoll? ��� ����� ��� ���� #������� TTLPoll? �	'

��� �	���#����	 �� �� '��� ��#���� TOiu �� #��� #��� ������� ���	 ��� ������ ��

��� ����� �"���# ����#������ $	 ����������? ��� ������ �� ��� ����� ����#����� ��

�����" '���	'�	� �	 ��� ���	�#�����	 ��	�� R� ,���? ���	� TPoll = 60s �	����' ��

TPoll = 10s ��� ��#��� 	� �#���� �	 ������	�' ��	�����	�" ��� R = 125m *����

�� ��'���� ������	�' ��	�����	�" 
" 

L ��� R = 75m� ����? �	�����' 
" B�)!-�D

*� ������� �	 �'������ �������� ��� �������	� TPoll? TTLPoll? �	' TOiu� ���� ��?
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���� 	�'� ����� ����� �� ��� 	�#
�� �� 	�'�� �����	��" ������' �	 ��� ���	�#�����	

��	��� ���� ��	 
� �����" ����#������' 
" � 	�'� n 
" ���	��	� ��� 	�'�� m *���

dn,m = 1� %���	'�	� �	 ��� �����	� 	�#
�� �� 	�'��? TPoll? TTLPoll? �	' TOiu ���

��� �����'�	� �� ��
�� ���� 7� '� 	�� ���* ��� �1����#�	�� ��� '����#�	�	� �����

������? 
�� ����� �� !�����	 ����� ��� �	 �����������	 �� ��� �#���� �� ��� �'������

��������	 �	 ��� ������	�' ��	�����	�" �	' ��	���� ���;� �� !�,,%�

����� ��	�
	���
� &
���	��
� "��% �� .�����,��  �

���#

���	
�
%

�� ���* ��� �=������	��� �� !�,,%? *� ��#���� ������	�' ��	�����	�" �	' ��	 

���� ���;� �� ��� ������#�	�� 
��	'� ���������' ��� E2 �	' �� ��� ������ �������'


" �	 ����#�6�' N��'�	� �������� �	�����' 
" F2� �� ������� ��#����
�� �������?

��� N��'�	� �������� ���� � ���	��� 
���' N��'�	� ����#�6����	 *��� ��������'

TrPush = 3? *���� ��� 
��	 �����	 ����#�� �	 � ��#������	 ���'" 	�� ���*	 �����

3������#���? ��� N��'�	� �������� ���� �'������ ��������	 �� TPushf looding *��� ��� 

��	�� ����	 
" ��
�� ����

3������ ���� �	' ���� ��#���� ������	�' ��	�����	�" �	' ��	���� ���;� �� ���

� �������	
 � � � � � � � � 	 
 �� �� �� �� �� � ��

TP oll �
� �� �� �� �� �� �� �� �� �� �� �� �� 	� ��� ��� ���

TTLP oll � � � � � � � � � � � � � � � �

TOiu �
� �� �� �� �� �� 
� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���

TP ush �
� �� �� �� �� �� �� �� �� �� �� �� ��� ��� ��� ��� ���

#�'�� )�$�  ������� ��������� �������� ��� *�""& ��� ��� :������ '����

��������



���� ���������
� ��	���� +I6

 0

 0.2

 0.4

 0.6

 0.8

 1

 40  60  80  100  120  140  160  180  200

Su
st

ai
ne

d 
C

on
si

st
en

cy

Transmission Range (m)

Flooding
SPEED

Theoretical

������ )�	$� *�������� ����������� ��� ��-����� ������ ������������

 0

 20

 40

 60

 80

 100

 120

 140

 40  60  80  100  120  140  160  180  200

T
ra

ff
ic

 (
M

B
)

Transmission Range (m)

Flooding
SPEED

Theoretical
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N��'�	� ��������? ��� ����������� ����#�# �	' !�,,% ��� '�=���	� ���	�#�����	

��	���� 3�� ���������	� ��� ��	���� ���;� ��	�����' 
" ��� ����������� ����#�#? *�

����#� ���� ���� #������ ��� � ��6� �� �
 
"���� &���	? ��� ����#����� ����	 
"

��
�� ��
 ��� ���' ��� !�,,%? *��� �1������	 �� TPoll? TTLPoll? �	' TOiu? *����

��� �����	 �'�������" �����'�	� �� ��
�� ����

3����� ���� ���*� ���� !�,,% ������#� �8��� �� 
����� ��#����' �� ��� N��' 

�	� ���������� �	 ���#� �� ������	�' ��	�����	�"� $	 ���������� �	 ���	����� *���

���	�#�����	 ��	��� R ≤ 115m? !�,,% �� �������� �� ��� N��'�	� �������� *���

� ������#�	�� ���	 �� �� �� 
-L� .����� ���# 3����� ��� ���� 	��*��� ��������	�

���8��	��" ����� �	 ���� ���	����� *���� ��	������� � ���'�� �� N��'�	� �� �����	��

�	���#����	? 
�� ��	 
� ��������' 
" ���'�#�� '����#�	����	� 3�� ���	�#�����	 ��	���

R > 115m? ��� N��'�	� 
���' �������� ������#� �8��� �� !�,,% *��� ������� ��
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� �����������

������	�' ��	�����	�"? ��	�� �	������	� ��		�������" ������ N��'�	�� (�*����? 3�����

���� ���*� ���� �	 ���� ���	����� !�,,% ����� �� �� ��L �� ��� ��	���� ���;� ��	 

�����' 
" ��� N��'�	� ��������� )��� ���� ��� N��'�	� �������� ��	������ #���

���;� �	 ���	����� *��� #�'��# ���	�#�����	 ��	���� ����� ���	����� �1��
�� �����

	��*��� ��������	�T ��*����? #��� 	�'�� ��� ��		����' 
" ������ *��� #�	" �����

����? N��'�' #������� #��� 
� �����	�#����' ������� ��#�� �� ����� ����" 	�'� �	

� 	��*��� ��������	� $	 ��	�����? ��� ��#
�	����	 �� ���'�#�� '����#�	����	? �����	�?

�	' '������' N��'�	� ���' 
" !�,,% �	����� ���� �����	�� �	���#����	 �� �	�"

���	�#����' 
��*��	 	���
" 	�'���

��#����	� 
��� ��� ������	�' ��	�����	�" �	' ��� ��	���� ���;� ��	�����' 
"

!�,,% �� ��� ����� �	' ��*�� 
��	'? �����������"? ���*� ���� *��� ��� ��	4�� 

�����	 �����	��' �	 ��
��� ��
 �	' ��� ������#� ����� �� ��� ����#�# *��� �������

�� ��	���� ���;�� (�*����? ����� �� #��� ����� ��� �#�����#�	� *��� ������� ��

������	�' ��	�����	�"� .����� ���� !�����	 ����
 '�#�	������' � ���	�4��	� ���'� �=


��*��	 ���;� �	' ������	�' ��	�����	�"� ����? '���	'�	� �	 ��� ��8����#�	�� ��

��� ����������	 ��� ����#����� ����	 
" ��
��� ��
 �	' ��� ��	 
� �����" #�'�4�' ��

������� � ������ ������	�' ��	�����	�" �� ��� �1��	�� �� �	������' ��	���� ���;��

 �* #�����$

$	 ���� �������? *� �����'�' � ��#�����	���� �	��"��� �� ���������� ��� '����#�	�� 

�	� ���8��	��" ���	��	� �����	�� �	���#����	 �	 �����" ��������	�' #�
��� �' ���

	��*����� 7� �������' ������	�' ��	�����	�" �� � #������ ��� ��� ������	�� �� ���

�����	�� �	���#����	 '�����
���' *����	 ��� �"���#� &� ������� ������#�	�� #�������

�� �	������ *� ��	��'�� ��� ��	���� ���;�� 7� ��#����' ������� ���������� ��� ���� 

�	�� �	���#����	 '����#�	����	 �	 ���#� �� ����� 
��	'� ��� ������	�' ��	�����	�"

�	' ��*�� 
��	'� ��� ��� ��	���� ���;�� &�� 
��	'� *��� '�����' 
" '������� ���	�

��#������	 
���' �	 � ���� ����� ���������� #�'�� �� ��� $� �"���#� 7� ���*�' ����

�	 �������� ���� ���� ���'�#�� '����#�	����	 �� �����	�� �	���#����	 
" �	� ��#�

�����	� �� ����� �	���#����	 �� ��� ������
�� 	�'�� �	' ���������� �����'���� �����	�

��� �� �� '��� ����� �	���#����	 �� ��� ��	����� ��	�������� ��� #����' �� �������

2���' �	 ��� ������#�	�� 
��	'�? *� �����	��' !�,,%? ��� !"���# ��� �����	��

�	���#����	 ,1���	�� 
" ,��'�#�� %����#�	����	 �	 � �&),�� !�,,% ��#������

����#�6�' #�1 �� ��	������' N��'�	�? �����	�? �	' ���'�#�� '����#�	����	 �� �	��� 

#����	� $	 � '������' ��#������	 ���'" *� ����������' ��� �#���� �� '�=���	� '����	

����#����� �	 �"���# ������#�	�� �	' �������' �'������ ��������	 �� ��� ���� �	 

������? ��� ����� ��� N��'�	� ���� #�������? �	' ��� �	���#����	 ��#���� 
���' �	
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��� 	�#
�� �� 	�'�� ������' �	 ��� ���	�#�����	 ��	��� & ��#������	 �� �	 ���� 

#�6�' �������� 
���' �	 �����'���� N��'�	� �� �����	�� �	���#����	 ������� ����

���'�#�� �	���#����	 �	������� ������	�' ��	�����	�" ��� �#��� ���	�#�����	 ��	���?

*���� �� ��'���� ��	���� ���;� ��� ����� ���	�#�����	 ��	���� $	 ����? ��� ���	�#�����	

��	��� �� �� 115m !�,,% �������� �� �� 
-L ������ ������	�' ��	�����	�" ���	 ���

N��'�	� 
���' �������� *���� ��� ������ ���	�#�����	 ��	���? ���'�#�� �	���#����	

'����#�	����	 ����� �� �� ��L ��	���� ���;�� & ��#������	 
��*��	 !�,,% �	' ���

����������� 
��	'� ������� ���� ��� �����	��' ��	4�������	 �� !�,,% �������� ����

���;� �;���	�" �� ��� �1��	�� �� ��'���' ������	�' ��	�����	�"� (�*����? ��� ��	�� 

�����" ���'��� ���* ���� !�,,% ��	 
� �����" ��	4����' �� ������� ������ ������	�'
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��&��
�%� "1' )�'� n �������� � �������� #������

 .����	���$	8����� W 	 �%
�

 �� ���� �	��" (k, a, s) ∈ Response ��


 a < an,k �%
�

!�� rn,k := s �	' an,k := a


��


Redundant = ∅

 �� ���� �	��" (k, a, s) ∈ Response ��


 k = n �%
�

��#��� �	��" (k, a, s) ���# Response


 k ∈ Cn �� k ∈ Cachen �%
�


 a ≤ an,k �%
�

&'' k �� Redundant


 a < an,k �%
�

!�� rn,k := s �	' an,k := a


��


��#��� �	��" (k, a, s) ���# Response


��


&'' �	��" (k, a, s) �� Cachen

q := Response.InquiringNode

r := Response.Origin


 dn,q < dr,q �	' Response.TTL > 0 �%
�


 3��*��'>���� ��	���	� � �����	�� �� ���� ���� �%
�

&'' Response �� 8����' �����	��

*������ ��'�� �	����� ��� �������'


��


Δ 9W uniformrandom(0, 1]

Response → ForwardQueue *��� Δ


��


 �� ���� �����	�� #������ �	 ForwardQueue ��

.�#��� ��� (k, a, s) *��� k ∈ Redundant



���	��
 %

���������� ��
����& �"  	�
����

��"�
������ !������������

&� �������' �	 !�����	 
��? 
�=��� �� 4	��� ��6� ���� 
��	 	������ ��	��'���' �	 �����	�

��������� ��� ,$% �"���#� 	�� �	 ������#�	�� #�'��� �� ���� �"���#�� 3������#���?

��� #�'���	� ���������� ������# ���	���	� �	��"���? �	' ��#� ���	 ��8���� �= ��	�

��#������	� �� '����#�	� #�'�� ����#������ ���� ������� �����	�� �	 �����1�#���

#�'���	� �������� ��� ��������	� ��� ����'" ����� ������#�	�� �� ,$% �"���#� *���

4	��� 
�=��� �	' +���� .���	��" <��' �������#�	� *������ ��8����	� �= ��	� ��#� 

�����	�� &� � 4��� ���� ��*��'� ���� �	 ��������? *� ���* ���� ,$% �"���#� *���

4	��� 
�=��� ��	 
� #�'���' 
" '������� ��#� ������ ����	� @%����A� 7� '�����

�����#�6�' %���� ��� ��� ,$% �"���#� :%! �� '�����
�' �	 B�!-�D �	' �%$ ��

'�����
�' �	 ������� ��
� <	�����	����"? ��� ����� ����� �� ��� %��� #�'��� ���*�

�1��	�	�����" �	 ��� 	�#
�� �� 	�'�� �	' �	 ��� 	�#
�� '��� ���#� �	 ��� �"���#�

����? ��� #�'�� ��		�� 
� �����6�' ��� ��� 	�#������ ��#�������	 �� ����'" �����

������#�	�� #�������� )�����������? *� �����	� �	 �����1�#����� �������� ��� #�' 

���	� ��� ����'" ����� ������#�	�� ��� ,$% �"���#� ���� ���4�� ������	 ��	�����	���

<��	� ���� �����1�#����� ��������? � ������#�	�� #�'�� ��� :%! �� '�����' �	'

�#���"�' ��� � ��#�����	���� ������#�	�� ���'"� 2��� ��� �����1�#����� #�'���	�

�������� �	' ��� ������#�	�� ���'" �� :%! ���� 
��	 ��
�����' �	 ��� ������'�	��

�� ��� ��	����	
���� '��������� �� ����&�����	 5 �����
�� �� '���&	�� ���	���

@�'� ��%��)#�'� ",,2 A B+7-�
D�

���
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3�� '�����	� ���������� #�'��� �� ,$% �"���#�? ��	��'�� � �"���# ���� #�	���� �

��� �� '����	�� '��� ���#� D *��� ���'�	����" |D| = D� ��� '��� ���#� ��� #�����'


" ��"� ���# � ��� K *��� ���'�	����" |K| = K� 3�� ���� �� �1�������	? *� �'�	���"


��� ��� '��� ���#� �	' ��� ��"� *��� 	������ 	�#
���? ����? D = {1, 2, . . . , D} �	'

K = {1, 2, . . . , K}� $	 ��� ��#��	'�� �� ���� �������? *� ��� d *��� 0 ≤ d ≤ D �	'

k *��� 0 ≤ k ≤ K �� '�	��� '��� ���#� �	' ��"�? �����������"� & 	�'� ��	'� �

8���" ��� � ��" k �� �������� � '��� ���# d #�����	� ��" k� !�#���� �� !�����	 ���?

*� ����#� ���� ��� 8���" �����# �����*� ��� �	'���	'�	� ������	�� #�'��� ���� ��?

���� ��" k ��� ������ ���
�
����" α(k) *����
∑K

k=1 α(k) = 1? �	' ��� � 8���" qi

���'� P (qi = k) = α(k) �����'���� �� ��� ������" �� �������� 8������� 7������ ���� ��

��	������"? *� ����#� ���� α(k) > 0 ���'� ��� ��� k ∈ K? ��	�� � ��" k *��� α(k) = 0

*��� 	���� 
� ��8�����' �	'? ����? '��� 	�� �=��� ��� ����� �� ��� �"���#� !�	�� ���

���� �� ���� ������� �� �� �����'� �	����� �	�� ��� 
���� #����	��#� ���� '���� �	

,$% �"���#? #�'�4�����	� �� �1�������	� �� '��� ���#� ��� 	�� ��	��'���'� ����? ���

8���" ���������" '�����
����	 α �� ����#�' �� 
� ��	���	� ���� ��#��

.����� ���# �������� 
 �	' � ���� ,$% �"���#� ��� ����������	 �����4� ��"� �	'

'��� ���#� *��� #�	" �� #�	" #�����	�� ���� ��? ���� ��" k #������ � ��� �� '���

���#� Sk ⊆ D? �	' ���� '��� ���# d �� #�����' 
" � ��� �� ��"� Rd ⊆ K� (�*����?

�� �� ���" �� ���* ���� ���� #�	" �� #�	" #�����	� ��	 
� #����' �	 � �	� �� �	�

#�����	�� +�� γk(d) '�	��� ��� ���
�
����" ���� � ���� �������� ��� ���# d *��	

��	'�	� � 8���" ��� ��" k? *��� 0 < γk(d) ≤ 1 ��� d ∈ Sk? γk(d) = 0 ��� d �∈ Sk? �	'∑
d∈Sk

γk(d) = 1� ���	? ��� ������� ���
�
����" α′(d) ��� ��� ������ �� '��� ���# d

��	 
� ��#����' 
"9

α′(d) =
∑
k∈Rd

α(k)γk(d) @���A

�
������"? *� ��	 '�4	� � 	�* ��� �� ��"� K′ = {1, 2, . . . , d} *��� ������ ���
�
�������

α′(d) ����	 
" ,8�����	 ���� ���� ��? �� ���'� |D| = |K|? Sk = {k} ��� k ∈ K′? �	'

Rd = {d} ��� d ∈ D� ����? � �	� �� �	� #�����	� 
��*��	 ��"� k ∈ K′ �	' '���

���#� d ∈ D ��	 
� '�4	�'� 7������ ���� �� ��	������" *� ����#� � �	� �� �	�

#�����	� 
��*��	 ��"� �	' ������ �	 ��� ��#��	'�� �� ���� ������	 �	' '�	��� 
���

��"� �	' ������ *��� k ∈ K�

&� ��	���� �"���# #�'��? ��	��'�� � �&),� *��� � ��� N �� #�
��� 	�'�� ����

����������� �	 �	 ,$% �"���#? |N | = N � $	 ��� ��#��	'�� �� ���� �������? *� ���

n �	' m *��� 1 ≤ n, m ≤ N �� '�	��� #�
��� 	�'��� ,��� 	�'� ��	'� 8������ ��

�������� '��� ���#�� 3������#���? ���� 	�'� ��	���
���� � 
�=�� *��� 4	��� �������"
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�� B '��� ���#� �	' +.< �������#�	� �� '�����
�' �	 !�����	 ��
 �� ��� �"���#�

��� �&),� ���	� �	 ���� A = a× a �� ��6� A = a · a� 7� ����#� ���� ��� #�
���

	�'�� ��� �	������" '�����
���' *����	 A �����'�	� �� �	 ��
�����" '�����
����	� ��

�	��������� 	�'� #�
����"? *���� �� ����	���� ��� ���'�#�� '����#�	����	 �� �	���#� 

���	? �����*�	� !�����	 ��� *� ��	��'�� � #�
����" #�'�� ����	 
" � ��	��	���� ��#� 

��	��	���� ����� ���������� ������� (Xn(t), Yn(t)) ���� '�����
�� ��� �������	 �� 	�'�

n �� ��#� t� ��� #�
����" #�'�� �	������� *��� ��� ,$% �"���# 
" '����#�	�	� ��� 

��
�� ��##�	������	 ��������	� �������� *��� ��� ��'�� ����������	 #�'��� 3�� ���

��'�� ����������	 #�'��? *� ����#� ���� � #������ ���	�#�����	 
��*��	 �*� 	�'��

n �	' m �� ���������� �� ��#� t *��� ���
�
����" f(d) ��� d ����	 
" ��� ,����'��	

'����	��? ����?

d =

√
(Xn(t) − Xm(t))2 + (Yn(t) − Ym(t))2. @��
A

3�� ���� �� �1�������	? *� ����#� ���� ��� 	�'�� ���� � ��#���	��� ���	�#�����	

��	�� R �	' 	� ������ '�����
 � ���	�#�����	� ���� ��? *� ���� f(d) = 1 ��� 0 ≤ d ≤ R

�	' f(d) = 0 ��� d > R� (�*����? *� ���	� ��� ���� ��� ���������� �����	��' �	 ����

������� ��	 
� �����" �1��	'�' �� ��	��'�� #��� ������������' ���	�#�����	 #�'����

3�� '�����	� � ���������� #�'�� �� �	 ,$% �"���#? *� '� 	�� ��	��'�� ��� #�
����"

#�'�� �	 '�����? 
�� #��� �*� ����#����	�9

�� ��� #�
����" #�'�� ���'� �� � �	����# ����'" ����� ������� '�����
����	 �� ���

#�
��� 	�'�� *����	 ��� ���� A �	'


� ��� #�
��� 	�'�� ���	�� �������	� ��
���	�����" 
��*��	 �*� ���������� 8�������

���� ��? ��� 	�'� �������	� ��	 
� ��	��'���' �� 
� �����	 �	'���	'�	��" ���# ���

���� A 
" � �	����# '�����
����	 
����� ���� 8���"� �	 ��� 4��� �����? ����� ����#� 

���	� ���# �� 
� ���" ����������� ��*��'� ��� #�
����" #�'��? ��	�� #��� #�
����"

#�'��� '� 	�� �1��
�� ����� ����������� (�*����? *� ���* �	 !�����	 ����� ���� ���

������� '����#�	�' 
" ��� ���������� #�'�� ������" #���� ��� ������� �� � '������'

��#������	 ���'"? ���	 �� ��� #�
����" #�'�� �#���"�' �	 ��� ��#������	 #�'�� ��� 

����� ��� ����#����	� @�A �	' @
A� )��� ���� ���	� ��� ����#����	� �	 ��� #�
����"

�	' ��� ��'�� ����������	 #�'�� �	' 	�������	� 
��'�� �=����? ��� ���
�
����" ����

�*� 	�'�� n �	' m ��	 ��##�	����� �� ��#� t ��	 
� �����1�#���' 
" ��� ���
� 


����" ���� n �	' m ��� ������' �	 ���� ������ ���	�#�����	 ��	��� $� �� ���" �� ���

���� ���� �����	� �� 	�'� m �� �����' *����	 � �������� ���� *��� ��'��� R ����	'

	�'� n? �������	� �	 � ���
�
����" �� πR2

A
=: ρ�

7� ����#� ���� ���� 	�'� ��	'� 8������ *��� �	���������� ��#�� '����#�	�' 
"

� ������	 ������� *��� ���� λ� 3��# � ���
�� �����������? ��� ���
�� 8���" �����#
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�
�����' �	 ��� ,$% �"���# ��	 
� '�����
�' 
" � ��8��	�� �� 8������ q1, q2, . . . � %��

�� ��� ����#����	� �� ������	 ��������� ��� ��	�����	� ��� 8���" �	���������� ��#��

�	' ��� �	'���	'�	� ������	�� #�'�� ��� �������	� ��� 8������? ��� 8���" �����# qi

��� ��#� �#�����	� ����������9

�� ��� ���
�� 8���" �	���������� ��#�� ��� '����#�	�' 
" � ������	 ������� *���

���� Nλ�


� ��� 	�'� ni ���� ��	'� � 8���" qi �� �����	 ���# N �����'�	� �� � �	����#

'�����
����	�

�� 3�� ���� 8���" qi? � ��" k �� �����	 *��� ���
�
����" α(k)�

��	�����	� *��� ������� �? *� ����� �� � 	�'� ���� ������ � 8���" qi �� ��� 
�4&
�
��

���� ��� 8���" qi�

$� �� �����	�
�� �� ����#� ���� ��� � ����	 ,$% �"���#? ��� �	8����	� 	�'� ���

� 8���" qi 4��� �������� ��� ����� 
�=�� ��� � '��� ���# #�����	� ��� 8���" �	'

��
��8��	��" ��	'� � ���	
 #������ �� � ��� �� ����� 	�'��� $	 ��	����? ���� ��� ��

'����#�	�' 
" ��� ,$% �"���# �	' ��	�������� � ��
��� �� ��� ��� �� ��� ������
��

	�'��� .����� ���� 	�'� ������
����" �� '����#�	�' 
" ��� 	�'� �������	� ����	 
"

��� #�
����" #�'�� �	' ��� ��'�� ����������	 #�'��� 7��	 �������	� � ���	
 #�� 

����? � 	�'� ���� ������ ��� #�����	� '��� ���# �	 ��� 
�=�� ��	������ � ��������

#������ ���� ��	���	� ��� ���#� +��� � ���	
 #������? � �������� #������ ��

��	� �� � ��
��� �� ��� ������
�� 	�'��� &���	? ���� ��
��� �� '����#�	�' 
" ��� ,$%

�"���#� )�'�� ���� ������� ��� �������� #������� �1����� ��� '��� ���# �	' �	����

�� �	�� ����� ����� 
�=��� $	�����	� �	 ���# #���� ����� � �������#�	� �� �	 �����

���# 
" ��� +.< �������#�	� ����#�� )��� ���� �	'�� ��� ����#����	 ���� ���#�

��� �	�" �����' �	 ��� 
�=��� �� ��� #�
��� 	�'��? �� #�" �����	 ���� �	 ���# d

�� �������' �� ��� 	�'��� !�
��8��	��"? ��� ���# *��� 
� �	������
�� ��� ��� ��#�� ��

����' ���� ��������	�? *� ����#� ���� ���� ���# d �� �	������" �����' 
" �1����" �	�

#�
��� 	�'�� ��	�����	� *��� ������� �? ���� 	�'� �� '�	���' �� ��� ��
�
� ���� ��

���# d� ��� ��������	 �� ��� �����	 	�'� ��� ���# d '���	'� �	 ��� ,$% �"���# �	'

��� ����������	 ���	����� & '��� ���# �� ������
�� ���# ��� �����	 	�'� �� ��� ��#�?

���	 �� �� �� 	�� �����' �	 ��� 
�=�� �� �	" ����� 	�'��

.����� ���� ���� #�
��� 	�'� #��	���	� � 4	��� 
�=�� �� ��6� B *��� +.< �� 

�����#�	�� 3������#���? ���	� ��� ����#����	� �	 ��� #�
����" #�'��? *� '� 	��

���� �� ��	��'�� 	�'� �������	� �	' ��� ����� �� ��� �"���# �� ��#� t ��	 
� ��# 

������" '�����
�' 
" ��� ��	��	� �� ��� 
�=��� �� ��� 	�'��� !��� ����� '���������	

��	�������� � ��	�����6����	 �� ��� ����� '���������	 �� � ���	' ���	� +.< �����	�
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�"���# B���:�D� )��� ���� *� ��	��'�� �	 ,$% �"���# �	 ����'" ����� �	' ��	 ����#�

*������ ���� �� ��	������" ���� ��� 
�=��� ��� 4���'� ����? �� ��#� t ≥ 0 ��� �����

Sn(t) �� ��� 
�=�� �� 	�'� n �� � ���#������	 �� B ���#�	�� ����	 ���# K� ���� ��?

Sn(t) = [ln,1, ln,2, . . . , ln,B]? *��� ln,i ∈ K �	' ln,i �= ln,j ��� i �= j� ��� ����� �� ���

�	���� �"���# S(t) �� ����	 
" S(t) = [S1(t), S2(t), . . . , SN(t)]� )��� ���� ��� �"���#

���
(

K
B

)N
�������

7��� ���� #�'�� �� ��� ����� �����? � ����� ���	�����	 S → S ′ �� ��������' 
"

8������ �	' ��� ��������� ����� S ′ '���	'� �	 ��� ��##�	������	 ��������	� ����

������ ���# � 8���"� ��	�����	� *��� !�����	 ���? *� ����#� ���� ��##�	������	

���	�� ��� ��#����� ���	��� ����? ��� ���	
 �	' �������� #������� ��� �1���	��'

�##�'�����" ����� � 8���"? ���'�	� �� � ��	��� ����� ���	�����	? �	' ��� ����� ���	���

��� ��������' 
" 8������� 0���	 � ���������� ,$% �"���#? ��� ����� ���	�����	 ���
� 


������� �� ��� �"���# ��� '����#�	�' 
"

�� ��� ��	��	� �� ��� 
�=��� �	 ��� �����	� �����?


� ��� ������ ���
�
������� α(k) ��� ��" k? �	'

�� ��� �����
����" �� ��##�	������	 ���	�� '���	'�	� �	 ��� �����	� 	�'� ���� 

���	��

��� 
������� �� ��� �"���# ��	 
� '�����
�' 
" � ��	��	���� ��#� '������� �����

���������� ������� St = {S(t)|t ≥ 0}� $	 ����? St ��	�������� � ��	��	���� ��#�

������ ����	 @����A� �� �����" ��� ������ �������" �� St? ������ ���� �� ��	 

��8��	�� �� ��� �	'���	'�	� ������	�� #�'�� ��� ������ ���
�
����" α(k) ��� � ��" k

�	 ����� S(t) �� �	'���	'�	� ���# ��� ������" �� ������ S(t′) ��� t′ < t� 3������#���?

��� 	�'� �������	� ��� ���� �	'���	'�	� ���# ��� ������" �� ������ '�� �� ����#����	

@
A �	 ��� #�
����" #�'���

��	��'�� �	 �	4	��� ��8��	�� �� �	���	��� �� ��#� t1, t2, . . . ? *���� ti '�	���� ���

�	���	�� �� ��#� �� 8���" qi� $� �� ���" �� ��� ���� � '������� ��#� ������ ����	

@%���A Si = {Si|i ∈ IN} *��� Si = S(ti) ��	 
� �#
�''�' �	�� ��� ���� St� 2"

��	��������	? ��� ����� ���
�
����" '�����
����	 �� Si �	' St �� �'�	����� ��� t = ti�

3������#���? ��� 	�1� ����� ���
�
������� ��� �'�	����� ��� Si �	' St� $	 ��� ��#��	'��

�� ���� �������? *� *��� ��� �
	 ��	�? ����? ��� �������	 �� 8������ ��� *���� � �����	��

�� �����������" �������'? �� #�M�� ������#�	�� #������� ��� ��� ���� �� '����#�	�'


" 
��� ��� ���
�
����" ���� 8���" qi �� ���������� �	 ��� �����	� ����� Si = S �	'

��� ����� ���
�
����" P (Si = S)� ����? ��� ��� ��#�������	 �� ��� ��� ���� �� '���

	�� #����� *������ ��� ���� St �� ��� %��� Si �� ���'� 3�� ��*�� ��#�������	��
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 �������& �� )%�����
 ����������� $������������

��#���1��" �	' ���� �� �1�������	? *� *��� ��� ��� %��� Si ��� '�����	� �"���#

���������� �	' ������#�	�� #������� �	 ��� ��#��	'�� �� ���� ��������

+�� p (S, S ′, k) '�	��� ��� k ���� ���	�����	 ���
�
����" �� ��� %��� Si ���# �����

S �� ����� S ′? �	' P *��� Pij = p(Si, Sj, 1) '�	��� ��� ���	�����	 #����1 �� S(i)�

$	 ��� ��#��	'�� �� ���� ������	 *� ����� ��� �1����	�� �� � ������	��" ���
�
����"

'�����
����	 
���' �	 ��� ����#����	� #�'� �
���� ���� ��? ����� �1���� � ������ π

*��� '�#�	���	 S :=
(

K
B

)N
? 0 ≤ π(i) ≤ 1 ��� 1 ≤ i ≤ S? �	'

∑S
i=1 π(i) = 1? ��� *����

���'� π = πP�

3�� ���� �� �1�������	 ���������� ��� �����? *� ����#� ���� ����� �� � '�'�����'

����� 	�'�? *���� ���� �� �����	 	�'� ��� ��� '��� ���#�� ,��� '��� ���# ��	 
�

��������' ���# ��� ������ 	�'� *��� ���
�
����" ρ �	 ���� 8���"� ��� ������ 	�'�

'��� 	�� #��	���	 � 
�=�� ������� ����? ��������	 �� � ���	
 #������ 
" ��� ������

	�'� '��� 	�� 	���������" ���	�� ��� ����� �� ��� �"���#�

,%
��
� $1�1� )�� �)�' Si ��� � &�
4&� �	�	
����� ������
�
	� �
�	�
�&	
�� π8

)��	 
�C 
	 �*
�	� � &�
4&� ���	�� π 

	� �
����
�� SC
∑S

i=1 π(i) = 1C ��� π = πP8

���� ���� ����� ��	�������� � ��	�����6����	 �� ��� ����� �� �1����	�� �� � �	�8��

����'" ����� ���
�
����" '�����
����	 �� � ���	' ���	� +.< �����	� �"���# B���:�D�

&����'�	� �� B���-
D? ��� � ���#�� ����� �� ��� �1����	�� �� � ������	��" ���
�
����"

'�����
����	 π �� �� ��;���	� �� ���* ���� ��� %��� Si �� 4	���? ������'��? �	'

����'���
��� .����� ���� ��� %��� �� 4	��� 
" '�4	����	� �� ����� ���� ��� %���

�� ������'�� �	' ����'���
��? �� �� ��;���	� �� ���* ���� ��� �*� ��
�����" ������ S

�	' S ′ ���'� p(S, S, 1) > 0 �	' p(S, S ′, t) > 0 ��� �	 �	����� t > 0? �����������"�

&���#� ���� ��� %��� �� �	 ����� S = [S1, S2, . . . , SN ] *��� Sn = [ln,1, ln,2, . . . ,

ln,B]� ��� �"���# ���"� �	 ����� S? ����? �� � 	�'� n ������ � 8���" ��� ��" ln,1 �	' 	�

����� 	�'� m �= n �� ������
��� &	 �1������	 ��	�������� ��� ������ 	�'�? *���� #�"


� ������' 
" ��� ���	
 #������ �	'? ��
��8��	��"? #�" ��	����� � ��������?

��	�� ���� '��� 	�� ���	�� ��� ����� �� ��� �"���#� .����� ���� 
���' �	 ��� �� 

��#����	 �	 ��� 8���" ������� ��� ���
�
����" ���� � 8���" �� ��	' 
" 	�'� n �� 1
N

�

3������#���? ��� ���
�
����" ���� �	" 	�'� n �= m �� ������
�� 
" 	�'� n �� ����	


" ρ '�� �� ��� ����#����	 �	 ��� #�
����" �	' ��'�� ����������	 #�'���� ����? ��

���'�

p (S, S, 1) ≥ 1

N
α(ln,1) (1 − ρ)N−1 > 0, @���A

���� ��? ��� %��� Si �� ������'���

3������#���? ��	��'�� �*� ������ S = [S1, S2, . . . , SN ] �	' S ′ = [S ′
1, S

′
2, . . . , S

′
N ]

*��� Sn = [ln,1, ln,2, . . . , ln,B] �	' S ′
n =

[
l′n,1, l

′
n,2, . . . , l

′
n,B

]
� �	� �����
�� ��8��	�� ��
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8������ ���� ���'� �� � ����� ���	�����	 ���# S �� S ′ �� ��� �����*�	� ��8��	�� �� NB

��8�����9 3����? 	�'� 1 ��	'� 8������ ��� ��"� l′1,B, l′1,B−1, . . . , l
′
1,1� ���	? 	�'� 2 ��	'�

8������ ��� ��"� l′2,B, l′2,B−1, . . . , l
′
2,1 �	' �� �	� &� ���� 8���" 
" 	�'� n? 	� �����

	�'� m �= n 
�� ��� ����� 	�'� �� ������
��� 0���	 ���� ��8���� ��8��	��? �� ���'�

p (S, S ′, NB) ≥
(
ρ (1 − ρ)N−1

)NB
N∏

n=1

B∏
i=1

α(l′n,i) > 0, @���A

���� ��? ��� %��� Si �� ����'���
���

/���� &���
��,��# �%� -�	0
! -
��� �
	 5��

���� ������	 ���� :%! �� � 4��� �1�#��� ��� ��� �����#�6����	 �� ��� %��� #�'��

�����	��' �	 !�����	 ��� ��� � ���������� ,$% �"���#� .����� ���# !�����	 
���
 ����

���� #�
��� 	�'� ��		�	� :%! #��	���	� � ����� �����? ����? � '�������" �	 ��� �����

'���? ��� �����	� 7�
 ������ �� ���� ���#�	����" ��	�����	�? *� '�	��� ��� ����� ��


�=�� �	 ��� ��#��	'�� �� ���� �������� �� 8���" ��� 
�=�� �� ��#��� 	�'��? :%!

���� ���	
 �	' �������� #�������� & 	�'� ���� �������� ��� � 7�
 ���� ��	'� �

���	
 #������ �� ��� ������
�� 	�'��� �	 � ���? � ��#��� 	�'� �����	� � ��������

#������ �� ��� �	8����	� #�
��� 	�'�� ��� �	8����	� 	�'� ��
��8��	��" ���	����� ���

7�
 ���� �	' ������ �� �	 ��� ����� ������ 7������ ���� �� ��	������"? ��	�����	�

*��� B�!-�D *� ����#� ���� � 7�
 ���� �� ���	�����' �� ��� �	8����	� 	�'� �� ��

����� �	 #�
��� 	�'� ��	'� � �������� #������� 3�� ��� �1�#����" �����#�6����	

�� ��� %���? *� '� 	�� ��	��'�� ��� �'��	��' :%! �������� ��*�� ��	��������	?

������ ����	� #�'� �	' 8���" ���������	� (�*����? ��� �#���� �� ����� �������� �	

��� ����'" ����� ������#�	�� �� :%! �� �	��"6�' �	 !�����	 ��
 ���	� �	 �����1�#���

�������� ��� ��� ����'" ����� �	��"����

��� '����	 �� :%! �����	��' �	 B�!-�D ����#�� � 
�=�� �� �	4	��� ��6� �	' ������

�� �� ��� ���� �� ��#��� 7�
 ����� ���� ��� ��� �� '��� �� 	� ��	��� �� �	������ �	

��'�� �� ���� '��� ������ (�*����? ��� #�
��� 	�'�� ���� �� �%&� �� ���	 !#���

���	��? ������� �������" �� ������� ����? *� #�'�� �	' �	��"6� :%! *��� � 4	���


�=�� *��� � �������" �� B *�
 ����� �	' +.< �������#�	�� )��� ���� *�
 �����

#�" ���� '�=���	� ��6�� �	'? ����? � #��� �;���	� *�" �� #�	��� ��� 
�=�� ��

�� ��#�� ��� ����� 
�=�� ����� �������' 
" ��� *�
 ����� ������ ���	 ����� ���	��

(�*����? ��� � ������#�	�� �	��"��� �� :%! *��� 4	��� 
�=���? *� ��� �������#�	�


���' �	 ��� 	�#
�� �� 7�
 ����� �����' �	 � 
�=��� ��� ������� �����	��' �	 ����

������� ���' ��� ����� #�	���#�	� ���������� �� ��� 
�=�� ��6� B �� ��������" �����	�

& �����������*��' *�" �� �	��������� +.< 
�=�� #�	���#�	� �	�� :%! �� ��

��'��� ��� +.< ����� �	 ���� ������ �� ��� ����� 
�=��? ����? ������ �	 � ����� ��
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�����
 �������& �� )%�����
 ����������� $������������

��#��� 8���"� ��� ����� ����	��" ���' 7�
 ���� �� �������'? �� �	 � ����� ��8���� �

7�
 ���� �� ��������' ���# � ��#��� 	�'� �	' 
�=�� �������" �� �1���'�'� )��� ����

� ���	
 #������ ���� �� �������' 
" � 	�'� n ������� �	 �	 ��'��� �� ��� +.< �����

�	�" �� ��� ���# #�����	� ��� ��" �	 ��� ���	
 #������ �� �����' �	 ��� 
�=�� ��

	�'� n� 3������#���? ��� +.< ����� �� ��� �	8����	� 	�'� �� �	�" ��'���' �� ������

��� ���# #�����	� ��� ��" �	 ��� ���	
 #������ �� �����' �	 ��� ����� 
�=�� �� ��

��� ���# �� �������' ���# � ��#��� 	�'��

���� ���#���"? ��	��'�� � ����� ���	�����	 S → S ′ *��� S = [S1, S2, . . . , SN ]? S ′ =

[S ′
1, S

′
2, . . . , S

′
N ]? Sn = [ln,1, ln,2, . . . , ln,B] �	' S ′

n =
[
l′n,1, l

′
n,2, . . . , l

′
n,B

]
� �� ��#����

��� �	� ���� ���	�����	 ���
�
����" 
��*��	 ����� ������ 
���' �	 ��� �
��������	 �	

+.< ����� ��'����? *� '�4	� ��� �����*�	� ��
���� �� ��� ��� �� #�
��� 	�'�� N �

• DH∗(k, S, S ′) = {n|Sn = S ′
n = [ln,1 = k, ln,2, . . . , ln,B]}

��� ��� DH∗(k, S, S ′) ⊆ N ��	����� �� ��� 	�'�� ���� ����� ��� '��� ���#

#�����	� ��" k �� ��� ��� ����� �������	 �	 
��� ������ S �	' S ′� )��� ����

��� +.< ����� �� ����� 	�'�� �� 	�� ��'���' *��	 �������	� � ���	
 #������

��� ��" k�

• DH(k, S, S ′) = {n|Sn = [ln,1, ln,2, . . . , ln,B] , ln,1 �= k

∧ ∃j > 1 : ln,j = k ∧ S ′
n = [ln,j, ln,1, ln,2, . . . , ln,j−1, ln,j+1, . . . , ln,B]}

��� ��� DH(k, S, S ′) ⊆ N ��	����� �� ��� 	�'�� ���� ����� ��� '��� ���# #���� 

�	� ��" k 
�"�	' ��� ��� ����� �������	 �	 ����� S �	' ������# �	 +.< ��'���

�	 ��� ���	�����	 �� ����� S ′ ��������' 
" � ���	
 #������ ��� ��" k� )���

���� ����� 	�'�� #��� ������� ��� ���	
 #�������

• DH(k, S, S ′) = {n|Sn = S ′
n = [ln,1, ln,2, . . . , ln,B] , ln,1 �= k

∧∃j > 1 : ln,j = k}

��� ��� DH(k, S, S ′) ⊆ N ��	����� �� ��� 	�'�� ���� ����� ��� '��� ���# #���� 

�	� ��" k 
�"�	' ��� ��� ����� �	 ����� S �	' '� 	�� ������# �	 +.< �����

��'��� �	 ��� ���	�����	 �� ����� S ′ ��������' 
" � ���	
 #������ ��� ��" k�

)��� ���� ����� 	�'�� #��� 	�� 
� ������' 
" ��� ���	
 #�������

• NDH(k, S, S ′) = {Sn = S ′
n = [ln,1, ln,2, . . . , ln,B] , ∀j : ln,j �= k}

��� ��� NDH(k, S, S ′) ⊆ N ��	���	� ��� 	�'�� ���� '� 	�� ����� ��� ���#

#�����	� ��" k �	 
��� ������ S �	' S ′� ����� 	�'� #�" 
� ������' 
" �

���	
 #������? ��	�� ���� '��� 	�� ������ �	 �	 ��'��� �� ��� +.< ������
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)��� ���� ��� ���� ���� �� ������ S �= S ′ �	' k ∈ K ���'� DH∗(k, S, S ′)∩DH(k, S, S ′)
∩DH(k, S, S ′)∩NDH(k, S, S ′) = ∅ �� �	' �	�" �� � ����� ���	�����	 S → S ′ �� �����
���

3�� ��� ��#�������	 �� ��� ���
�
����" ��� � ����� ���	�����	 S → S ′ ���� ����� #���


� ��	��'���'9

�� S = S ′? ���� �� N = DH∗(k, S, S ′) ∩ DH(k, S, S ′) ∩ NDH(k, S, S ′) �	'

DH(k, S, S ′) = ∅ ��� ��� k ∈ K
��� ����� �� ��� �"���# '��� 	�� ���	�� �� �	 � ��8���� ��� k ��� �	8����	�

	�'� n ������

@�A ��8����� ��� ���# �	 ��� ��� �� ��� ����� 
�=�� @����? n ∈ DH∗(k, S, S ′)A
�	' 	� ����� 	�'� m ∈ DH(k, S, S ′) �������� ��� ���	
 #������ ��

@
A ��8����� �	 ���# ���� �� 	�� �����' �	 ��� ����� 
�=�� @����? n ∈ NDH(k, S,

S ′)A �	' �������� �� 	������ ���# ��� �����	 	�'� 	�� ���# �	" ����� 	�'�

m ∈ DH∗(k, S, S ′) ∪ DH(k, S, S ′)�

��� ���
�
����" ��� ���� ����� ���	�����	 ��	 
� ��#����' 
"9

p(S, S ′, 1) =
∑

k∈K α(k)

( |DH∗(k, S, S ′)|
N

(1 − ρ)|DH(k,S,S′)|

+
|NDH(k, S, S ′)|

N
(1 − ρ)|DH∗(k,S,S′)|+|DH(k,S,S′)|+1

) @���A


� DH∗(k, S, S ′) ∪ DH(k, S, S ′) ∪ DH(k, S, S ′) ∪NDH(k, S, S ′) = N
*��� DH(k, S, S ′) �= ∅ ��� k ∈ K
���� ����� ���	�����	 ������ �� �	 � 8���" ��� ��" k ��� �	8����	� 	�'� n ������

@�A ��8����� ��� ���# �	 ��� ��� �� ��� ����� 
�=�� @����? n ∈ DH∗(k, S, S ′)A?
��� 	�'�� m ∈ DH(k, S, S ′) ������� ��� ���	
 #������? �	' ��� 	�'��

m ∈ DH(k, S, S ′) '� 	�� ������� ��� ���	
 #������ ��

@
A ������ ��� ��8�����' ���# �	 �	" ����� ����� �������	 ���	 ��� ��� @����?

n ∈ DH(k, S, S ′)A? ��� 	�'�� m ∈ DH(k, S, S ′) *��� m �= n ������� ���

���	
 #������? �	' ��� 	�'�� m ∈ DH(k, S, S ′) '� 	�� ������� ���

���	
 #�������

��� ���
�
����" ��� ���� ����� ���	�����	 ��	 
� ��#����' 
"9

p(S, S ′, 1) = α(k)

( |DH∗(k, S, S ′)|
N

ρ|DH(k,S,S′)|(1 − ρ)|DH(k,S,S′)|

+
|DH(k, S, S ′)|

N
ρ|DH(k,S,S′)|−1(1 − ρ)|DH(k,S,S′)|

) @��/A
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�� DH∗(k, S, S ′)∪DH(k, S, S ′)∪NDH(k, S, S ′)∪{n} = N *��� DH(k, S, S ′) = ∅

��� n ∈ N *��� Sn = [ln,1, ln,2, . . . , ln,B] �	' S ′
n = [k, ln,1, ln,2, . . . , ln,B−1]

���� ����� ���	�����	 ������ �� �	 � 8���" ��� ��" k ��� �	8����	� 	�'� n '���

	�� ����� ��� #�����	� '��� ���# 
�� ��������� �� ������ ���# ��� �����	 	�'�

�� �	" ����� 	�'� m ∈ DH∗(k, S, S ′)� )��� ���� ������ ��� �����	 	�'� �� �	"

	�'� m ∈ DH∗(k, S, S ′) #��� ������� ��� ���	
 #������� 3������#���? ���

	�'�� m ∈ DH(k, S, S ′) #��� 	�� ������� ��� ���	
 #������� ��� ���
�
����"

��� ���� ����� ���	�����	 ��	 
� ��#����' 
"9

p(S, S ′, 1) = α(k)
1

N

(
1 − (1 − ρ)|DH∗(k,S,S′)|+1

)
·(1 − ρ)|DH(k,S,S′)|

@��:A

�� DH∗(k, S, S ′) ∪ DH(k, S, S ′) ∪ DH(k, S, S ′) ∪ NDH(k, S, S ′) ∪ {n} = N *���

DH(k, S, S ′) �= ∅ ��� n ∈ N *��� Sn = [ln,1, ln,2, . . . , ln,B] �	' S ′
n = [k, ln,1, ln,2,

. . . , ln,B−1]

���� ����� ���	�����	 ������ �� �	 � 8���" ��� ��" k ��� �	8����	� 	�'� n '���

	�� ����� ��� #�����	� '��� ���# 
�� ��������� �� ������ ���# ��� �����	 	�'�

�� �	" ����� 	�'� m ∈ DH∗(k, S, S ′) ∪ DH(k, S, S ′)� )��� ���� ��� 	�'�� m ∈
DH(k, S, S ′) #��� ������� ��� ���	
 #������? *������ ��� �����	 	�'� �	'

��� 	�'�� m ∈ DH∗(k, S, S ′) #�" ������� ��� ���	
 #������� 3������#���? ���

	�'�� m ∈ DH(k, S, S ′) #��� 	�� ������� ��� ���	
 #������� ��� ���
�
����"

��� ���� ����� ���	�����	 ��	 
� ��#����' 
"9

p(S, S ′, 1) = α(k)
1

N
ρ|DH(k,S,S′)|(1 − ρ)|DH(k,S,S′)| @���A

3�� ��� ����� ����� ���	�����	� S → S ′ ���'� P (S, S ′, 1) = 0� �� ����#��� ��� 	�#
��

�� �����
�� ����� ���	�����	� ���# � ����� S = [S1, S2, . . . , SN ]? ��� DH(k, S) '�	���

��� 	�#
�� �� 	�'�� n *��� Sn = [ln,1, ln,2, . . . , ln,B]? ln,1 �= k? �	' ln,j = k ��� � ����	

j *��� 1 < j ≤ B� �
������"? �� ���'� 0 ≤ DH(k, S) ≤ N ? ��	�� ��� 	�'�� #�" �����

�	 ���# �	 �	" �������	 
�"�	' ��� ��� �� ��� ������ 3�� ��� �����
�� ����� ���	�����	�

���� ������ ���# � 8���" ��� ��" k? ���� 	�'�� #�" ������

• 
� ������' 
��
�� ��� ���	�#�����	 ��	�� �� ��� �	8����	� 	�'� �	' ��'��� ���

+.< ����� ��

• 
� ������' �&	�
�� ��� ���	�#�����	 ��	�� �� ��� �	8����	� 	�'� �	' '��� 	��

��'��� ��� +.< ������
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����? ����� ��� �
��� 2DH(k,S) �����
�� ��������� ������ �	 � 8���" ��� ��" k �	 �����

S� ���� ��? ��� 	�#
�� �� ��������� ������ ���*� �1��	�	�����" �	 ��� 	�#
�� ��

	�'��� )��� ���� ���� �#����� ���� ����� �� 	� ��#���� �������	�����	 �� ��� ���	�����	

#����1 P �� ��� %���? ����? 
" ���	� '��� ���������� ��� ������ #����1��� ���� ��? ���

%��� #�'�� ��		�� 
� ���' ��� ��#�������	�� �;���	� '����#�	����	 �� ��� ����'"

����� ���
�
����" '�����
����	 π 
" 	�#������ �������	 �� π = πP� 3������#���? ��

�� 	�� ����� �� ��� ���	�����	 #����1 P ��� �	" ���������' �������	�����	 ���� ����*�

� ��#�������	�� �;���	� �������	� ��������' 
" ����� �
��������	�? *� �����	� �	

�����1�#��� ����'" ����� �	��"��� �������� �	 !�����	 ��
�

&������� �� �� 	�� ��#�������	���" �;���	� �� �1�������" ��#���� ��� 	�1� �����

���
�
�������? �	 �#������ �������� ��	 
� ���' �� '����#�	� ��� 	�1� ����� S ′ ���

� ����	 ����� S *��� ��� ����������� ���
�
����" p(S, S ′, 1)� ���� �#������ ��������

�� ���*	 �	 &�������# ���� $	 ��� ��������#? Random(N) �����	� �	 �	����� n *���

1 ≤ n ≤ N ���� �� �����	 �����'�	� �� � �	����# '�����
����	� Key() �����	� k

*��� ���
�
����" α(k) ��� 1 ≤ k ≤ K� 3�� 0 ≤ p < 1? Coin(p) �����	� 	�&� *���

���
�
����" p �	' ����� *��� ���
�
����" 1 − p� Hit(n, k) �����	� 	�&� ��� n *���

Sn = [ln,1, ln,2, . . . , ln,B] �	' ln,j = k? ��� � ����	 j *��� 1 ≤ j ≤ B? �	' �����

�����*���� 3�� n *��� Hit(n, k) = true? Update(n, k) ���	��� ��� ����� �� S ′
n =

[k, ln,1, ln,2, . . . , ln,j−1, ln,j+1, . . . , ln,B]� ��� �#������ �������� 4��� ������� ��� �	8����	�

	�'� �	' ��� ��" �	 ��� 8���" @+�	�� �S
A� &���� ����? ��� 4��� 
" �����#�	� @+�	��

�S�A '����#�	�� *������ ��� �����	 	�'� �� ������' 
" ��� ���	
 #������� 7����	

��� "�� �����#�	� @+�	�� /S�A �� �� ������' *������ �	" ��#��� 	�'� ���� ������ ���

���# #�����	� ��" k �� ������' 
" ��� ���	
 #������� 3�� ���� 	�'��? ��� +.<

��&��
�%� $1� NextState7ds(S)

� n ← Random(N)

� k ← Key()

* Response ← false

� 
 Coin(ρ) �%
�

� Response ← true

,  �� 1 ≤ m ≤ N *��� m �= n ��

6 
 Hit(m, k) �	' Coin(ρ) �%
�

+ Update(m, k)

( Response ← true

�� 
 Response = true �� Hit(n, k) �%
�

�� Update(n, k)
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����� �� ��'���'� +���? ��� ����	' 
" �����#�	� @+�	�� �-S��A ��'���� ��� +.<

����� �� ��� �	8����	� 	�'� �	 ���� �� � ����� �� ��#��� ���� $� �� ���" �� �����" ����

��� �#������ ���	�����	 ���
�
������� �� ��� 	�1� ������ ��	�����' 
" &�������# ���

��� �'�	����� �� ��� �1������ ���	�����	 ���
�
������� ��#����' �
���� 7� ����'��� ���

�#������ �������� �	 !�����	 ������

/���� &���
��,��# �%� -�	0
! -
��� �
	 ���

.����� ���# ������� � ���� ��� #�M�� '�=���	�� 
��*��	 �%$ �	' :%! ��	��������

��� ���� ���� *��� �%$ � �������� #������ �� 	�� �	�" ��	� �� ��� �	8����	� 	�'�?


�� �� ��� 	�'�� �	��'� ��� ���	�#�����	 ��	�� �� ��� �����	'�	� 	�'� �� ���	 ��

#��� 	�'�� �� ��������� ���*��'�	� �� �	�
��'� ����? � 8���" ��� ��" k '��� 	�� �	�"

��'��� ��� +.< ������ �� 	�'�� ���� ����� ��� ���# #�����	� ��" k �	 ��� �����


�=���? 
�� ���� �	����� ���� ���# �	�� ��� 
�=��� �� ����� 	�'�� ���	 ��� �	8����	�

	�'�� $� �� ���" �� ��� ���� ���� ��	����	�� '�=���	�� �	������� ��� 	�#
�� �� ���������

������ ��� � ����� S� ����? �� �� ����	 ��#�������	�� �;���	� �� �1�������" ��#����

��� ���	�����	 #����1 P ��� ��� 	�#������ ���������	 �� ��� %��� ��� �%$� 3�� ����

�����	 *� '� 	�� '����� ��� 	�1� ����� ���
�
������� �1��������"? 
�� �	�" �����	� �	

�#������ �������� ��� '����#�	�	� ��� 	�1� ����� S ′ ����	 � ����� S� ���� ��������

�� ���*	 �	 &�������# ��
� 2�"�	' ��� '�4	����	� ���' �	 &�������# ���? &�������#

��
 ���� Insert(n, K) �� ����� ��� ����� �� 	�'� n ���# Sn = [ln,1, ln,2, . . . , ln,B] *���

ln,j �= k ��� 1 ≤ j ≤ B �� S ′
n = [k, ln,1, ln,2, . . . , ln,B−1]� 3������#���? PQuery '�	����

��� ���
�
����" ���� � 	�'� �������� � ���	
 #������? PResponse(r) '�	���� ���

���
�
����" ���� � 	�'� �������� �� ����� �	� �������� #������ ���# r �����	'�	�

	�'�� �	' P ∗
Response(r) '�	���� ��� ���
�
����" ���� � 	�'� �������� �� ����� �	�

�������� #������ ���# r �����	'�	� 	�'�� *������ �������	� ��� ���	
 #�������

!�#���� �� &�������# ���? &�������# ��
 '����#�	�� ��� �	8����	� 	�'� n �	' ���

��" �� 8���" k @+�	�� �S
A? '����#�	�� �� ��� �����	 	�'� �� ������' 
" ��� ���	


@+�	�� /S:A? '����#�	�� *������ � �������� #������ �� ��	�����' 
" ��#��� 	�'��

@+�	�� �S�/A? �	' ��'���� ��� +.< ����� �� ��� �	8����	� 	�'� �	 � ��#��� ���

@+�	�� �:S��A� 7���� ������	� �� ��#��� 	�'�� ��	����� � �������� #������? �����

	�'�� ���� '� 	�� ��	����� � �������� #������ ��� ������4�' �	�� ��� ��� �� '���

���'��� ���� '� 	�� ������� ��� ���	
 #������ DHNR @+�	� ��A �	' ��� ��� �� 	�'��

���� ��� 	�� '��� ���'��� NDH @+�	� �/A� ��� +.< ����� �� 	�'�� n ∈ DHNR ��

��'���'? �� ��� 	�'� �� ������' 
" �� ����� �	� �������� #������ ��	�����' 
"

�	� �� ��� 	�'�� ���� ������� ��� ���	
 #������ @+�	�� ��S
�A� 3������#���? 	�'��

n ∈ NDH ���� ��'��� ��� +.< �����? �� ���" ������� � �������� #������ @+�	��
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S
�A� )��� ���� � 	�'� n ∈ DHNR ��� � '�=���	� ��'��� ���
�
����" ���	 � 	�'�

m ∈ NDH? ��	�� n #��� 
� ������' �����'� ��� ���	�#�����	 ��	�� �� ��� �	8����	�

	�'� *���� m #�"
� ������' �	��'� ��� ���	�#�����	 ��	���

��� ���
�
������� PQuery? PResponse? �	' P ∗
Response '���	' �	 ��� �����	� 	�'� ���� 

���	� �� *��� �� �	 ��� ��	4�������	 �� ��� ����#���� TTLQuery ���� ��	����� ���������

���*��'�	� �� '�����
�' �	 !�����	 ��
�
� %���	'�	� �	 ��� ������ �� TTLQuery? ���

��#�������	 �� ����� ���
�
������� #�" 
� ��
�����" ��#���1� (�*����? �� ���������

���*��'�	� �� '���
��'? ����? TTLQuery = 1? ��� ���
�
������� ��	 
� �����1�#���' ��

�����*�� 7������ ��������� ���*��'�	�? ��� ���
�
����" ���� � 	�'� �������� � ���	


#������ �� ����	 
" PQuery = ρ ��#���� �� ��� :%! ����� �
������"? �	 � ���	


��&��
�%� $1� NextStatePdi(S)

� n ← Random(N)

� k ← Key()

* Response ← 0

� DHNR ← ∅
� NDH ← ∅
, 
 Coin(PQuery) �%
�

6 Response ← Response + 1

+  �� 1 ≤ m ≤ N *��� m �= n ��

( 
 Hit(m, k) �%
�

�� 
 Coin(PQuery) �%
�

�� Update(m, k)

�� Response ← Response + 1

�* 
��


�� DHNR ← DHNR ∪ {m}
�� 
��


�, NDH ← DH ∪ {m}
�6 
 Response > 0 �� Hit(n, k) �%
�

�+ Update(n, k)

�(  �� m ∈ DHNR ��

�� 
 Coin
(
P ∗

Response(n)
)

�%
�

�� Update(m, k)

��  �� m ∈ NDH ��

�* 
 Coin (PResponse(n)) �%
�

�� Insert(m, k)
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������ +�	� %����������� �� ���������� ��� ��������� � ����	��� �������

#������ ��� ��" k ��	� 
" 	�'� n? � 	�'� m �������� � �������� #������ �� ��

����� �	� 	�'� l ���� ������ ��� ���# #�����	� ��" k �� ������' �	 ��� ���� ���� ��

������' 
" ��� ���	�#�����	 ��	��� �� 
��� 	�'�� n �	' m� ���� �� ����������' 
"

3����� ���? *���� ��� ��� '����	�� x 
��*��	 	�'�� n �	' m ���'� 0 ≤ x ≤ R �	

3����� ��� @�A? �	' R < x ≤ 2R �	 3����� ��� @
A� )��� ���� 	�'� m �������� 
���

��� ���	
 �	' ��� �������� #������ �	 3����� ��� @�A? *������ �� �������� �	�"

��� �������� #������ �	 3����� ��� @
A� <	'�� ��� ����#����	 ���� 	�'� �������	�

��� �����	 �	����#�" ���# ��� ���� A �	' 	�������	� 
��'�� �=����? ��� ��� �%3

P (x) �� ��� '����	�� x 
��*��	 	�'�� n �	' m ���'�

P (x) = ρ =
πx2

A
, @���A

��	�� ��� ���
�
����" ��� � '����	�� �� �� #��� x �� �8��� �� ��� ���
�
����" ��� �����	�

	�'� m �	 � �������� ���� *��� ��'��� x ����	' 	�'� n� ����? ��� �'� p(x) �� ���

'����	�� x �� ����	 
"

p(x) =
P (x)

dx
=

2πx

A
. @���-A

0���	 � '����	�� d 
��*��	 	�'�� n �	' m? �� �� ���" �� ��� ���� ��� ��� *�'�� w ��

��� ���� ������' 
" ��� ���	�#�����	 ��	��� �� 
��� 	�'�� ���'�

x = 2R − w, @����A

���� ��? w = 2R − x? �	' R − w/2 = x/2� ��� ��6� �� ��� ������' ���� ��	 
�

��#����' 
" �	�������	� ��� ��	����	 f(x) =
√

R2 − x2 ���� '�����
�� � ��#�������



*��� � $��
��������� ���#�
 ����� ����� +,E

*��� ��'��� R ��� x/2 ≤ t ≤ R �	' #������"�	� ��� ������ 
" �� ����? *� ����

A(x) = 4 · ∫ R

x/2

√
R2 − t2dt

= πR2 − x
2

√
4R2 − x2 − 2R2 arcsin( x

2R
)

@���
A

<��	� ,8�����	� ���- �	' ���
? ��� ���
�
����" PResponse(r) ��	 
� ��#����' 
"

�	�������	� ��� ���
�
����" �� �����	� 	�'�� n �	' m *����	 � '����	�� �� x *��� ��

����� �	� 	�'� ��� �� r '��� ���'��� �	 ��� ������' ���� ��� 0 ≤ x ≤ 2R9

PResponse(r) =

∫ 2R

0

p(x)

(
1 −

(
1 − A(x)

A

)r)
dx @����A

3�� ��#����	� P ∗
Response? ������ ���� � 	�'� m ���� '��� 	�� ������� � ���	
 #������

#��� 
� ������' �����'� ��� ���	�#�����	 ��	�� �� ��� �	8����	� 	�'� n �� ���*	 �	

3����� ��� @
A� ���� ��? 	�'� m ��	 �	�" 
� �����' �	 ��� ��#��	�	� ���� �� ��6�

A − πR2? ���	��	� ,8�����	� ��� �	' ���-9

P ′(x) =
πx2

A − πR2
@����A

p′(x) =
2πx

A − πR2
@����A

<��	� ����� �8�����	�? ��� ���
�
����" P ∗
Response(r) ��	 
� ��#����' 
" �������	� ���

�1�������	� ���# ,8�����	 ���- �	 ,8�����	 ���� �	' �	�������	� ��� R < x ≤ 2R9

P ∗
Response(r) =

∫ 2R

R

p′(x)

(
1 −

(
1 − A(x)

A

)r)
dx @���/A

)��� ���� ��#����	� ��� ���
�
������� PResponse �	' P ∗
Response �� ���*	 �
��� ����#��

���� ��� 	�'� �������	� ��� �����	 �	'���	'�	��" �	 ���� ���������	 �� +�	�� 
-

�	' 
� �� &�������# ��
? �����������"� ���� �� 	�� ��	���# �� ��� ����#����	� �	

��� #�
����" #�'�� ���� ����#�� 41�' 	�'� �������	� ��� ���� 8���"� (�*����? *�

���* �	 !�����	 ����� ���� ��� �����1�#����	 ���# ,8�����	� ���� �	' ���/ �����'��

�����	�
�� �����1�#����	� ��� ��� ���������	 �� ��� %��� ��� �%$�

/���� (�������
� 
� �%� -�	0
! -
����

���
�
�& �������
���

)��� ���� �� �� 	�� ����� ��* *��� ��� ������#�	�� �� :%! �	' �%$ �� #�'���'


" ��� %��� #�'��� '�� �� ��� ����#����	� �	 ��� #�
����" #�'�� �	' �	 	�'�

�������	�� ����? �	 ���� ������	 *� ����'��� ��� �������" �� ��� %��� #�'��� ���

:%! �	' �%$? �����������"? ����	�� ��� ������� �� � '������' ��#������ ���� ��	��'���
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 �������& �� )%�����
 ����������� $������������

	�'� #�
����" �	' #������ ���	�#�����	� �� ������# ��� ����'����	 ��� � ���	����

���� �� ��������� �� *��� �� ������	�? *� ��� ����#����	� �'�	����� �� B�!-�D �� ��� ��

�����
��� ��	�����	� *��� B�!-�D? *� ����#� ���� N #�
��� 	�'�� #��� �	 � �8����

���� �� 1000m × 1000m� &�� #�
��� 	�'�� ���� �	 �'�	����� ���	�#�����	 ��	�� R�

<	�����	����"? B�!-�D �����	�� � ���'" �� ��� ���	���	� 
������� �� :%! ��	��'���	�

��� �����' �� � ��	��� '��� ���# �#�	� #�
��� 	�'�� *��� 
�=��� �� �	4	��� ��6�� ����?

�� �������� ��� ������#�	�� �� ,$% �"���#� *��� 4	��� 
�=��� �	' +.< �������#�	�?

*� ���� �� �1��	' ��� �"���# #�'�� ���' �	 B�!-�D�

$	 ��	����� �� B�!-�D? *� ����#� ���� K = 1000 ������� '��� ���#� ��� '�� 

���
���' �	 ��� 
�=��� �� ��� #�
��� 	�'��� B�!-�D �����	�� � ������#�	�� ���'" ��

� *�
 
��*��	� ����������	 ���	� :%!? ���� ��? ��"� �	 :%! ��	������� <.+� ����

�'�	���" '��� ���#� ����	 
" *�
 '���#�	��� ����? *� ���� � �	� �� �	� #�����	�


��*��	 ��"� �	' '��� ���#�� B�!-�D ���� 	�#
��� �� #�
��� 	�'�� N ∈ 5, 10, · · · , 25

�� �������	� '�=���	� ������ �� ���������" ��� ��� ��	��� '��� ���# ��	��'���' �	 ����

�1����#�	�� 7� ����#� � 41�' 	�#
�� �� #�
��� 	�'��? N = 64? �	 #��� �1��� 

�#�	�� �	' �������	� ��� ���������" �� ��� '��� ���#� 
" �����	� ��� ������ ���
 

�
������� α(k) ∼= k−γ ��� 1 ≤ k ≤ K� ���� ��? ��#���� �� ��� �
�? $�? �	' %7!

����������	 �����	��' �	 !�����	 ���? *� ����#� ���� ��� ������ ���
�
������� �����* �

R��� ���� '�����
����	� B�+�-�D �	��"6�� ��� �
M��� ���������" '�����
����	 �	 � #� 


��� *�
 
��*��	� ����������	 �	' ������� � R��� ���� '�����
����	 *��� ������ �� γ


��*��	 -��� �	' �� ����? *� ��� γ = 0.9 �	 #��� �� ��� �1����#�	��� B�+�-�D ����

������� ���� #�
��� 	�'�� ������ � ���	�4��	� �������	 �� ��8������ ����? ��� �	'� 

��	'�	� ������	�� #�'�� ��	�������� � ��������� ����#����	 ��� � #�
��� *�
 
��*��	�

����������	�

�� ����'��� ��� %��� #�'���? *� �#���#�	��' � '������� ���	� ��#������ 
���'

�	 ����� #�'���? '�	���' �� �)�' �
�&��	��� 3������#���? *� �#���#�	��' '� 

�����' ��#������� �� ��� :%! �	' �%$ �"���#�� $	 ��	����� �� ��� %��� ��#������?

��� '������' ��#������� ��	��'�� 	�'� #�
����" 
" �#���#�	��	� '�=���	� #�
����"

#�'���� >���" �	���������� ��#�� ��� ���� 	�'� ��� �����	 �����'�	� �� � ������	

�������� 3������#���? �	 ���� 8���" ���" #�'�� ��� �1��� �1���	�� �� ���	
 �	'

�������� #������� 
���' �	 ��� �����	� 	�'� �������	�� $� �� ���" �� ��� ���� ���

%��� ��#������ �� #��� #��� �;���	� ���	 ��� '������' ��#������? ��	�� �� ��8�����

���	�4��	��" ��*�� '������	� 
���' �	 ���������� ���	��� ��
�� ��� ��##���6�� ���

'������ ������ ��� ��� #�'�� ����#������ ����� ������ ��� ���' �	 ��� ������#�	��

�1����#�	�� �� 	�� �����' �����*����

�� ����' �	���������� '�� �� 
��'�� �=���� *��	 #�
��� 	�'�� ��� ������' �����

�� �'��� �� ��� ��#������	 ����? *� ��� ��� �����'�� '����	�� #�'�� �� �������'
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��������� ���#�
 ����� ����� +,6

�	 B2��-
D� ���� ��? ��� N�� �8���� ���� ���� 
���#�� � �����? �� ���� #�
��� 	�'��

������' �� �	� 
��'�� �� ��� ��#������	 ���� ��	 ��	���� #�
��� 	�'�� �� ��� ��������


��'��� ��� #�
��� 	�'�� #��� �����'�	� �� �	� �� ��� �����*�	� ����� #�
����"

#�'���9

�� #����� ��������	 ����� @#!A9 )�* �������	� �� ��� 	�'�� ��� �����	 ���#

��� ��#������	 ���� A 
" � �	����# '�����
����	 
��*��	 �*� ���������� 8�������


� #����� 
����
�	 ���
�
	� ����� @#�!A9 <��	� ��� �������� ��� ������� ��# 

������	 �� ��� .7� #�
����" #�'��? ��� 	�'�� #��� *��� � #�1�#�# ����'

v ∈ (0, vmax] �	' ���� ��� � #�1�#�# ��#� Tpause �� ����� '����	����	 ���	�� ��

'�����
�' �	 !�����	 ��
�

�� #�������� ��
�	 ���&� ���
�
	� @#!%? B(0����DA9 ��� 	�'�� #��� �	 G ������

*��� ����' vg? ��'��� rg? �	' � '�������#�	� ��'��� rn �� '�����
�' �	 !�����	

����

)��� ���� ��� .� #�
����" #�'�� �� 	�� ���������? 
�� #������ ������" ��� ����#� 

���	� �� ��� ���������� #�'���	� ��������� ��� .7� #�
����" #�'�� �� 8���� ���������

��� #�#����	� ��� #���#�	� �� �	'���'��� ��'������	�� (�*����? �� ��� 
��	 ���*	

���� ��� .7� #�'�� ���'� �� � 	�	 �	����# '�����
����	 �� #�
��� 	�'�� *���� ���"

��� #���	� B2.!-�D? B2��-�D� ����? �� �������� � ��" ����#����	 �� ��� #�'���	�

��������� &''����	���"? ��� .�0 #�
����" #�'�� �������� ��� ����#����	 �� � ��
 

���	�����" ���	�� �� ��� ����	��" �� � #�
��� 	�'� 
��*��	 �*� ���������� 8�������

!�	�� *� ��	��'�� � ,$% �"���# �	 ��������	? ��� #�
��� 	�'�� ����� *��� ����


�=��� �	 ��� �	����� ����� �� ��� ��#������	� ��� �	����� '�����
����	 �� ��� ���#� �	

��� 
�=��� '���	'� ������" �	 ��� ����������	 ���	����� ����? 
���'� �	������" �#��"


�=���? *� ��	��'�� � *���� ���� �	' � 
��� ���� �	����� '�����
����	 �	 ��� ��#������	

�1����#�	��9

������	�� �����

D��5�� �� ��5�
� 	���" N 64
���	"��""��	 ��	�� R 115m

����
����	 ���� A 1000m× 1000m

E���8 ���� λ 1/60
F�#��#�������� �� 7���8 
���
��8 γ 0.9
D��5�� �� :�8" K 1000
����� "�&� B 256

#�'�� +�	� &������ ������ ��� ����� ����������
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�� ���� 
�=�� �� 4���' *��� B '��� ���#� �����	 ���# K �����'�	� �� � �	����#

'�����
����	� ���� ��? ���� ���# �� �8����" �����" �� 
� ��	���	�' �	 � 
�=��?

*���� ��	�������� � *���� ���� ���	���� ��	�� ��� ���������" �� ��� '��� ���#�

�� 	�� ��	��'���'�


� ���� 
�=�� �� 4���' *��� B '��� ���#� �����	 ���# K �����'�	� �� � R��� 

���� '�����
����	 *��� ����#���� γ ��#���� �� ��� ����#���� �� ��� ��8����

���
�
������� α(k)� ���� ��	�������� � 
��� ���� ���	����? ��	�� ��� ���������"

�� ��� '��� ���#� �� ��N����' �	 ��� �	����� ��	��	� �� ���� 
�=���

�� '����#�	� ��� ������#�	�� �� ��� ,$% �"���#� *��� ��� ��#������	 #�'���?

*� ���	� ��� 	�#
�� �� �����	��� �������' ��� ���� 8���" �	' ��������� ��� �������

��� ����� )��� ���� ��� ��� ���� ��	 
� ��#����' 
" ���	��	� ��� 	�#
�� �� 8������

���� �������� �	 ��'��� �� ��� 
�=�� �� ��� �	8����	� 	�'� �	 +�	� �� �� &�������#

��� �	' +�	� �� �� &�������# ��
? �����������"� �� ��� �= ��� �	����� ���	���	� �����?

*� ������# � *��#�� ����� �� �-?--- 8������� &���� ����? *� ��	'��� �- 
������

���� ��#�����	� �� �-?--- 8������ �	' ��#���� ��� ��L ��	4'�	�� �	������ ��� ���

��� ���� ���	� ��� 
���� #��	��

,����

�� 3
%�+
��

2����� ����'���	� ��� ������ #�'��� �� �%$ �	' :%!? *� ��� ��� '������' ��#������

�� :%! �� �����'� ���'�	�� ���� � ����'" ����� �	��"��� �� �#�����	� ��� ��������	�

��� ������#�	�� �� ,$% �"���#� *��� 4	��� 
�=���� 3�� ���� �������? *� #������

��� '������	 �� ��� ���	���	� ����� ��� � :%! �"���# ������	� *��� ���� 
�=���� ���

�	����� 
�=�� ��	��	� �� �����	 �����'�	� �� 
��� ��� *���� ���� �	' ��� 
��� ����

#�'�� '�����
�' �
���� 3����� ��
 ����� ��� ���	���	� ����� �� ��� ������� �������	

�� '������'���? ����? ��� �������	 �� 	�'�� ���� ����� � ���������� '��� ���#? ��� ���

'��� ���#� *��� ��	� �? �-? �	' �--? �����������"� )��� ���� *��� ��� R��� ���� ������

���
�
�������? ��� ���������" ��	� �� ��� ���# #�����	� ��" k �� k� ��� �������

�������	 �� '������'��� ��� ���� ���# �� ���������' �	 �	������� �� /- ����	'�� 3�� ���

'��� ���#�? ��� ����'" ����� �������	 �� '������'��� �� ���*	 �� � '����' ����6�	���

��	�� 3�� ��� �1����#�	��? *� ��� ��� .7� #�
����" #�'�� *��� ����#����� vmax =

2m/s �	' Thold = 30s� 3����� ��
 ���*� ���� ���	 �	 ��� *���� ���� ���	���� *��� �

�	����# '�����
����	 �� 
�=�� ��	��	�? ��� �������	 �� '������'��� ������� ��� ����'"

����� ��� � ������� '��� ���# �	 ���� ���	 �	� ����� 3�� ���� ������� '��� ���#�? ���

�������	 �� '������'��� �� ����� �� ��� ����'" ����� ������ �	 ���� ���	 
 ������ $� ���

�	����� 
�=�� ��	��	� �� �����	 �����'�	� �� � R��� ���� '�����
����	? ��� �������	 ��

'������'��� �� ����� �� ��� ����'" ����� �������	 ��#��� �##�'�����"� )��� ���� '��
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" ��� 	�#
�� �� ���� �� ������� '��� ���#�� ����? ��� ��� ���� �� ����� �� ��� ����'"

����� �	 
���* �	� ����� 7� ��	���'� ���# 3����� ��
 ���� � ����'" ����� �	��"���

��	�������� �	 �#�����	� ���� ��� ��� ������#�	�� ���������	 �� ,$% �"���#� *���

4	��� 
�=���? ��	�� � :%! �"���# *��� 4	��� 
�=�� �������" ������� ����'" ����� �	

� ����� �#��	� �� ��#��
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���
�� � �%
 *�� ���
�

$	 ��� 	�1� ��� �� �1����#�	��? *� ����'��� ��� %��� ��#������ �� :%! ����	�� ���

������� �� ��� '������' ��#������� 3�� ��� '������' ��#������? *� ��� ��� .� #�
����"

#�'�� �� *��� �� ��� .7� #�
����" #�'�� *��� ����� '�=���	� ����#���� �����	���
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�=�� ��6��� ��� ��
�� �	���'�� ��� ��L ��	4'�	�� �	������� ��� ��� ��#������	

�������� ��
�� ��
 ���*� ���� ��� ����'" ����� ��� ����� ��� ��� #�
����" #�'��� ���

��#��� �'�	����� ��� � ����	 
�=�� ��6�� ��� ������� �� ��� %��� ��#������ ��#���

��*�"� ��� *����	 ��� ��L ��	4'�	�� �	������� �� ��� '������' ��#������	 �������

�1���� ��� �#��� 
�=�� ��6��� (�*����? ��� #�1�#�# '�=���	�� 
��*��	 ��� #��	

������ �� 
���* �L? ���	 ��� ��� #��� ��������� ��#������	� 
���' �	 ��� .7� #�
����"

#�'��� 7� ��	���'� ���# ��
�� ��
 ���� ��� ����'" ����� ��� ���� �� ��� :%! �"���# ��

��#��� �	'���	'�	� �� ��� #�
����" #�'�� �	' �� ���������" ���'����' 
" ��� %���

��#�������

�� ���	 ������� �	����� �	�� ��� �#���� �� ��� #�
����" #�'��? *� ����'��� ���

%��� ��#������ ����	�� � '������' ��#������	 ���'" ���� ���� ��� .�0 #�
����"

#�'��� 3����� ��� ����� ��� ��� ���� �� � ��	����	 �� ��� 	�#
�� �� ������ G ���

vmax = 2m/s? rg = 200m? �	' rn = 50m� ��� 	�'�� ��� '�����
���' �� ��� ������ �	

� ���	' ��
�	 ������	� ��� ������ 	�'� �� ���� �����	�' �� �	� �� ��� ������� .�����

���� ��� ������ 	�'� �� ��� �����	 	�'� ��� ��� '��� ���#�� (�	��? �	 ���	����� *���

��* ������? ��� ���� �� ������ ���	 ���'����' 
" ��� %��� ��#������? ��	�� ��#���

��� 	�'�� �	 ��� ����� �� ��� ������ 	�'� ������� � �������� #������ ��� ����

8���"� 7��� �	 �	������	� 	�#
�� �� ������? ��� ���
�
����" ��� ������	� ��� ������

	�'� ��	������ ����	�� ρ �	' ��� %��� ��#������ ������" #������ ��� ��#������	

�������� 7� ��	���'� ���# 3����� ��� ���� ��� %��� ��#������ ��	 
� ������' ���	

�	 ���	����� *��� #�	" �#��� ������ �� #�
��� 	�'���

7� ���� ������#�' ������� ����'����	 �1����#�	�� ��� ��� %��� ��#������ ��

:%! ���� ��	��'�� '�=���	� �"���# ��6��? '�=���	� ���	�#�����	 ��	��� �	' '�=���	�

'������ �� 8���" �������"� &�� �1����#�	�� ���*�' �	 �1�����	� �����#�	� 
��*��	

��� ������� �� ��� %��� ��#������ �	' ��� '������' ��#�������

��
�	 ��	��� ������ ������ ������ ������

���� ����� ��������� �������� �������� ��������

vmax = 2m/s vmax = 32m/s vmax = 2m/s

Thold = 30s Thold = 30s Thold = 1200s

���� ����� 	�
� ���� ����� 	�
� ���� ����� 	�
� ���� ����� 	�
� ���� ����� 	�
�

�� ����� [0.509, 0.514] ����� [0.512, 0.519] ����� [0.518, 0.528] ����� [0.520, 0.528] ����� [0.511, 0.522]

�� ����� [0.604, 0.608] ����	 [0.605, 0.611] ����� [0.607, 0.624] ����	 [0.615, 0.621] ����� [0.606, 0.613]


� ����� [0.668, 0.671] ����
 [0.666, 0.673] ���	� [0.677, 0.686] ����� [0.672, 0.681] ����� [0.667, 0.675]

��	 ����� [0.710, 0.714] ����� [0.704, 0.710] ����� [0.717, 0.725] ����� [0.719, 0.725] ����� [0.716, 0.725]

��� ����	 [0.745, 0.751] ����� [0.741, 0.749] ����� [0.751, 0.758] ����� [0.753, 0.760] ����� [0.747, 0.754]

�
� ����	 [0.775, 0.780] ����� [0.773, 0.778] ���
� [0.790, 0.798] ���	� [0.782, 0.790] ���	� [0.777, 0.785]

��� ��	�� [0.800, 0.806] ��	�� [0.797, 0.802] ��	�� [0.814, 0.820] ��	�� [0.802, 0.810] ��	�� [0.804, 0.810]

��� ��	�� [0.823, 0.829] ��	�� [0.818, 0.824] ��	�	 [0.825, 0.832] ��	�
 [0.826, 0.832] ��	�� [0.823, 0.830]

#�'�� +��� 7��������� �� ��� &#�9 ����� ��� 2&*
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�;���	� �����1�#��� ��#�������	 �� ����'" ����� ��� ���� �� �����
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����� �� ,$% �"���#�� ���� ������	 �����	�� �	 �����1�#��� �������� ��� ��#����	�
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�
������"? ��� 
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" %�	 �	' ��*���" B%��-D� ��� �������� ��		�� �	�" 
� �#���"�' ��� ���	' ���	�

������? 
�� ��� ���� 
��	 ������' ��� '�����
���' '��� �����	� �	����	#�	�� �	 *���'

	��*���� B%%O�-D�

��	��'�� �	 ����������	 ���� ��������� '��� ���#� 
" ��"� ���	� � 
�=�� *���

+.< �������#�	�� ��� ����#����	� �	 ��� '��� ���#� �	' ��"� ��� ��#���� �� ���

����#����	� ��� ��� %��� #�'�� �����	��' �	 !�����	 ���� ��� �������� �����	��'

�	 B%��-D '��� 	�� ��8���� � �	� �� �	� #�����	� �� ��"� �	' ������� $	 ����? ���

�	������	� ��� ��#�������	�� �;��	�"? ��"� k, l ∈ K *��� ��� ��#� ������ ���
�
����"

α(k) = α(l) ��� ��#
�	�' �� � ��	��� ��" k′� ����? *������ ���� �� ��	������" *� ��	

����#� � �	� �� #�	" #�����	� 
��*��	 ��"� �	' '��� ���#�? ����? Sk ≥ 1 �	'

Rd = 1� �� ���� 	������	 ��	�����	� *��� B%%O�-D? *� '�4	� ��� �������	 β(k) ��

'��� ���#� #�����' 
" ��" k �� β(k) := |Sk|
|D| � ����? ��� ��� D ��	 
� '���'�' �	�� K

��������	� D(k)? ���� �� ��6� β(k)D *���
∑K

k=1 β(k) = 1� .����� ���� ��	�����	� *���

!�����	 ��� 8������ ��� �����' �����'�	� �� � ������	 ������� *��� ���� λ �	' �����*

��� �	'���	'�	� ������	�� #�'�� *��� ������ ���
�
������� α(k)�

&� ��" ��	����? ��� �������� �� %�	 �	' ��*���" �����1�#����" '����#�	�� ���

�1�����' 	�#
�� �� ���#� �� ��������	 D(k) �	 ��� ��� j �������	� �� ��� +.< �����?

'�	���' 
" b(k, j)? ������ ���	 '����#�	�	� ��� �1��� ��	��	� �� ��� 
�=��� 7��	

� 8���" �� �����' ��� ��" k? ��� ��� ���
�
����" �	 ��� ��� j ����� �������	� �� ����	


" b(k,j)
β(k)D

� +�� r(k, j) '�	��� ��� ���� ��� �����	� '�*	 ���#� �� ��������	 D(k) ���#

����� �������	 j �� ����� �������	 j + 1 *���� 1 ≤ k ≤ K �	' 1 ≤ j ≤ B� B%��-D

������ ���� �	'�� ����'" ����� ��	'����	� ��� ��	� ���# ���� ��� �����	� '�*	 �	

���# ���# �������	 j �� ����� �������	 j +1 �� �8��� �� ��� ���� ��� �	�����	� ��� ���#

�	�� ��� ��� j ����� �������	�� ����? *��� ��� ����#����	 ���� �	 � #��� �	 ���# ��	

��*�"� 
� �	�����' �	�� ��� 
�=��? ��� ���� r(k, j) �� �8��� �� ��� #��� ���� ��� ��"

k �	 ��� ��� j ����� �������	�� ���� #��� ���� �� ����	 
" ��� ���'��� �� ��� 8���"

���� λ? ��� ������ ���
�
����" ��� ��" k? �	' ��� #��� ���
�
����" ��� ��" k� ����? *�

����9

r(k, j) = λα(k)

(
1 − b(k, j)

β(k)D

)
@���:A

���� �
��������	 �� '�	���' �� ��������	
�� �� B�
 �	 B%%O�-D�

+�� p(k, j) '�	��� ��� ���
�
����" ���� �	 ���# �� ��������	 D(k) �� ������' ��

�������	 j �	 ��� +.< ����� *��� 1 ≤ k ≤ K �	' 1 ≤ j ≤ B� &� ���*	 �	 B%��-D? ���

���
�
����" p(k, j) ��	 
� '�����' 
" �1������	� ��� ���� ���� �� �	 ���# �� �����' '�*	

���# ����� �������	 j �	 ��� +.< ����#�? ���	 �� #���� �� �������	 j+1� 3������#���?
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�� 	� ���# �� �����' '�*	 �� ����� �������	 j? ��� ���# �	 ���� �������	 �
������"

��#��	� �	���	��'� (�	��? ��� ���
�
����" p(k, j) �� ����	 
" ��� ���
�
����" ���

�����	� '�*	 �	 ���# ���# �������	 j− 1 �� �������	 j �	'�� ��� ��	'����	 ���� ���

�����	� 8���" �������� ���� � 
�=�� #���#�	� ���# �������	 j − 1 �� j �	 ��� +.<

������ ��� ���
�
����" p(k, j) ��	 
� �����1�#���' ������" 
" ��� ����� 
��*��	 ���

���� ��� � 
�=�� #���#�	� �� �	 ���# �� D(k) ���# �������	 j − 1 �� j �	' ��� ����

��� ���� � 
�=�� #���#�	� �� �	" ���# ���# D� ����? ���	� ,8�����	 ���: *� ����9

p(k, j) ≈ r(k, j − 1)∑K
n=1 r(n, j − 1)

=

α(k)

(
1 − b(k, j − 1)

β(k)D

)
∑K

n=1 α(n)

(
1 − b(n, j − 1)

β(n)D

) @����A

���� �
��������	 �� '�	���' �� ����	
�� �&�� ��
� ��	� �	 B%%O�-D� )��� ���� ���

���
�
����" p(k, j) �� �	'���	'�	� �� ��� 8���" ���� λ�

!�
��8��	��"? ��� ���� ��������	 D(k)? ��� �1�����' 	�#
�� �� ���#� �� D(k) �	

��� ��� j �������	�? b(k, j)? ��	 
� '����#�	�' 
" ��� ��##����	 �� ��� ���
�
�������

��� 4	'�	� �	 ���# �� D(k) �� � �������	 ���� �� �8��� �� j �	 ��� 
�=��� ����? *�

����9

b(k, j) =

j∑
n=1

p(k, n), k = 1, . . . , K, j = 1, . . . , B @����A

��#
�	�	� ,8�����	 ���� �	' ,8�����	 ���� �������� *��� b(k, 1) = α(k) ��� 1 ≤
k ≤ K ���'� �� �	 ��������� ����#� ��� ��� �����1�#��� ��#�������	 �� b(k, j)

��� k = 1, . . . , K? �	' j = 2, . . . , B� ���� ��������� ����#� ��� ��� ��#�������	��

��#���1��" O(KB)� &� 	���' �	 B%��-D? '�� �� ��� �����1�#����� ��#�������	?

������ �� b(k, j) #�" �1���' β(k)D ��� ��#� k �	' j� $	 ���� ����? ��� r(k, n) ��� ���

�� - ��� j < n ≤ B� ���� ��? �� �� ����#�' ���� ��� ���#� �� ��������	 k ��� ������'

�	 ��� ��� j �������	� �� ��� 
�=�� �	' ��� 	���� �����' '�*	 
�"�	' �������	 j�

(���	� ��#����' ��� 8��	������ b(k, B) ���	� ,8�����	 ����? ��� ��� ���� �� �	 +.<


�=�� �� ����	 
"9

HRLRU ≈
K∑

k=1

α(k)b(k, B)

β(k)D
@��
-A

$	 ��� 	�1� ������	? *� ���* ��* �� ��	�����6� ,8�����	 ���: �� ,8�����	 ��
- ��

,$% �"���#� �	 � �&),� *��� 4	��� +.< 
�=����
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.����� ���� ��� ��	��������	 �� N�* �������" ���' �	 ,8�����	 ���: ����#�� ���� �	

� #��� �	 ���# �� ��*�"� �	�����' �	�� ��� 
�=��� ���� ����#����	 '��� 	�� ���' ���

,$% �"���#� �	 � �&),�? ��	�� �	 ���� � �"���# �	 � #��� �	 ���# �� �	�" �	�����'

�� ������

�� ��� ���# ��	 
� ��������' ���# ��� @��#���A �����	 	�'� ��


� ��� ���# ��	 
� ��������' ���# ��� 
�=�� �� �	" ����� ��#��� 	�'��

����? �� ��#���� ��� ��� ���� �	 � ,$% �"���#? *� ���� �� ��	��'�� ���� ��� ����

��� �	�����	� �	 ���# �	�� � 
�=�� '���	'� �	 ��� ��	��	� �� ����� ��#��� 
�=����

7� �	��������� ��� �#���� �� ��#��� 
�=��� �	�� ��� �������� �����	��' 
" %�	

�	' ��*���" 
" ����#�	� ���� ��� ��	��	� �� ��� 
�=��� �� �������������" 
���������	


���	
��� �
�	�
�&	�� @���A? ����? ��� ��� ���
�
����" ��� '��� ���#� �� ��������	 D(k)

�� ����	 
" b(k,B)
β(k)D

��� ���� 
�=�� �����'���� �� ��� ��	��	� �� ����� 
�=���� <��	� ����

����#����	 *� ��	 ��#���� ��� ��� ���� �� ��� �"���# 
" ��#����	� ��� ��� ���� ��

� ��	��� 
�=���

2����� ���*�	� ��* �� ��#���� ��� ��� ���� ���# ��#��� 
�=���? *� '������

��* �����	�
�� ��� ����#����	 �� $$% 
�=�� ��	��	� �� ��� '�=���	� ,$% �"���#��

)��� ���� � �#��� '���	'�	�" �#�	� ��� ��	��	� �� ��� 
�=��� �1���� ��� ����"

,$% �"���#? ��	�� � 	�'� ��	 �������� �	' �	���� �	 ���# �	�� ��� ����� 
�=�� *���

������ ���
�
����" �� �� �� �����' �	 #�	" ��#��� 
�=���� )�����������? #��� �� ���

'���	'�	���� �#�	� ��� ��	��	� �� '�=���	� 
�=��� �� �����' 
" ��� ,$% �"���#�

.����� ���# !�����	 ��� ���� *��� �%$ ��� ���� ������� ���������	 �� ���	 '����

�� ������ ��� 	�#
�� �� 	�'�� N ? ��� ���	�#�����	 ��	�� R? �� ��� ��#� �� ���� ���

��������� ���*��'�	� TTLquery �� ������ ��� �����	 ��� ���� 
������� �� ���� ��� 	�'��

���� ������� � �������� #������ ����� ��� �1������' ���#�? #���	� ��� ��	��	�

�� ����� 
�=��� ���" ��#����� ����? �� � ����	 ��#� t? ��� ��	��	� �� ��� 
�=��� ��

�
������" 	�� $$%� �	 ��� ����� ��	'? ������ ���# !�����	 
���
 ���� *��� :%! �	

���# �	 � �������� #������ �� �	�" �	�����' �	�� ��� 
�=�� �� ��� �	8����	� 	�'��

����? ���� 8���" ���	��� �	�" ��� ��� ���� �� � ��	��� 
�=��? �#��"�	� ���� ���

����#����	 �� �	'���	'�	� $$% 
�=�� ��	��	� �� #��� �����	�
�� ��� :%! ���	 ���

�%$�

�� ���	 #��� �	����� �	�� ��� '�����
����	 �� ��� 
�=�� ��	��	� *� ��#���� ���

#������' 	�#
�� �� '��� ���'��� ��� �	 ���# ���# ��������	 D(k) ��� :%! �	' �%$ ��

��� 	�#
�� �� '��� ���'��� ���'����' 
���' �	 ��� ����#����	 �� $$% 
�=�� ��	��	��
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)��� ���� ��� ����#����	 �#����� ���� ��� '�����
����	 �� ��� 	�#
�� �� '��� ���'���

�����*� � 2�	�#��� '�����
����	? ��	�� *������ ��� ���# �� 
�=���' �� ���� 	�'� ��	


� '����#�	�' 
" �	 �	'���	'�	� 2��	����� ����� *��� ������� ���
�
����" p := b(k,B)
β(k)D

�

7��� ��� ����#����	 ���� ��	�����	��" *��� !�����	 ��� '��� ���#� ��� �������' 
" �

'�'�����' ������ 	�'�? ��� �#� dhk(n) �	' ��� �%3 DHk(n) �� ��� 	�#
�� �� '���

���'��� �� �	 ���# ���# ��������	 D(k) ��� 0 ≤ n ≤ N �� ����	 
"9

dhk(n) =

(
N

n

)
pn (1 − p)N−n @��
�A

DHk(n) =

n∑
i=0

(
N

n

)
pi (1 − p)N−i @��

A

7� ��#���� ��� �#� �	' �%3 �� ��� 	�#
�� �� '��� ���'��� ��� � ����	 '���

���# �1����#�	����" 
" ���	� ��� '������' ��#������ �� ��� :%! �	' �%$ �"���#

'�����
�' �	 !�����	� ����� �	' ����
� &���	? *� ��� � �	� �� �	� #�����	� 
��*��	

��"� �	' ������? ����? β(k)D = 1� &�� ����� ����#����� ��� �����	 �����'�	� �� ��
��

���? *��� �1������	 �� ��� ���	�#�����	 ��	�� R ���� �� ��� �� R = 230 �� �	������ ���

'���	'�	�" �#�	� ��� 
�=��� ��� �%$� )�'�� #��� �����'�	� �� ��� .� #�
����"

#�'��� 7� ������# ��#������	 ��	� �� �--�--- 8������ �	' #������ ��� 	�#
�� ��

'��� ���'��� ��� ���� '��� ���# �	 
������ �� �-- 8������� �- �	'���	'�	� ����������

�� ��� ��#������	 ��� ������#�' �	' ��� ������� '�����
����	� �������� *��� ��L

��	4'�	�� �	������� ��� ��#����'�

)��� ���� ��� ����#���� p �� ��� 2�	�#�	�� '�����
����	 ��	 
� '����#�	�' ���#

��� ��#������	 ������� 
" �
�����	� ���� ��� ���
�
����" ��� 4	'�	� �	 ���# �	 �	

��
�����" 
�=�� �� � ����	 ��#� t �� �8��� �� ��� ���
�
����" ��� �����	� ��� 
�=�� ��

�	� �� ��� '��� ���'���? ����?

p =

N∑
n=0

dhk(n)
n

N
. @��
�A

����? ��� ��� #��	 m̄ �� ��� 2�	�#��� '�����
����	 ���'�

m̄ = pN =

N∑
n=0

dhk(n) · n, @��
�A

���� ��? ��� #��	 �� ��� 
�	�#�	�� '�����
����	� �� �8��� �� ��� #��	 �� ��� #������'

'�����
����	� )�����������? ��� ���'����' �����	��� Vp '�=�� ���# ��� #������' ���� 

�	��� Vm �� ���*	 �	 ��
�� ��� ��� ��� ���#� *��� ��� ���������" ��	� �-- �	' 
--?

�����������"� )��� ���� ��� �%$ ��� #������' �����	��� '�=�� #��� ���	�4��	��" ���#

��� ���'����' �����	��� ���	 ��� :%!� �� �����'� ������� �	�����? 3����� ��� ���*�

��� #������' �%3� �	' ��� ���'����' �%3� ��� ��� ���#� *��� ��	� �-- �	' 
--?
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'������� ������'����� ��� ��� "%& �������

�����������"� 7� 4	' ���� ��� '�����
����	� �� ��� 	�#
�� �� '��� ���'��� ��� :%! ���

������" ��� ����� �� ��� 
�	�#��� '�����
����	? *���� ��� �1��� '�����
����	� '�=��

'�� �� ��� '�=���	� �����	���� .����� ���� � ������ '���	'�	�" �#�	� 
�=�� ��	��	�

�� ����	 ��� ����" ,$% �"���#? ���'�	� �� ��� '�=���	�� �	 ��� �1��� '�����
����	��

3�� �%$? ��� ����� �� ��� #������' '�����
����	� �� ������" '�=���	� ���# ��� �����

�� ��� 2�	�#�	�� '�����
����	�� ��	4�#�	� ��� ��	M������ ���# !�����	 ��� ���� ���

��	��	� �� ��� 
�=��� �� ���" ��#����? 3����� ��� @�A ���*� ���� ��� ���
�
����" ���

�����	� ��� ���# *��� ��	� �-- �	 /- �� #��� 
�=��� �� #��� ���	 �-L� )��� ����

���� �#����� ���� �� � 8���" ��		�� 
� �������' 
" ���� ��#��� 	�'��? ����� �� ���'�"

�	" ����� 	�'� ���� ��	 ������� ��� 3����� ��� @'A ���*� ���� ��� ���# *��� ��	� 
--

�� �����' �	 	�	� �� ��� 
�=��� *��� � ���
�
����" �� #��� ���	 �-L? ������� ��'���	�

��� �����

��� ���

���� p m̄ Vp Vm p m̄ Vp Vm

��� ��6�� ���(� �*�*+ 6��+, ��+�+ ���++ 6�+� �+��6�

��� ��*+� ���,� ����� �����, ����� �+��, ���6+ �����*

#�'�� +�$� ����� ��� ��������� ��� ��������� ��� �������� ������'������
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7� ��	���'� ���# ��
�� ��� �	' 3����� ��� ���� ��� ����#����	 �� $$% 
�=��

��	��	� �
������" '��� 	�� ���' ��� �%$ *��� ��� ����	 �"���# ����#������ $	 �1 

����#�	�� 	�� ���*	 ����? *� ���	' ���� ��� ����#����	 �� ������������" �	'���	'�	�


�=��� �� #��� �����	�
�� ��� �%$ �"���#� *��� ��* 	�'� '�	���" �	'H�� �#��� ���	� 

#�����	 ��	��? ����? N ≤ 64 �	' R ≤ 200� (�*����? *� ����� �	 ,$% �"���#� ���� :%!

�	 ��� ��#��	'�� �� ���� �������? ��	�� ��� ����#����	 �� �����	�
�� ��� ��� ������

�� N �	' R *��� :%!� &� ����'���' �	 !�����	 �����? ��� ����#����	 �� $$% 
�=��

��	��	� �����'�� ���" �������� ������� ��� :%!�

7� 	��� ���� ��� ,$% �"���#� *��� $$% 
�=�� ��	��	� ��� 	�#
�� �� '��� ���#�

�� ��������	 D(k) �	 ��� ��� j �������	� '���	'� �	 
��� ��� 	�#
�� �� '��� ���#�

�� ��� ��������	� �	 ��� ��� j − 1 �������	� �� ��� ����� 
�=��? b(k, j − 1)? �	' �	

��� 	�#
�� �� ���� ���#� �	 ��#��� 
�=��� �� �	" �������	? b(k, B)� &	������� ��

,8�����	 ����? ��� 1 ≤ k ≤ K? 1 ≤ j ≤ B *� ��	 *����9

b(k, j) = fk(b(1, j − 1), b(2, j − 1), . . . , b(K, j − 1),

b(1, B), b(2, B), . . . , b(K, B) )
@��
�A

��� fk �	 ,8�����	 ��
� �	 ��	���� ��� 	�	 ��	��� ��	����	� �	 b(k, j) *���� ������'

�� ,8�����	 ���� ��		�� 
� �����' 
" ��#��� 
��� ��
��������	� $	 ��� �����*�	�? *�

������� �	 �=������ ��������� ����#� ��� ��� �����1�#��� ��#�������	 �� b(k, B)?

1 ≤ k ≤ K� 3�� ���� �� �1�������	? *� '�4	� b(k, 0) = 0� 7� ����� *��� ��� �	����#

�����	#�	� �� ��� ��#��� 
�=���9

b(0)(k, B) =
B

K
, 1 ≤ k ≤ K. @��
/A

���	? ��� j = 1, . . . , B �	' i = 1, 2, . . . *� ����������" ��#����

b(i)(k, j) = fk(b
(i−1)(1, j − 1), b(i−1)(2, j − 1), . . . , b(i−1)(K, j − 1),

b(i−1)(1, B), b(i−1)(2, B), . . . , b(i−1)(K, B) )
@��
:A

�	��� ��� ���#�	����	 ��	'����	

|b(i)(k, B) − b(i−1)(k, B)| < ε @��
�A

�� �����4�' ��� 1 ≤ k ≤ K� )��� ���� �����#�6�	� ��� ��������� ����#� �� � ������ 

���� ,$% �"���# ��8����� '��������	 �� fk� �� ����� ��� ��	�����	�� �� ��� ���������

����#�? 	��� ���� ,8�����	 ��
: '�����
�� � ��#��� 41 ���	� ��������	� 7� ��	 �����"

��� ��� fk �� ��	������ � ��	����	 F : IRd → IRd *��� d = (B + 1)K� ��� ��	����	

�������� �	 � ������ b ∈ IRd *��� b(jK + k) = b(k, j)� 3����*�	� ��� ��	�������	

#����	� ���	����� B0���:D? ��� ��������	 b(i+1) = F (b(i)) ��� i = 1, 2, . . . ��	������?

�� ���'�9

||F (b) − F (b∗)||∞ ≤ c||b− b∗||∞ @��
�A
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��� ��#� ��	���	� c *��� 0 < c < 1� ��� ��	�����	�� �� ,8�����	 ��
� #��� 
�

���*	 ��� ���� F ����	 
" ��� ��	����	� fk ��� � ���������� ,$% �"���#�

/���� &���
��,��# �%� ���	
�
% �
	 5��

3�� �����#�6�	� ��� �������� �����	��' �	 !�����	 ��
�
 �� ��� :%! �"���#? *� ����

�� '����� �	 �1�������	 ��� ��� ���� '�*	 ���� �� � '��� ���# �� ��������	 D(k) ���#

�������	 j �� �������	 j +1 �	 ��� +.< ������ �� :%!� <��	� ��� ��	��������	 �� N�*

�
��������	? ���� �� �8��� �� 4	'�	� �	 �1�������	 ��� ��� ���� �� �	�����	� �	 ���#

�� ��������	 D(k) �	�� ��� ��� j �������	�� $	 :%!? �	 ���# ��	 
� �	�����' �	�� ���

��� j �������	� �� ��� 
�=�� ������ �	 � ����� �� � ��#��� ��8����� ���� ��9

�� �	 � ����� ��8����? ��� ���# �� 	�� �����'" ������' �	 ��� ��� j �������	� �	' ��

�� ������ ������' �	 ��� 
����# B − j �������	� �� ��� ����� 
�=�� �� �� ��	 
�

��������' ���# ��� �����	 	�'� �� ���# �	" ����� ��#��� 	�'��


� �	 � ��#��� ��8����? ��� ���# �� 	�� �����'" ������' �	 ��� ��� M �������	� ��

��� ����� 
�=��? 
�� �� ������' �	 ��� 
����# B − j �������	��

�� '����� �	 �1�������	 ��� ��� �������� ���� '�*	 ���� ��� :%!? *� �	���'��� �''� 

���	�� #������� �	 ��
�� ��� ��� 1 ≤ k ≤ K �	' 1 ≤ j ≤ B� !�
��8��	��"? *� �����

��� ���� '�*	 ���� r(k, j) �	�� �*� ����� rlocal(k, j) �	' rremote(k, j) �	' '����� �����

����� �� �����*�9

�� $���� ��4&��	 9 !�	�� ��� 	�'�� ����� 8������ �����'�	� �� � ������	 ������� *���

�'�	����� ���� λ? ��� ���� �� ����� ��8����� 
" � 	�'� n �� λ� <��	� ��� 	������	

���������� �������

plocal(k, j) ���5�5�
��8 ��� � 
�� ��� :�8 k �	 �
� ��# j #�"����	" �� �
� 
���


5�����

p̄local(k, j) !�	�����	�
 #��5�5�
��8 ��� � 
�� ��� :�8 k �	 �
� 5����� B − j

#�"����	" �� �
� 
���
 5���� ��>�	 �
�� 	� 
�� ��� :�8 k �����" �	

�
� ��# j #�"����	"�

porigin(k) ���5�5�
��8 ��� ������>�	� �	 ���� ���� #�������	 D(k) ���� �
�

�����	 	����

premote(k) ���5�5�
��8 ��� ������>�	� �	 ���� ���� #�������	 D(k) ���� � ���

���� 	��� ��
�� �
�	 �
� �����	 	����

rlocal(k, j) G��� ��� #�"
�	� ��@	 ����" ���� #�������	 D(k) ���� "���: #��

"����	 j �� j + 1 ��� �� 7���8 ��"#�	"�" ���� �
� 
���
 5�����

rremote(k, j) G��� ��� #�"
�	� ��@	 ����" ���� #�������	 D(k) ���� "���: #��

"����	 j �� j + 1 ��� �� 7���8 ��"#�	"�" ���� ������ 5�����

#�'�� +�)� &�,������� �� ��� �������� ��� �������� ��� 2&* ������



+DI *� ���
�����
 �������& �� )%�����
 ����������� $������������

�	���'���' �	 ��
�� ��� �� '����� ��� ���� ��� �����	� '�*	 �	 ���# �	 � �����

��8����? *� ����9

rlocal(k, j) = α(k)λ (1 − plocal(k, j))

· (1 − (1 − p̄local(k, j))

· (1 − porigin(k)) (1 − premote(k)))

@���-A


� #���	� ��4&��	 9 <	'�� ��� ����#����	 ���� � 	�'� ��	'� � 8���" #������ ���	

�� �� ������ � #�����	� ���# �	 ��� ����� 
�=��? �	������� �� ���� @�A ��� ����

�� ��#��� ��8����� �� (N − 1)λ� 3�� ��� ���� ��� �����	� '�*	 �	 ���# � �	 �

��#��� ��8����? *� ����9

rremote = α(k)(N − 1)λρ (1 − plocal(k, j)) p̄local(k, j) @����A

<��	� rlocal(k, j) �	' rremote(k, j)? ��� ������� ���� '�*	 ���� ��� �	 ���# �� ��������	

D(k) ��� 1 ≤ k ≤ K �	' 1 ≤ j ≤ B �� ����	 
"9

r(k, j) = rlocal(k, j) + rremote(k, j) @���
A

!�
��8��	��"? *� ���* ��* �� '����� ��� �	'���'��� ���#� �� ,8�����	 ���
� !�#����

�� B%��-D? ��� ���
�
����" ��� � ��� �	 ��� ��� j �������	� �� ��� ����� +.< 
�=�� ��

����	 
"9

plocal(k, j) =
b(k, j)

β(k)D
@����A

3�� ��#����	� ��� ���
�
����" ��� � ��� �	 ��� 
����# B − j �������	�? ������ ���� �	

,8�����	 ���- �	' ,8�����	 ���� ���� ���
�
����" �� ���' �	'�� ��� ��	'����	 ����

	� ��� ��� �������' �	 ��� ��� j ����� �������	�� ����? *� '����� ��� ��	'����	��

���
�
����" ��9

p̄local(k, j) =
plocal(k, B) − plocal(k, j)

1 − plocal(k, j)
@����A

)�������	� 
��'�� �=���� �	 ��� ��#������	 ���� ��#���� �� !�����	 ���? ��� ���
�
����"

��� � ���������� ���	�#�����	 �� � ���������� 	�'� �� ����	 
" ρ� $	����' �� ����#�	�

���� '��� ���#� ��� �������' �� ��� �"���# 
" � '�'�����' ������ 	�'�? *� #��� ���

#��� ��������� ����#����	 ���� ��� 	�'�� �����" ��#� �� ��� '��� ���#�? *���� ���#�

��� �����	�' �� 	�'�� �	 � ���	' ��
�	 ������	� ����? ��� �����	 	�'� �� � '��� ���#

���# ��������	 D(k) �� ��� ����� 	�'� *��� ���
�
����" 1/N �	' �	 ��
�����" ��#���

	�'� *��� ���
�
����" (N − 1)/N ? ��� ���
�
����" ��� ��������	� �	 ���# ���# ���

�����	 	�'� �� ����	 
"9

porigin(k) =
1

N
+

N − 1

N
ρ @����A
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<��	� ��� ����#����	 �� $$% 
�=�� ��	��	� '�������' �	 !�����	 ��
�
? ��� ��#�� 

�����	 �� ��� ���
�
����" ��� �������	� �	 ���# ���# � ��#��� 
�=�� ��	 
� 
����	

'�*	 �� ��� ���
�
����" ���� �1����" n ��#��� 	�'�� ������� ��� ���	
 #������

�	' �� ����� �	� �� ���# ������ � #�����	� '��� ���# �	 ��� ����� 
�=��9

premote(k) =
∑N−1

n=1

(
N−1

n

)
(ρ)n

· (1 − ρ)N−1−n (1 − (1 − plocal(k, B))n)
@���/A

�����	� ,8�����	 ���� �� ,8�����	 ���/ �	�� ,8�����	 ���
 ��#������" �����4�� ���

������� ���� '�*	 ���� ��� �	 ���# �� ��������	 D(k)� !�
��8��	��"? �����*�	� ,8�� 

���	 ���� *� '����� ��� ���
�
�������9

p(k, i) ≈ rlocal(k, j − 1) + rremote(k, j − 1)∑K
l=1 (rlocal(l, j − 1) + rremote(l, j − 1))

@���:A

)��� ���� �� �	 ,8�����	 ���� ��� ���� λ �� ��� 8���" ������� ������� ��	���� ���

�	 ,8�����	 ���:� !�
��8��	��"? ��� b(k, j)? ��	 
� '����#�	�' 
" ��##����	 �� ���

���
�
������� p(k, j) �����'�	� �� ,8�����	 �����

3�	���"? ��� ������� ��� ���� HR7DS �� ��� :%! �"���# ��	 
� '����#�	�' ���	�

��� ���
�
������� ���� ���	 � 8���" ��� ��" k ��� ���#� #�����	� k ��	 
� ��������'

������ ���# ��� ����� 
�=��? ��� �����	 	�'�? �� ��� 
�=�� �� � ��#��� 	�'�� ���� ��9

HR7DS =
∑K

k=1 α(k) (1 − (1 − plocal(k, B))

· (1 − porigin(k)) (1 − premote(k)))
@����A

,��� ��������	 �� ��� ��������� ����#� �����' �	 ,8�����	 ��
: ��8����� ��� ��#�� 

�����	 �� b(k, j) ��� k = 1, · · · , K �	' j = 1, · · · , B� 3������#���? ���� ��������	 ��

,8�����	 ��
: ��8����� �	� ���������	 �� ,8�����	 ���/ *��� N − 1 ��##����	� ���

k = 1, · · · , K� ����? ��� ��#���1��" �� ���� ��������	 �� ��� ����#� �� O(KN +KB)�

��	����	� ��� ��������	 �� ,8�����	 ��
: *��	 ������ ��� ���#�	����	 ��	'����	 ,8�� 

���	 ��
� �� �����4�' �� � #�1�#�# 	�#
�� �� c ��������	� �� ������#�'? ��� ���������

����#� ��� ���������	� ��� ��� ���� �� ��� ����� 
�=�� ��� �	 ������� ��#���1��" ��

O(KN + KB)� 3�� ��� :%! �"���# #�'��� �	��"6�' �	 !�����	 �? ��� ��������	' 

�	� ����#� ��	������ �	 ���� ���	 �- ��������	�� ��� ��
��8��	� ��#�������	 �� ���

������� ��� ���� �� ��� ,$% �"���# ���	� ,8�����	 ���� ��� ��� �''����	�� ��#���1��"

O(KN)� �����	� �� ����������? ��� ������� ��#�������	�� ��#���1��" �� ��� ���������

����#� �� O(KN + KB)�

7� �#�� � ���#�� ����� �� ��� ��	�����	�� �����*�	� ,8�����	 ��
� 
�� �����

���� ��	�����	�� ��� 
��	 ������' ��� ��� �1����#�	�� ������#�' �	 !�����	 ����

)��� ���� ��� ��	�������	 #����	� ���	����� ���' �	 ,8�����	 ��
� �� ��;���	� ���



+D, *� ���
�����
 �������& �� )%�����
 ����������� $������������

��� �1����	�� �� � �	�8�� �������	 �� ��� 	�	 ��	��� �8�����	 �"���# �	 ,8�����	 ��
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�� 	�� 	�������"� ���� ��? ��� ���� ���� ��	�����	�� �� ������' �	 ��� ������#�	��

�1����#�	�� '��� 	�� �#��" ���� ��� �"���# ��� � �	�8�� �������	� (�*����? ��� �	

�1����#�	��� ����'����	 *� ������#�' � ������ �� �1����#�	�� *��� ��
�����" �	�����

������ b(0)(k,B) �	' ���	' ���� ��� �"���# ��	�����' ����	�� ��� ��#� �������	 ��� ���

�������

/���� ������ -
���� �
	 5�� (�	�����

$	 ���� ������	? *� ���* ��* �� �1��	' ��� 
���� #�'�� �����	��' �	 !�����	 ��
�� ��

�������	� ��� '�=���	� �����	�� �� :%! �	���'���' �	 B�!-�D� &� 4��� �1��	���	 �� ���

#�'��? *� �	���'� ������ ����	� @! �A ���	����� ���	� 41�' �	' #�
��� �	��������	��

3�� � :%! �����	� *��� 41�' �	��������	� @3$!A? *� ����#� ���� ��� '��� �� 	�� ��� 

��'�' 
" ��� #�
��� 	�'��? 
�� 
" NFIS 41�' �	��������	� ���� ��� �����' *����	 ���

���� A *��� �	 ����#�� ������� '�����
����	� ���� ��? ��� ���� ������' 
" ��� �	����� 

���	� '��� 	�� �������� )��� ���� ��������	� � '��� ���# ���# �	 �	��������	 ��8�����


� '�������	�� ��##�	������	 �� �1���	�� 8���" �	' �����	�� #�������� ����? ���

�	��������	� ���� �	 �=������ ���	�#�����	 ��	�� ���� �� �8��� �� ��� ���	�#�����	

��	�� �� ��� #�
��� 	�'��? R? ���	 �� �� �� �����
�� �� ������� �	��������	� *��� #���

������ ���	�#�����	 ��	��� �	 ��������� ����������	� '�� �� � #��� 
����� ��*�� ��� 

��"� ������' �� ��� �	��������	� ���' �	 !�����	 ���? *� ����#� �	 ����#�� �������

'�����
����	? ���� �	��������	 ��	����" �	������� ��� ���
�
����" ��� ��������	� �	 ���#

���# ��� �����	 	�'�� ����? ,8�����	 ���� ���	��� ��9

porigin(k) = NFIS · ρ @����A

��� ����#����	 �� �	 ����#�� ������� '�����
����	 '��� 	�� ���' ��� #�
��� �	����� 

���	� @�$!A� ���������? *��� NMIS #�
��� �	��������	� � '��� ���# ��	 
� ��������'

�� �	" �� ��� #�
��� �	��������	� �� ������
��? *���� ��� ��'�� �������� �� ��� #�
���

�	��������	� #�" �������� $	 ���� ����? ,8�����	 ���� ���	��� ��9

porigin(k) = NMIS ·
(
1 − (1 − ρ)NMIS

)
@���-A

��	�����	� *��� B�!-�D? *� ��� NFIS = NMIS = 1 �	 ��� ������#�	�� ���'���� )���

���� �	 ���� ���� ���� �� �8��� �� ���-�

7��	 ���	� :%! �	 � �
� �����	� �	����' �� � ! � �����	�? ��� #�
��� 	�'�� #���
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���� ���	����? �� �� 	�� ��������� �� ����#� ���� ���� '��� ���# �� �����' 
" �1����"

�	� #�
��� 	�'�� 7� ������ ����#� ���� ��� 	�#
�� �� �����	 	�'�� ��� � '��� ���#�

���# ��������	 D(k) ��N���� ��� ���������" �� ��� ���#� α(k)? 1 ≤ k ≤ K� ����?

,8�����	 ���� #��� 
� ���	��' �� �	���'� ��� �	������' 8��	������? *���� �	����	�

���� ���� '��� ���# �� ������
�� ���# �� ����� �	� #�
��� 	�'� 
" ����	� ��� �����	�

��� ������ �#����� ���	 �9

porigin(k) =
�α(k)N�

N
+

(
1 − �α(k)N�

N

)(
1 − (1 − ρ)�α(k)N�)

)
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(
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(
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